g

Machine Tools Price

E-mail:eva@mzgtool.cn

Twitter Linkedin

S ~das) D o 6&.?\_.1_.1735\“
Scanning, Contact Us
S L 38 GileS Bl IS E 1o 5,30 [ LT (35w Grooving AT 1S K
PO 1 - Carbide:MiIIing Cutter P 1 6 ;

External Cylindrical/Inner Hole Grooving Turning Towl3a

5S 55l 1S Siap G ing / Al S K F Gl Gl &<
P02 e ; E P1 7 Groovr?r:g?éut-Off 'T'Jurning Tool ’,

Cemented Carbide Cutter

P03 N EEEe———— . [0 1 o8 S K8 Sl e

Extrusion Screw Tap End Face/Inner Hole Grooving Turning Tool
v pr ] - AT B 5 s 0 o / f
P04 Apex Tap S P1 9 CNC Turning Tool

ey e o5 2 oS8 e oA
P05 Spiral G;oovJ;dTap PZO CﬁgTurning %:]?;ts i&

e .
PO6 [EETS SNy - P — \ P21 BAP IS (15 308 (il (S aps) 5 ol N é
* Hand Tap/Circular Die =i * CNC Tool Holder Accessories — ==
- S 258 e S U U RIS - S >
i ki s 8- Ondia Vo
P07 = ccowmT. @ CNMG.. P22 Machine-Clamped Round Nose Milling Cutter %

P08 ,DCMT.. g DNMG.. P23 !ﬂ\mz.. SEHT.. &239 P3200..
POS. B . B L. P24 G
P10. X TPGT.. ‘ TNMG.. P25. BOF?:Q%;OO' e ? ’;;;ﬁi“
P11, LS P2B. gt ==
P12 u\WNMG a WNMG.. P27 ER. . @ ‘FMA/B.. l
P13, s 6 rs e, *. .

P14 LS Jaad 58 gean L Ugga [ Ugnaa Ugea [ Gl &S ‘T P29 CNG @ilejisl palala 1 _< % ==
. Cut-Off/Grooving/Back Turning Of Small Parts . i -&"

% g

k
»

L

CNC Tool HolderAccessories

ATS K 5 Kady 58 SRk iy Glajl sl Sa ndphal i \... 2
P1 5 External Cylindrical Grooving Turning Tool Q P3O Lathe Chuck Accessories nb

s )3 Pa(HES &J_ugu}J;\ d}_‘a &j)}_} BE) &ji})@.ﬁ ‘GJ‘J £_'1JS LS:‘L“"@S/ 4&.'\3)5’ d_x..ﬁz\sjjg
Professional Turning, Milling, Threadingiand,Boring Hole Processing Tool Configuration.



mailto:eva@mzgtool.cn

= QPR | [P R I IV g K B I

Carbide Milling Cutter

O S BIS SRS el | U 3 SIS K S S O S IS SRS ol i O S SIS RS IS BLE- PGP
45HRC i) a8 S oo _ay S JAWHRC oA 23 S JAuIHRC B60HRC Jswl a3 S 65HRC Juiul &S i S
D1IEID Black Coatings Can Cut | Copper Coatings Can Cut Nano Black Coatings Can Cut Nano Copper Coatings Can Cut Nano Blue Coatings Can
L1 L ‘ Steel Below 45 HRC Steel Below 55 HRC Steel Below 58 HRC Steel Below 60 HRC Cut Steel Below 65 HRC
R ~R R R R R
Cess—— G A ALA
PN | f : i b"h 5"»
oS 8 My g€ S e gl S i i L1 o S5 gy il il (S, ! (
Right-Angle Ball End
Milling Cutter Milling Cutter A
D1 L1 DL RL1IDL
1. 0x3xD4x50 | RO. 5x2xD4x50 2026 2.7 3.1 4.6 5.1 5.1 57|57
1. 5x4xD4x50  |RO. 75x3xD4x50 2.0] 2.6 2.7 ] 3.1 4.6 5.1 5.1 57|57
2. 0x6xD4x50  |R1. 0x4xD4x50 2.0] 2.6 2.7 ] 3.1 4.6 5.1 5.1 5.715.7
2. 5x8xD4x50  |R1. 25x5xD4x50 201256 2.7 ] 3.1 4.6 5.1 5.1 5.715.7
3. 0x8xD3x50 | R1.5x6xD3x50 2.0 ] 2.6 2.7 ] 3.1 4.6 51 AN 5.7 (5.7
3. 0x12xD3x75 |R1. 5x6xD3x75 3.1 3.9 4.41 5.1 7.1 7.7 7.7
3. 0x15xD3x100 |R1. 5x6xD3x100 3.6 4.4 50| 5.6 8.7 8.7 8.7
3. 0x8xD4x50  |R1. 5x6xD4x50 2.0] 2.6 2.7 ] 3.1 4.6 51 5.1 571 5.7
3. 5x10xD4x50 |R1. 75x7xD4x50 20126 2.7 ] 3.1 4.6 5.1 5.1 5.715.7
4. 0x10xD4x50 |R2. 0x8xD4x50 1.712.61 3412731494446 6.0 6 6.7 ] 5.1 6.1 1] 5.1 611575776
4. 0x20xD4x75 |R2. 0x8xD4x75 2913.6(50(44] 5.1 6.1 7.1 7.9 6.6 8.1 6.7 | 8.1 7.717.7]8.7
4. 0x25xD4x100 |R2. 0x8xD4x100 3.3] 4.1 6.4150([5.4[7.7 7.6 19.0 7.8 1 9.1 7.9 1 9.1 8.718.7110.0
5. 0x13xD5x50 |R2. 5x10xD5x50 3.7 147 6947|5677 8.1 9.3 9.5 111.6] 9.6 111.6(10.7[10.7[12.3
5. 0x13xD5x75 |R2. 5x10xD5x75 5.3 6.1 7.717.41(81(91 11.3]13.5 13.0(13.0(14.7
5. 0x13xD5x100 |R2. 5x10xD5x100 | 6.6 | 7.6 | 11.0| 8.9 | 9.6 | 11.1 13.0(15.7 15.3115.3117.1
5. 0x13xD6x50 |R2. 5x10xD6x50 3.7143[64[147]5.7]8.4 8.1 9.3 9.5 111.6] 9.6 111.6(10.7]10.7]12.3
6. 0x15xD6x50 |R3. 0x12xDéx50 3114364475784 74]81 9.319.4110.5( 9.5 [11.6] 9.6 |11.6]10.7[10.7(12.3
6. 0x20xD6x75 |R3. 0x12xD6x75 49156 7.1]7.4(81/(10.0 11.1112.4 11.4113.6]11.4]113.6(13.0[13.0|14.7
6. 0x30xD6x100 [R3. 0x12xDéx100 | 6.0 | 7.0 [10.3] 8.9 [ 9.6 | 11.4 13.6115.0 13.4116.3]113.4]116.3(15.3|15.3|17.3
6. 0x30xD6x150 |R3. 0x12xD6x150 | 12.3 [ 14.3|18.7|18.7119.9]23.4 27. 6 26.5 26.6 26.3[26.3[29.7
8. 0x20xD8x60 |R4. 0x16xD8x60 5917.6110.4]8.4(10.0(13.3] 13 [13.9]15. 15.3116.5]115.3118.4(15.3(18.4117.6]17.6]20.3
8. 0x25xD8x75 |R4. 0x16xD8x75 8.1 (9.4 (11.6{11.0(12.4{15.3 17.6119.3 17.7121.1117.7121.1(20.0[20.0|22.6
8. 0x35xD8x100 |R4. 0x16xD8x100 | 9.6 [ 11.1|14.0|14.0|15.4119.6 21.4(23.8 22.1126.6(22.1(26.6(25.0]125.0]28.7
8. 0x40xD8x150 |R4. 0x16xD8x150 | 19. 0| 22.1]29.0(25.9]27.3|32.3 35.4 37.1 37.1 41.0[41.0[45.0
10x25xD10x75 |R5.0x20xD10x75 | 9.6 | 12. 7 16. 6151 16.6|21.6|21.4123.3(25.7|24.3|26.2|24.7|30.3(24.7(30.3|27.7|27.7|32.0
10x40xD10x100 |R5. 0x20xD10x100| 14. 6| 16.9 | 21.0]20.3| 21.3|29.1 30.3(33.1132.5|34.8131.3|37.4(31.3(37.4131.7131.7]37.3
10x45xD10x150 |R5. 0x20xD10x150| 28. 1 | 32.9 | 41.7]39.4|41.7148.3 56.1 54.4 54.4 54.7154.7]163.0
12x30xD12x75 |R6.0x24xD12x75 | 14.9 | 17.4(22.0(21.1|23.3|28.7|28.3|33.1[36.4|32.9|35.5|32.6|39.4(32.7(39.4|37.0/37.0142.0
12x45xD12x100 |R6. 0x24xD12x100| 19. 4 | 22. 6| 28.1|27.7|28.7|37.0 40.4144.5(48.6(52.4|143.5|47.3143.6|47.3(47.0147.0]153.0
12x50xD12x150 R6. 0x24xD12x150| 34. 3 | 40. 0| 50. 7[49.3|52.1 | 60.3 72.9 70.7 70.7 77.6[77.6[85.6
14x35xD14x80 |R7.0x28xD14x80 | 25. 6| 29.7 32.3(34.1 49.3 54.3| 58
14x40xD14x100 R7. 0x28xD14x100| 27. 1 | 31.7 34.6]38.0 52.9 54.4 54.4 61.0|61.0(70.6
14x60xD14x150 |R7. 0x28xD14x150| 49. 6| 57.9 64.6168.3 95.4 91.2 91.1 100. 6/100. 6
16x40xD16x100 |R8. 0x32xD16x100| 35. 7 | 38. 9 51.0]53.0 63.6174.0 67.4] 73 [72.8 72.9 78.7(78.7(91.3
16x65xD16x150 |R8. 0x32xD16x150| 63.3 | 73. 9 86.0]191.0 129.0 116.3 116.3 127. 6|127. 6]143.0
18x40xD18x100 |R9. 0x36xD18x100| 43. 3 | 50. 4 59.1]65.1 89.7 82.3)187.9(88.4 88.4 96.7196.7111.3
18x65xD18x150 |R9. 0x36xD18x150| 74.9 | 86. 7 101.3]101. 3 148. 1 153. 1 153. 1
20x40xD20x100 |R10x40xD20x100 | 52. 7 | 57. 6 73.1(75.9 95.3106.7 93.51102.9(105.5 105.4 115.7|115. 7|133. 7
20x65xD20x150 |[R10x40xD20x150 | 86. 3 |100. 7 126.11126.1 168. 3 180. 3 180. 3 196. 3]196. 3|1220.0
55 ° A M5 58 (ilaa€ oS o8 Eulh (s loma ot S35 0 oS 55 0 S s 558 (g 8 1 U bt S oS S Gl S (i€ (S plal Eulh a8 SGY ki e S Gy 38 il S oA 02,8 K3V SR Ser
55° Decimal Point Non-Standard Flat-End Milling Cutter  55° Decimal Point Non-Standard Ball End Milling Cutter B0HRC — S s WS il ad S B60HRC —: S la LIS Jiul s S
e Small Diameter Long Neck Flat-End Milling Cutter Small Diameter Long Neck Ball-End Milling Cutter
mE m ‘ Can Cut Steel Below 60 HRC Can Cut Steel Below 60 HRC .
. D1l =4mm R e ——— ——|p=4mm
“—')‘:‘*"3:‘ R D L Q-“-Js ‘—’)‘:‘*‘33:‘ R D L *EAP‘ L=50mm _[T
D1. 1-D3. 9xD4x50 4.3 RO. 6-R1. 9xD4x50 4.7 383 L1 AL ‘)guj
D4. 1-D5. 9xD6x50 6.9 iy s S @ai s RO, tnm
D6. 1-D7. 9xD8x60 12.4 "RO.5-R1. 5xD4x75 6.9 0.3 4.6 5.3 0.3 |2/3/4 4.6 5.3
D8. 1-D9. 9xD10x75 20.4 R0.5-R1.5xD4x100 7.6 0.4 | 2/3/4/5/6 4.6 5.3 0.4 | 2/3/4/5/6 4.6 5.3
D10. 1-D11. 9xD12x75 29.0  RO.5-R2. 0xD6x50 7.6 0.5 | 2/3/4/6/8 4.6 5.3 0.5 | 2/3/4/6/8 4.6 5.3
29 1) =P 5 ) 0 T RO. 5-R2. 5xD6x75 10.7 0.6 | 2/3/4/6/8 4.6 | 5.3 0.6 | 2/3/4/6/8 4.6 | 5.3
D1. 0-D3. 0xD4x75 6.0 RO.5-R2. 5xD6x100 12.6 0.7 | 3/4/6/8/10 4.6 | 5.3 0.7 | 3/4/6/8/10 4.6 | 5.3
D1. 0-D3. 0xD4x100 6.4 Gy sl S @Dais 0. 25m 0.8 |3/4/6/8/10 4.6 | 5.3 0.8 |3/4/6/8/10 4.6 | 5.3
D1. 0-D4. 0xD6x50 6.4 "Rax120 20.7 0.9 | 3/4/6/8/10 4.6 | 5.3 0.9 |3/4/6/8/10 4.6 | 5.3
D1. 0-D5. 0xD6x75 9.6 R4x200 43 6 1.0 | 6/8/10/12/15/20| 3.9 | 4.6 1.0 | 6/8/10/12/15/20| 4.6 | 5.3
D1. 0-D5. 0xDéx100 119 RBX120 32 4 1.5 | 6/8/10/12/15/20| 3.9 | 4.6 1.5 | 6/8/10/12/15/20| 4.6 | 5.3
DobrEe 77 R5x200 40. 3 2.0 | 8/10/12/15/20 3.9 | 46 2.0 |8/10/12/15/20 | 4.6 | 5.3
D4x15xD4x50 40 R6x120 42.6 2.5 |10/12/15/20 3.9 1 46 2.5 |10/12/15/20 4.6 | 5.3
D6x20xD6x50 6.9 R6x200 86.9 555 et R iy 8 e 8 1 S S I G S ey
D8x30xD8x60 12.4 R8x200 154.7 M\cro-Dlaan::er Ball-End Milling Cutter Can Cut Small Diameter Long Neck Round Nose Flat End Milling Cutter
D8x40xD8x120 20.7 _R10x200 222.9 Steel Below 60 HRC T - TD’
D8x200 43. 6 g;ﬁgc_.;jf:_uif} L€ S A Sl s Bl g S ibe n D*1 PA,‘ L=50mm [*4mm
D10x30xD10x75 20.4  Micro-Diameter Flat-End Milling Cutter Can Cut R‘I- - ‘D=4mm - ..1. <|
D10x35xD10x75 20.4 SteelBelowB0 HRC n Yeollt | —s0mm it DR L1 Bt
D10x50xD10x100 26.1 D1 I-«-ﬁém«»] D=4mm ' ' D1RO. 1 4/6/8/10 10.3
D10x45xD10x120 32.4 S deus L=50mm 3 D1R0.2 | 4/6/8/10 10.3
D10x200 64.3 - D1.5R0.1| 6/8/10/12 10.3
D12x35xD12x75 27.4 D1.5R0. 2| 6/8/10/12 10.3
D12x50xD12x100 34.7 D2RO. 1 8/10/12/16 10.3
D12x45xD12x120 42.9 0. 3xD4x50 4.6 5.3 RO. 15xD4x50 5.3 5.4 D2RO. 2 8/10/12/16 10.3
D12x200 86.9 0. 4xD4x50 4.6 5.3 RO. 2xD4x50 5.3 5.4 D3RO. 2 12/16/20 19.3
D13xD14x100 54.7 0. 5xD4x50 4.6 5.3 RO. 25xD4x50 5.3 5.4 D3RO. 5 12/16/20 19.3
D15xD16x100 66.7 0. 6xD6x50 4.6 5.3 RO. 3xD6x50 5.3 5.4 D3RO. 5 26/30 24.6
D16x50xD16x100 63.1 0. 7xD6x50 4.6 5.3 RO. 35xD6x50 5.3 5.4 D4RO0. 2 16/20 19.3
D16x200 154.7 0. 8xD8x50 4.6 5.3 RO. 4xD8x50 5.3 5.4 D4R0. 5 16/20 19.3
D20x200 222.9 0. 9xD8x50 4.6 5.3 RO. 45xD8x50 5.3 5.4 D4R0. 5 26/30 24. 6

= UM Jald (uad sl eS8 Q8 e Gl By 5l
sl 3ef Gae na USD cieid as 330 % 115,

S Jim (51 il ol 53 O Y s 358 S Gl 81k eva@mzgtool.cn

http:// www.mzg.tw


http://www.mzg.tw

IS 350 S SBiags

Cemented Carbide Cutter

S Gy 2308 (ilaagS e slal [ JaSSG) o LS SR
Single-Edge Acrylic / Aluminium Milling Cutter

Tungsten S Kale QU 350 v a1 <
00 Jiu HRC = S Ls LS Jiul

= =S
3-Edged Taper Milling Cutter For Tungsten f t—" :
6o J_\_\_..: HRC = LS s &K J_:_:.....\ /_344

0\ D1

_ID

s 28 Sl (S Bl JU G. Ji) (B8

*pHRG 2 5

Groove

Lo BIS L

S\deﬁ/ﬁﬂ\ng

Cutter Can Cut Steel Below 55 HRC

D1£m e D Sl Cunsd Sl o Jﬁ
L1 L D1 a° L1 D2 D L 3F uUsSD D1 a° L1 D2 D L 3F uUSsD _,bu\ ;Me'g
D1x0. 5°x4LxD1. 07xD4x50Lx3F | 6.9 D4x0.5°x15LxD4. 26xD6x50Lx3F |11.9 DIR D L )
D1x1°x4LxD1. 14xD4x50Lx3F 6.9  D4x1°x15LxD4. 52xD6x50Lx3F 11.9 D4x0.5HxD1. 5xD6x50 | 6. 4
ey ” W D1x1.5°%4LxD1. 21xD4x50Lx3F | 6.9  DAx1.5°x15LxD4. 79xD6x50Lx3F |11.9 D4x1HxD1.5xD6x50 | 6.4
RS  D1x2°x4LxD1. 28xD4x50Lx3F 6.9 DAx2°x15LxD5. 04xD6x50Lx3F  |11.9 Dax1.5HxD1. 5xD6x50 | 6. 4
D1 L1DL i D1x3°x4LxD1. 42xD4x50Lx3F 6.9 D4x3°x15LxD5. 57xD6x50Lx3F  |11.9 D4x2HxD1.5xD6x50 | 6.4
D1x5°x4LxD1. 7xD4x50Lx3F 6.9  D4x5°x15LxD6. 62xD8x60Lx3F 18.1 D4x3HxD1. 5xD6x50 6.4
D2x6xD3. 175x50 2.0 D1. 5x0. 5°x5LxD1. 59xD4x50Lx3F| 6. 9 D4x8°x14. 93LxD8xD8x60Lx3F  [18. 1 D6x0. 5HxD2. 5xD8x50 | 10. 4
D2x8xD3. 175x50 2.0 D1.5x1°x5LxD1. 67xD4x50Lx3F | 6.9 D4x10°x15LxD9. 29xD10x75Lx3F |28.9 D6x1HxD2. 5xD8x50 | 10. 4
D2x10xD3. 175x50 2.0 D1. 5x1. 5°x5LxD1. 76xD4x50Lx3F| 6. 9  D4x15°x14. 93LxD12xD12x75Lx3F|39. 6 Déx1. 5HxD2. 5xD8x50 | 10. 4
D2x12xD3. 175x50 2.0 D1. 5x2°x5LxD1. 85xD4x50Lx3F | 6.9 D6x0. 5°x20LxD6. 35xD8x60Lx3F |18. 1 D6x2HxD2. 5xD8x50 10. 4
D2x22xD3. 175x50 2.0 D1. 5x3°x5LxD2. 02xD4x50Lx3F | 6.9 D6x1°x20LxD6. 7xD8x60Lx3F 18.1  D6x3HxD2. 5xD8x50 10.4
D2. 5x8xD3. 175x50 2.0 D1. 5x5°x5LxD2. 37xD4x50Lx3F | 6.9 D6x1.5°x20LxD7. 05xD8x60Lx3F |18. 1 D8x0. 5HxD3. 5xD8x60 | 16. 9
D2. 5¢15xD3. 175x50 20 D2x0. 5°x6LxD2. 1xD4x50Lx3F | 6.9 D6x2°x20LxD7. 4xD8x60Lx3F 18.1 D8x1HxD3.5xD8x60 | 169
D2. 5x22xD3. 175x50 2.0 D2x1°x6LxD2. 21xD4x50Lx3F 6.9 D6x3°x19LxD8xD8x60Lx3F 18.1 D8x1.5HxD3.5xD8x60 | 16. 9
D3. 175x12xD3. 175x50 | 2.0 4.0 4.3 D2x1. 5°x6LxD2. 31xD4x50Lx3F | 6.9 D6x5°x20LxD9. 5xD10x75Lx3F 26.9 D8x2HxD3. 5xD8x60 16.9
D3 175x15xD3. 175x80 | 20 | 4.0 | 45 D2x27x6LxD2. 41xD4x50Lx3F 6.9 D6x8°x20LxD11. 62xD12x75Lx3F [39. 6 D8x3HxD3.5xD8x60 | 16.9
g ° : : : D2x3°x6LxD2. 62xD4x50Lx3F 6.9 D6x10°x17LxD12xD12x75Lx3F  139. 6 D10x0. 5HxD4xD10x75 | 24. 6
D3. 175x17xD3. 175x50 | 2.0 | 4.0 | 4.3 pjy50,60 xD3. 05xD4x50Lx3F 6.9 DBx0.5°x25LxD8. 44xD10x75Lx3F|28. 9 D10x1HxDAxD10x75 | 24. 6
D3.175x22xD3. 175x50 | 3.1 | 4.3 | 4.7 D340 5°%10LxD3. 17xD4x50Lx3F | 6.9 D8x1°x25LxD8. 87xD10x75Lx3F |28.9 D10x1. 5HxD4xD10x75 | 24. 6
D3. 175x25xD3.175x50 | 3.4 | 4.3 | 4.7  D3x1°x10LxD3. 35xD4x50Lx3F | 6.9 D8x1.5°x25LxD9. 31xD10x75Lx3F|28. 9 D10x2HxD4xD10x75 | 24. 6
D3. 175x28xD3.175x50 | 3.9 | 5.7 | 6.1 D3x1.5°x10LxD3. 52xD4x50Lx3F | 6.9 D8x2°x25LxD9. 74xD10x75Lx3F |28.9 D10x3HxD4xD10x75 | 24.6
D3. 175x32xD3. 175x50 | 4.0 6.4 6.9 D3x2°x10LxD3. 69xD4x50Lx3F 6.9 D8x3°x25LxD10. 62xD12x75Lx3F [39. 6 D12x0. 5HxD5xD12x75 | 31.9
D3. 175x42xD3. 175x60 | 7.9 9.3 9.7  D3x3°x9. 5LxD4xD4x50Lx3F 6.9 DB8x5°x22.8LxD12xD12x75Lx3F |39. 6 D12x1HxD5xD12x75 31.9
D3. 175x52xD3. 175x70 | 10.3 | 12.1 | 12.6 D3x5°x10LxD4. 75xD6x50Lx3F  |11.9 D12x1. 5HxD5xD12x75 | 31.9
D4x12xD4x50 4.7 | 5.4 | 6.1 D3x10°x10LxD6. 53xD8x60Lx3F | 18. 1 D12x2HxD5xD12x75 | 31.9
D4x15xD4x50 4.7 | 5.4 | 6.1 D3x15°x13. 06LxD10xD10x75Lx3F|29. 0 D12x3HxD5xD12x75 31.9
D4x17xD4x50 4.7 5.4 6.1 )35 IR g WL B PREH S N, 8- 5'; 08 i8S G a3 il G855 U e Jdl (uSals
D4x22xD4x50 4.7 | 5.4 | 6.1 Cﬁ Sk B ol e ;smzcgam 2 \‘SQJT“G‘ Se S ol B die FEen
E i) nner illin utter bl . ovetail Groove Millin A © © ©
Bixggxgixgg 2 g ? z g’ 3 Gan Cut Steel Bolow 85 HRC Cutter Can Cut Steel Below 60 HRC giir‘jcj_m_;‘i_, )Straéht G/move(
X X X . . .
D4x32xD4x50 6.4 86|93 R ~ D Boim 26 HRG(60-/ 905 oue)
D4x42xD4x60 10.3 [12.1 [12.9 D@%—-—‘—""‘I ‘f— A
D4x52xD4x70 13.3 |17.1 |17.9 Lt \LJ ) :
Déx12xD6x50 9.3 | 10,0 [11.4 — _— i oy * D |D
D6x15xD6x50 9.3 |10.0 [11.4 > s ! L |
D6x17xD6x50 9.3 |10.0 [11.4 DIR.D.L Dia® D2L1DL
D6x22xD6x50 9.3 [10.0 | 11.4 D4R0. 5xD4x50 6.7 D4x90°xD1. 5x6xD4x50 | 6. 4 Slsaf BLE-Pt
D6x25xD6x50 9.3 110.0 1 11.4 D4R0. 75xD4x50 6.7  D6x90°xD2. 5x8xD6x50 | 10. 4 D L
D6x28xD6x50 1.1 1121 113.6 D4R1. 0xD4x50 6.7  DBx90°xD3x6xD8x50 16.9  D1xD4x50L 46150
D6x32xDéx50 11.1112.9 (14.3 D6R1. 0xD6x50 11.9  D10x90°xD4x10xD10x60 | 24. 6 D2xD4x50L 4.6 5.0
D6x42xD6x60 15.7 (17.7 | 19.3 D6R1. 5xD6x50 11.9  D12x90°xD5x12xD12x60 | 31.9 D3x50L 46150
D6x52xD6x70 20.3 122.3 | 25.7 D6R2. 0xD6x50 11.9 D4x50L 46150
D6x62xD6x80 25.0 132.1 33.6 D8R2. 0xD8x50 20.0 D5x50L 8.69.3
D6x72xD6x90 31.4139.3 140.7 D8R2. 5xD8x50 20.0 D6X50L 8.69.3
D8x20xD8x50 19.7 133.3 [ 42.6 D8R3. 0xD8x50 20.0 D8x60L 13.6|14.3
D8x32xD8x50 19.7133.3 | 42.6 D10R4. 0xD10x60 29.1 D10x75L 20.0(21.1
B}gxggxglgxgg gg g gg ; ig- g D12R5. 0xD12x60 40. 1 D12x75L 26.9(27.9
X X X : : : |5 =S s G pss J3 Sl gy s Janl s 55
D12x20xD12x50 46.9 | 50,0 | 53.6 o T R o Ty Ry VYot O
D12x32xD12x50 46.9 |1 50.0 | 53.6 S5HRC o i Lo WS il i 3: £r == gfiRe
s il i 5 ) w G oS il (RS 5 l Je) (855 Sfeel inveried Gone Die Frame " Use Of Frad Pt And Ghamfor Gan Gut
55HRC = \A\_‘LS J& Can Cut Steel Below 55 HRC Steel Below 58 HRC
Spiral-Edged 5.5 _)-'-' Reamer Tungsten Steel Drills Tungsten Steel Bar
Can Cut Steel Below 55 HRC D1IWID o ———————— i
quw\—}[) . 0 L1 ‘L—‘ 3)\,‘:;
D1}<—" L1 L ‘ 118° :)ﬁFﬂAJ T ————— - f |
alay! : ‘ Slaa) 0%‘EID
D1 L1DLT - - D1 L1D L
D3x50xD3x100Lx4T | 7.6 alay! eyl SN D4x15xD4x50 _
D4x50xD4x100Lx4T 8.1 usp CEREETERE  pox30xD6x100 B
D5x50xD5x100Lx6T 1.1 D1.0-D1.5 1.9  D3x100L 2.4 3.6 D8x30xD8x60 N
D6x50xD6X100LX6T 13.3 D1.6-D2.0 2.4 D4x100L 3.9 1 6.0 D10x30xD10x75 4
D8x50xD8x100Lx6T | 21.1 D2.1-D2.5 2.6 D5x100L 6.1 1 7.4 D10x45xD10x100 26.1 D1xD4x50L 3.3]3.9
D10x50xD10x100Lx6T | 30. 7  D2.6-D3.0 3.3 D6x100L 7.4 8.6 D12x35xD12x75 27.1 D1.5xD4x50L | 3.3 | 3.9
D12x50xD12x100Lx6T | 40. 7 D3.1-D3.5 4.0 D8x100L 14.3121.17  D12x50xD12x100 34.7 D2xD4x50L 3.313.9
e hE S D3. 6-D4.0 4.7  D10x100L 2141324 D16x50xD16x100 579 D3xD4x50L 33|39
e dial S 3] ) ol D4.1-D4.5 5.4 D12x100L 31.1(46.9 D3x100L 6.1 6.9
SBHRC < =5l N2 < D4. 6-D5.0 6.9 SIS S e D4x50L 3.3(39
Straight-Edged Tungsten Steel Reamer D5 1—D5 5 7 9 028 o3 sl dleil Sos o8 =l L2 D4 ) )
Can Cut Steel Below 55 HRC . . . c‘)éﬂ:—}HRC\HQJMH“S | 2 S x100L 6.1 6.9
D5. 6-D6. 0 9.6 Double Head J:!j-“‘ Q:‘j-“-;\-‘-‘ F\xed—mepXSOL 6.0 6.4
;: }D D6. 1-D6. 5 1.1 Drill Dual Use Of Fixed Point And 5x100L 12.1112.9
Dlfe——iL1 | | D6. 6-D7.0 12.9 Chamfer Can Cut Steel Below 58 HRC  D6x50L 6.0 6.4
: ey D7.1-D7.5 16.9 90° D 90+ D6x100L 12.1]12.9
Al =5 D7.6-D8.0 18.9 e ————~ N 1M.1]12.1
DILIDLT U8 D8.1-D8.5 22.4 \ L " D8x100L 19.0{20. 0
D3x50xD3x100Lx4T 6.0 D8. 6-D9. 0 24.7 D10x75L 18.9119.3
D4x50xD4x100Lx4T 6.4 D9. 1-D9. 5 28.3 D10x100L 27.1|28.3
D5x50xD5x100Lx6T 8.9 D9. 6-D10. 0 30.7 D12x75L 25.4(27.1
D6x50xD6x100LXx6T 9.6 D10.1-D10.5 35.7 D3x100L-DB 8.7 D12x100L 37.9138.9
D8x50xD8x100Lx6T | 14.6  D10.6-D11.0 | 37.4 D4x100L-DB 8.1  D14x100L 51.4]52. 6
D10x50xD10x100Lx6T | 22. 1 D11.1-D11.5 46.0 D5x100L-DB 15.0 D16x100L 64.0|65.7
D12x50xD12x100Lx6T | 30. 0 D11.6-D12.0 50.0 D6x100L-DB 15.0 D20x100L 94.6|96.9

) d?!‘r'.‘ Juli d“’:‘é )5\ U*S‘Jj ‘Ci\g)é e Ciagd )T:Ij‘.
1568 Uie oa USD Caegd (88 BHES L5,
S S @l L8 eva@mzgtool.cn

H

02S i ) 3l o)y 653 G Y s http://www.mzg.tw


http://www.mzg.tw

Extrusion Screw Tap

%n.ﬁj_)&.u c\)il & sa5a X oibaal S

grasa X el Sl
. (/ <ils Guysa0) i
Extrusion Screw Tap

(/@i Gays20)

RH6 | B 71 1 7.9 M4x1.0 RHS | B 26.1 |28.9
RH4 | P 4.7 | 5.4 M4x1.25 RHS | B 26.1 | 28.9
RH4 | B 4.7 | 5.4 M4x1.5 RHS | B 26.1 28.9
RH5 | P 4.7 | 5.4 M4x2.0 RHS | B 26.1 28.9
RH5 | B 4.7 | 5.4 TMI6x1.0 RHS | B 34.0 | 37.1
N RH6 | P 4.7 | 5.4 Méx1.25 RHS | B 34.0 | 37.1
B e '- RH6 | B 4.7 | 5.4 M6x1.5 RH8 | B 34.0 | 37.1
Tin RH7 | P 4.7 | 5.4 M6x2.0 RHS | B 34.0 | 37.1
£ 32230 X rilial ) ] . RH7 | B 4.7 | 5.4
) : 040, 5-80L RHS | B 4.7 | 5.4 UNFO-80 RH4 | P 5.7 | 6.1
MO. 5x0. 125 RH2 | B 11.0 |11.9 M3, 0x0. 5-100L RH9 | B g: Z) o4 UNCT=62 E:i S g: ; 2; ]
MO. 6x0. 15 RH2 | B 9.3 1100 M3.0x0.5-150L 9.7 [10.4 UNF1-72 RH4 | B 7.4 | 7.9
MO. 7x0. 175 RH3 | B 9.3 [10.0 3. 0x0. 5L ey 176 1183 TUNGZ56 RHACIS P 57161
MO. 8x0. 2 RH4 | B 6.7 | 7.4 - : i ' '
10.8x0.2_ RiG | B §7 1 10 M3.5x0. 6-100L RH6 | B 6.7 | 7.4 RH4 | B 5.7 | 6.1
TR B o LT MBIBX0. ST G 9.7 [10.4 RH5 | P 5.7 | 6.1
o U3% va | B S50 M0x0.35 RH6 | B 6.7 | 7.4 RH5 | B 5.7 | 6.1
R4 2510 m0x0.5 RH6 | B 7.1 [ 7.9 UNG2-56-100L 10.0 | 10.7
s N Jo gy moxo7 RH6 | B 7.1 | 7.9 UNF2-64 RH5 | B 6.7 | 7.9
TS i > Lo RH5 | P 4.7 | 5.4 TUNC3-48 RH5 | B 5.7 | 6.1
- U0 o | B RN RH5 | B 4.7 | 5.4 _UNF3-56 RH5 | B 7.4 1 7.9
T e ) RH6 | P 4.7 | 5.4 UNC4—40 RH5 | P 4.7 | 5.4
- 2x0. R | B 12| &0 RH6 | B 4.7 | 5.4 RH5 | B 4.7 | 5.4
RIS | P | 53| 6.0 Ri7 | B | a7 |o4 Ri6 | B | 47 |54
RH5 | B 5.3 | 6.0 ' : ' '
RH8 | P 4.7 | 5.4 RH7 | B 4.7 | 5.4
m jxg- g Enj E ; ; Z- g RHS | B 4.7 | 5.4  UNC4-40-100L 10.0 | 10.7
o623 s | B 25| gy ma0xo.7-80L RH9 | B 4.7 | 5.4 UNF4-48 RH5 | P 7.4 | 7.9
s | p 2510 MA.0x0.7-100 8.9 | 9.7 RH5 | B 7.4 | 7.9
re | B S5 10 MA0x0. 7-150L 9.7 |10.4 UNC5-40 RH5 | P 5.3 | 6.0
. 05 Lo MAOX0. 7L sy 17.6 | 18.3 RH5 | B 5.3 | 6.0
R A TE S MA5x0.5 RH6 | B 6.7 | 7.4 UNC5-40-100L 10.0 | 10.7
-S40, R B LS masx0 75 RA7 | B 7.4 [ 83  UNF5-44 RH6 | B 7.4 | 7.9
W 6x0.2 rRid T p S5 M5.0x0.35 RH7 | B 5.7 | 6.9 TUNC6-32 RH5 | P 4.7 | 5.4
R RH | B | 7.1 |79 M5.00.5 R | B | 74 |83 R | b | 47|34
' ) M5. 0x0. : - : :
M1. 6x0. 35 Eﬂj g gg 2-8 > 0x0.8 RH6 | P 53 | 61 RH6 | B 4.7 | 5.4
il I S I RH6 | B 5.3 | 6.1 RH7 | B 4.7 | 5.4
R e I RH7 | P 5.3 | 6.1 UNC6-32-100L 10.0 | 10.7
g S B RH7 | B 53 | 6.1 UNF6-40 RH6 | P 6.7 | 7.4
W1 7x0 2 RHA 1B 77 79 M5. 0x0. 8-80L RH8 | B 5.3 | 6.1 RH6 | B 6.7 | 7.4
M1 7x0. 35 RH4 | P 53 | 60 M5. 0x0. 8-100L 9.3 110.3  UNC8-32 RH6 | P 5.0 | 5.7
o | B 2510y M5 0x0. 8-150L 10.0 |11.0 RH6 | B 5.0 | 5.7
R | b 25 00 M5 0x0. BLE G 18.3 | 19.3 RH7 | P 5.0 | 57
RH5 | B 53 160 MD0:05 E:g E ;21 g; UNC8-32-100L e 150 Oo 150 77
m gig- 55 E:i E Z, ; Z- ‘; mg: gi?: 35 RH7 | B 7.4 |83  UNF8-36 RH7 | B 7.4 | 8.1
-0, o | B S RH6 | P 5.3 | 6.1 _UNS8-40 RH6 | B 7.4 | 8.1
W7 0x0 25 A T RH6 | B 5.3 | 6.1 UNCI0-24 RH6 | P 5.3 | 6.0
- 0x0. R | B R A RH7 | P 5.3 | 6.1 RH7 | B 5.3 | 6.0
12, 0x0. 4 aa | e ir L RH7 | B 5.3 | 6.1 UNC10-24-100L 10.0 | 11.0
- 00, o | e S0 20 e oxt. 0-80L RHS | B 5.3 | 6.1 UNG10-24L<xls aysey RH7 | B 7.1 | 8.1
RH5 P 4' 7 5' 4 M6. Ox1. 0-100L 9.3 110.3 UNF10-32 RH7 P 6.7 | 7.4
: - Mé. Ox1. O—150L 10.0 | 11.0 RH7 | B 6.7 | 7.4
RH6 | B 47 | 54 -Wex65 : 1 _UNF10=32L s g R | B /1 | 8.1
AL PR 1 A R N = A R
RH7 | B 4.7 | 5.4 M7.0x1.0 ri7 | B 03 |10 4 UNF12-28 rRH7 | B 07 |76
RH8 | B 4.7 | 5.4 M8Hx6-5 : . UNS12=32 ' :
M2. 0x0. 4-80L 8.9 | 9.7  M8.0x0.75 EH; E g g 18 j UNC1/4-20 E:? g g j 2 ;
M2. 0x0. 4-100L 9.7 110.4  M8.0x1.0 ri7 | B 9.3 |10 4 L 6.0 11,0
M2. 0x0. 4Ll sy 4, RH6 | B 7.1 1 7.9 M8.0x1.25 ri7 | B o5 |10 4 UNC1/4-20-100L ri7 | B 71 |8
41 P 5.3 160 : : UNC1 /4-20L5ls sy 50 : '
M2. 2x0. 45 RH RH9 | B 9.3 |10.4 RH7 | P 6.7 | 7.6
RH4 | B 5.3 | 6.0 M8.0x1.25-100L 37 |14 UNF1/4-28 ri7 | B PR X L
M2. 3x0. 4 RH5 P 4.7 5.4 M8. 0x1. 25-150L 18. 9 20' 3 RH7 B 7' 1 8. 1
RH5 | B 47 154 M8.O0x1.25L=h i pyy | 11.0 | 12,4 UNF1/4-28Lcsb Goospyy | 67 |76
M2_3x0_ 4l cails sy dyy RHO B 7.1 7.9 M9 0x0.5 RA7 B 10.4 [12.1 UNEF1/4-32 RH7 B 6.7 7.6
M2. 5x0. 25 RH6 | B L9 N9 0x0. 75 RH7 | B 10.4 |12.1 UNS1/4-36 RH7 | B 9.3 [10.4
M2. 5x0. 35 RH6 | B 7179 N9 0x1.0 RH7 | B 10.4 |12.1  UNC5/16-18 RH7 | B 1.1 12,6
M2. 5x0. 45 RH4 | P A7 )54 M9.0x1.25 RH7 | B 10.4 | 121 UNC5/16-18L<xils a5 ) 13.6 | 15.0
E:g E 3. ; g 3 WT0X0. 5 RH7 | B 0.4 12,1 UNC5/6-18-100L RH7 10.0 | 1.1
Rs | B IR M10x0. 75 RH7 | B 10.4 |12.1 UNF5/16-24 RH7 11.0 | 13.1
: : M10x1. 0 RH7 | B 10.4 | 12.1  UNC3/8-16 15.3 | 16.7
E:g E 3. ; g 3 M10x1. 25 RH7 | B 10.4 |12.1  UNC3/8-16-100L RH7 | B 13.1 | 14.7
7 | p a7 |2 M10x1.5 RH7 | B 10.4 [12.1 _UNC3/8-16L<sily sy RH7 | B 11.9 113.9
s : RH9 | B 10.4 |12.1  TUNC3/8-24 RH7 | B 14.6 | 16.4
RH7 | B 47| 5.4 M10x1.5-100L 15.3 | 16.7 - RH7 | B 15.7 117.9
RHS | B | 4.7 | 5.4 W0x1.5-150L 3|67 UNGTAG-14 7 |17,
80 | o7 . &= 20.3 | 21.7 UNF7/16-20 RH7 | B 17.1 [19.7
M2. 5x0. 45-80L : - M10x1. 5Lils s RH7 | B 12.6 |14.0  UNC1/2-12 RH7 | B 17.1 [19.7
M2.5x0.45-100L | | ‘;Z 170-94 Mi1x1.0 RH7 | B 11.9 [13.9  -UNF1/2=20
M2 5x0. 45Losls e s | L W12x0.5 RH7 | B 11.9 [13.9 RH6 | P 5.3 | 6.0
M2, 6x0. 45 SN ST 2075 RH7 | B 11.9 113.9  W1/8-40 RH6 | B 5.3 | 6.0
R e ST Mo RH7 | B 11.9 |13.9 RH7 | B 5.3 | 6.0
e | B Yol 2 m2xas RH7 | B 11.9 113.9  W5/32-32 RH7 | B 5.3 | 6.0
e Lol Tn maxas RH7 | B 11.9 |13.9  W3/16-24 RH7 | B 54 | 67
07 104 M12x1. 75 RH7 | B 11.9 113.9  W1/4-20 RH7 | B 9.3 [10.4
M2. 6x0. 45-100L : : RHS | B 11.9 113.9  W5/16-18 RH7 | B 1.9 [13.9
M12x1. 75-100L 19.7 | 21.7  W3/8-16 RH7 | B 14.6 | 16. 4
M12x1. 75-150L 22.9 [25.0  W7/16-14 RH7 | B 17.1 [ 19.7
M12x1. 75Lcils o gy RH7 | B 14.0 | 16,1 W1/2-12

2ot Jaldi b ) Sl (b Gae Dl ),

- shef Uae s USD caess s 330 5 115, )
oS Jie 51 3l ol n 53 s Y s 35S S Gl 81 eva@mzgtool.cn http://www.mzg.tw


http://www.mzg.tw

& 3a5n X sl Sl

& g Slaad | = JSs
Bt X o e (/<313 Goy50))

[((RSHENSSTS))

e e S

. 0x0. 6.7 | 7.9 UNG1/2-12 P3 13.1 | 15.3
.0x0.75 P2 6.7 | 7.9 UNF1/2-20 P3 14.6 | 16.4
.0x1.0 P2 6.0 | 7.4
0x0.5 P2 6.7 | 7.9 Wi/8-40 P1 4.7 | 5.4
.0x0.75 P3 6.7 | 7.9 W5/32-32 P2 4.7 | 5.4
.0x1.0 P3 6.7 | 7.9 W3/16-24 P2 4.7 | 5.4
0x1.25 P3 6.0 | 7.4 Wr7/32-24 P2 4.7 | 5.7
P4 6.0 | 7.4 W1/4-20 P2 4.7 | 5.7
promxciosa s : ] . 0x1. 25-100L 12.6 W5/16-18 P2 6.0 | 7.4
(fesls ) 2= : . 0x1. 25-150L 18.3 W3/8-16 P2 7.9 | 9.6
M8. 0x1. 25 canice P4 43.3  W7/16-14 P3 11.9 [ 13.9
M1. 0x0. 25 P1 53160 M9 0x0.5 P2 83 | 10 Wi/2-12 P2 13.1 | 15.3
M1. 0x0. 25 camice P2 27.6 M9. 0x0. 75 P3 8.3 10
1. 2x0. 25 P1 53 | 60 Mo oxl 0 p3 83 | 10
m-ixg- %5 Cartige E% — 275- 40 M9. 0x1. 25 P3 7.9 | 9.6 PS1/8-28 came P4 56. 4
. 4x0.2 . oLl woxos P2 8.3 | 10 PS1/4-19 cavice P4 91.7
-4x0. : : M10x0. 75 P3 8.3 | 10 PT1/8-28 cavice P4 62.9
P2 53 160 moxt0 P3 8.3 | 10 PT1/4-19 cavice P4 95.7
M1. 4x0. 3-80L 9.3 M10x1. 25 P3 8.3 | 10
M1. 4x0. 3 camice P2 22.4 M10X1. 5 P3 7‘ 9 9.6
M1.5x0. 3 P2 5.7 6.7 ' P4 7- 9 9. 6 NPS1/8-27 carie P4 56. 4
M1. 6x0. 2 P2 6.7 [ 7.4 Mo0xt. 5-100L 1461 NPS1/4-18 corice P4 91.7
M1. 6x0. 35 P2 5.3 6.0 M10X1. 5-150L 19. 7 NPT1/8-27 carvice P4 62. [*]
M1. 6x0. 35-80L 9.3 M10X1. 5 e P4 - 51.1 NPT1/4-18 camice P4 95- 7
M1. 6x0. 35 core P2 0.0 [21.0 Wi 0 P3 041126 '
1. 7x0. 35 P2 53 |60 g0 5 1o T131
M1. 7x0. 35 camice P2 21.0 M12X0. 75 P3 1 1- 0 13. 1
M1. 8x0. 2 P2 67 | 7.4 : : :
M12x1. 0 P4 11.0 | 13.1
M1. 8x0. 35 P2 57 167 mi2x1.25 P4 11.0 | 13.1
M2. 0x0. 25 P2 67 | 7.4 wiax1 5 P3 110 1131
M2. 0x0. 4 P2 4.7 | 5.4 : : :
= Lol m2x17s P4 10.4 [ 12.6
: : M12x1. 75-100L 18.9
.0 P4 AT 154 M2k, 75-150L 22.4
- 0x0. 4-80L 8.3 M12x1. 75 conie P4 62.9
M2. 0x0. 4-100L 9.3 MT4x1.0 P3 7.7 19.7
M2. 0x0. 4 camice P3 19.7 M14x1. 25 P3 17.1 119.7
M2. 2x0. P2 6.7 | 74 Max1.5 P3 17.1 19.7
M2. 2x0. 45 P2 4.7 |54  wiaoo P 157 118 3
2.3x0. 4 P2 4.7 | 5.4 : : :
mz T - o Mext.o P3 19.7 | 22.4
2. 5x0.35 i SOl mexi2s P3 19.7 | 22.4
-5x0. = Lol mexis P3 19.7 | 22.4
51 Dol 2n mex2.o P4 18.3 | 21
M2. 5x0. 45-80L 8.3 Ny
M2. 5x0. 45-100L 9.3 gﬂg?_iﬁ m 2 3 2
M2. 5x0. 45 camie P3 19.7 UNF1-72 P1 6- 7 7.4
M2. 6x0. 35 P2 6.7 | 7.4 UnNo2=56 5 R
M2. 6x0. 45 P2 4.7 | 5.4 pa 531 6
M2. 6x0. 45-100L 9.3 '
M3. 0x0. 35 P2 4.7 |54 ﬂmgg_gﬁ 100L P2 Z‘? 74
M3. 0x0. 5 P2 4.0 | 4.7  ~no5oas ) 531 4
51 S0 13 uNeasse P2 6.7 | 7.4
: - UNC4-40 P2 4.7 | 5.4
+0.1 4.7 | 5.4 pP3 4.7 | 5.4
M3. 0x0. 5-80L 8.3 1 47 |54
M3. 0x0. 5-150L 17.1 UNF4-48 P2 67 174
M3. 0x0. 5 camice P3 19.7 UNC5-40 P2 4- 7 i 4
M4. 0x0. 35 P2 6.7 | 7.4 “Unoe=:2 5 757
M4. 0x0. 5 P2 4.7 | 5.4 P3 47 | 54
M4. 0x0. 7 P2 4.0 | 4.7 Pa 47 | 54
51 S0 |40 unce-32-100L 9.6
o SO |5, unre-do P2 6.7 | 7.4
: : : UNC8-32 P2 4.7 | 5.4
M4. 0x0. 7-80L 8.3 P3 4.7 | 5.4
M4. 0x0. 7-100L 9.3 P4 47 |54
M4. 0x0. 7-150L 17.1 UNCE=32-100L 06 |
M4. 0x0. 7 camice P3 19.7 UNF8-36 P2 6- 7 7.4
mg 8X°- 5 E; j S 12, uncio-24 P2 4.7 | 5.7
-0x0.8 : : UNC10-24-100L 9.6
Ei j- 8 g 8 UNF10-32 ) 4.7 | 5.7
o SO |29 uNF10-32-100L 9.6
- : : UNC12-24 P2 4.7 | 5.7
mg 8X°- 8-80L 8.6 UNF12-28 P2 6.7 | 7.6
- 0x0. 8-100L 9.6 UNC1 /420 P2 4.7 | 5.7
M5. 0x0. 8-150L 17.9 P3 47 |57
M5. 0x0. 8 camice P3 21.0 P4 4- 7 5. 7
mg- 8§8- ?5 E; j ; g ; UNG1/4-20~100L 9.6
6.0x0.7 & Lol 2 unciza-28 ) 6.7 | 7.6
M6. Ox1. % 2o | oo UNs1/4-32 P2 6.7 | 7.6
o W0 |20 _UNEF1/4-36 P2 6.7 | 7.6
o 2o |29 uncs/te-18 P3 6.0 | 7.4
M6 01 0-80L : e UNC5/6-18-100L 13.1
Mé. Ox1. 0780 b ¢ UNF5/16-24 P2 7.4 | 8.6
M6, 0x1. 0-150L 17.9 ML=l o Lol
AR o 7| ,, , UNC3/8-16-100L 14.7
. - U Carbide UNF3/8-24 P2 9.3 110.7
UNG7/16-14 P3 1.9113.9
UNF7/16-20 P3 12.6 | IRV

L i b S g aaCiagd .
1568 e ea USD e s 330 55 113, h /) -
08 Jie 5 s ol s 53 o Y1 S S ol S eva@mzgtool.cn ttp:/fwww.mzg.tw


http://www.mzg.tw

G 35 8 dyyme

Spiral Grooved Tap

Gt 358 g
Spiral Grooved Tap

& 5oa5a X (sibal Sy &5 5e X bl Sl

(Gl e

(1 <l 5us20) (/<15 b s2)

M4. 0x0. 7 +0.1] 4.7 [ 5.4 M12x0.5 P2 [11.0]13.1 UNF1/4-28 6.77.6
mwmm_#”_‘ P2 | 4 | 4.7 MI2x0.75 P2 [11.0|13.1 P4 | 6.7]7.6
N ) T P3| 4 |47 M2x1.0 P2 |11.0]13.1 UNF1/4-28-HT s | 1B 7.4

e P4 4 4.7 PA 11101131 yNF1/4-28Lcils P2|7.4|8.3

A M4. 0x0. 7-100L 9.3 M12x1. OL<sls upsay P2 12,6\ 14.7  yNEEq /4 32HJ SR 67| 7.6

m M4. 0x0. 7-150L 17.1 M12x1. 25 P2 11,0131 et /a-ap P2 6.717.6

M4. 0x0. 7-AL P2 | 4 | 4 P4 [11.0[13.1 \no5/1618 P2|6.0] 7.4

Tin M4. 0x0. 7-HT Jleia | 1B | 4.7 | 6.1 M12x1. 25LCs0a oy P2 |12.6|14.7 P3 6.0 7.4

SR i R O 4 00, 7L =il sy 7772 MH2x. 5 pa [11.0]13.1 e
il a0 R . . . . - \

M5. 0x0. 5 b3 laal s b2 | 126|147 UNGS/16-18-100L o2 |67

M1. 0x0. 25 P115.3]6.0 P2 | 47|54 M12x1. 5Ll ey ] +0 111100131 UNC5/16-18-AL ) 817983
P2 153160 . P2 | 57|69 M2x1.75 P2 110 4112 ¢ UNC5/16-18-HT e Pl 74]86
P3| 5360 mg 8"8- gL“”U‘”Jlow 47|54 P3 |10.4]12.6 UNGB/16-18L=5 sy | 714 | g g
T 075 E;l gg 2-8 X P2 | 4 |47 PA |10.4]12.6 UNF5/16-24 P4|7.4|8.6
o P2|5.3|6.0 Ei j j:; mgﬂ ;g‘}gg'l: %3:3 UNF5/16-24-HT s ;g 9.3 18:3
P3| 5360 75 s,
P4l 53|60 M5 0x0.8-100L e W2xt 75l | o0 H“Eggfﬁ"— Bodnh217.919.6
NMT. 4x0. 2 Pl | 67|74 mg 8xg- g‘lfo'- P2 | 4 | 4 M2 75—HT\'¢-AL€-““ P2 |12.1]14.7 P4l 79|96
M1. 4x0. 3 P1]5.3|6.0 o WLl 55 .| 1B 47 61 MI2xT. 750N ey P2 [17.1119.7 14.7
P2 | 5360 M5.0x0.8-HT e | po | 47|57 M4x1.0 P2 |17.1019.7  UNG3/8~16-100L P2 |83
P4 1531 6.0 M6.0x0.5 P3 | 4.7 |57 M4x1.5 P2 115.7[18.3 UNC3/8-16-HT ieie | P2 9.6 |11.0
1. 5x0.3 Pl 6774 P4 | 4.7 | 5.7 M4x2.0 P2 [19.722.9 Sy P21 93110 7
M1, 6x0. 2 P1 | 67|74 P2 | 5.7 |69 M6éx1.0 P2 |19.7|22.9 UNG/B-16L=iborny o) 05 107
I o S SR - B R S s R 3
P3| 53|60 "0 P4 | 4.7 |57 M6x20 UNF3/8-24-HT et E% 191_‘30 ]S;?
P415.3]6.0 5.7]6.9 P1 1 5.3 6 TUNFS78=24L 035 p) [11.9(13.9
M1. 6x0. 35-HT ey 1B 6.9 . 0x0. 750l 0. 11 4.7 5.7 UNFO-80 P115.3] 6 UNS3/8-32 2112.6]14.7
W70 2 P1 67|74 mg 8§? 05" o & 2N AV A Pl 67|74 UNCT/T6=TA R
M1. 7x0. 35 P1|5.3|6.0 ’ ’ P3 4 5 UNF1-72 P1 153 6  UNF7/16-20 P2 114 6116 4
P2 |5.3]6.0 P4 4 5 UNC2-56 P2 | 5.3 6 UNC1/2-12
P3| 53|60 9.6 P3 5.3 6 UNF1/2-20 P1la7]5a4
P4153 160 s, 0x1.0-100L 17.9 P4 2-2 6 P2| 4.7 |5.4
M1. 8x0. 2 P67 7.4 N6, 0x1.0-150L P21 4 | 4 : W1/8-40 P2|4.7|5.4
1.8x0.3 P1|57|67 _ 1B | 4.7 |61 UNC2-56-100L 1B | 6169 W5/3-32
M1.8x0.35 M6. 0x1. 0~AL = 4 P2 4.7(5.7
M2 0x0. 25 PUL 6774 oo g o | P2 14757 UNG2-56-HT Sleie | P1 | 6.7 | 7.4 w3/16-24 P2|4.7|5.7
M2. 0x0. 4 +0.15.316.0 g o L [ P2[67]7.9 UNF2-64 PT 153 6 wr/32-24 P2l60l7 4
o P a7 |54 MeOXIOLSsGosops | 67|79 nNe3ag Pt | 67|74 wras0 o R
0x0. 5 : .
p2 | 4.7 5.4 M7.0x P2 | 6.7 7.9 TUNF3-56 PI | 4754 ws/16-18 P2 1191139
P3| 4.7 |5.4 M7. 0x0. 75 P4 | 6.7 | 7.9 UNC4-40 P2 | 4.7 154 w3/8-16 P2 1131115 3
P4 | 4.7 | 5.4 = U4l P2 7.9 9.3 P3| 4.7 |54 wr/16-14
_ 9.3 . P2 | 6 | 7.4 P4 | 4.7 5.4 212
M2. 0x0. 4-100L ot | w47 WI.0x0.75Le8s sdnps | 6 | 74 0 6 w/ 7.9
M2.0x0.4-AL ' ) M7.0x1.0 P2 | 7.4 8.6 UNC4-40-100L P2 | 4.7 4 22.4
M2. 0x0. 4-HT e | 1B | 5.4 6.7 XL : : - 4 7 P81/8-2Bs fmessilp | 7.9
Mo Ao AL el P1157|6.7 P2 1 6.7 7.9 UNC4-40-AL : 1B | 5. 6. PS1/4—14 5 e 5ot bl 93
NE XS T OIFI D [ 6.7 | 7.4 M7.0x1. 0L oy PA | 6.7 | 7.9 |NGA-40-HT ke | P1 [ 6.7 7.4 e 1 13.1
M2 2x0.25 Pl | 47|54 W8.0x0.5 P2 | 6.7|7.9 TuNFa4s PY 4T [ 54 PS8 Sl |13
m; gxg 23 P1|4.7]5.4 P4 | 6.7|7.9 UNC5-40 9. g - PS1/4-19 s Jbas 5 5l 17: 1
e e P1 15767 M8O0x0.75 P21 7.9 9.3 |NG5=40-100L P2 | 6. -4 PS3/8-18 s Sutal 197
MZSXU AL 030 1 [ 4 7 | 7. 4 P21 6.7 7.9 UNF5-44 P2 | 4.7 | 5.4 PS3/8-19 5 s (s silha 5 25: 0
M2. 5x0. 35 +0.1) 5.3 | 6.0 M8.0x0.75L<sls () B4 | 6.7 | 7.9 yNGe-32 30128 Pst/2as ma Sold |41 9
M2. 5x0. 45 Pl | 47|54 M8.0x1.0 P2 179193 P4 k5% S 140 e L 419
P2l 27154 +0.116.717.9 9.6 PS1/2-14 s e s\ 2 .
P3| 47|54 M8 0xt.0Lcsps,P2 | 6 | 74 UNGE-32-100L P2 147 St P
P4 | 4.7 |54 M. 0xl.25 PS |6 1 74 UNG6e-32-AL 181541067 PSI-11c joma sl 79
9: 3 : ’ P4 6 7.4 UNC6-32-HT leie P2 | 57167 psg1-11.1-2 10' f
M2. 5x0. 45-100L P114.7]| 4.7 1; g UNCE=32ts o] Eg 2 ; g j | 15.7
M2. 5x0. 45-AL .| 1B |5.4]6.7 P2 : 6 UNF6-40 P3 4' 7 5' 4 PT1/16-28 s bxs 5 54 19.7
M2.5x0.45-HT =< p1 | 57| 6.7 M8 0x1.25-100L 674|709 UNCB-32 pa | 47|54 PT1/8-28u)ecsiln |27.6
M2.5x0. 45L<sls s Jse P1 | 6.7 | 7.4 M8.0x1. 25-150L pl74l86 96| PT1/4-19 5 june s sla s 46,0
M2. 6x0. 35 P1 4.7 | 5.4 MBOxt25-AL . P2 79196 P2 4.7 PT3 3‘1‘{;:)‘%’“ u)jh=)§
M2. 6x0. 45 P21 47|54 M8 0x1.25-HT ey 15 | 7 0| o 4  UNGB-32-100L 1B | 5.4 |67 PT1/2-14c jomessibn | 7.9
PS4 T 2% MB.Ox1.25L s lpy | 79 |96 UNGB-32-AL | p) |57 |67 pra Jd—14o e o siby | 10-4
P4 3; 54 1o 0x0 5 P2 | 10 |11.4 UNGB-32-HTete | pp | 6.7 7.4 o7 0 #9727 1157
pi |57 67 M2.0x0.75 P2 | 7.9 1 9.6 UNC8-32L<ils puymb P2 [ 4.7 (5.7 G Sy 19.7
M2. 6x0. 45-100L L W9.0x1.0 P2 8.3 10  UNF8-36 P3 | 4.7 |5.7 27.6
mg gxg- ‘3‘2'—“"* uwf{z I g 4 M9.0x1.0L<sls G P2 | 8.3 | 10 UNC10-24 P4 | 47|57 NPT1/8-27c ) | 46,0
. 0x0. : : _ g |
’ Pl 4754 Wt b2 | 5o | 114 0 |47 At Sl
s 7127 moxo.75 P2 g.g 18 UNC10-24-100L ;Ezi gé 2.; NPT1/2-1405 o (50l
: : P4 | 8.3 ] 10  UNGC10-24-AL : : e
. —14 (5 Juza |
M3. 0x0. 35Lcsl u»,;etgﬂ 4'47 j-;‘ M10x0. 75Lss s, P2 | 10 11,4 UNG10-24-HT (leke | P2 | 4.7 | 5.7 NPT1/411?f2"‘ e
M3. 0x0. 5 : M0x1. 0 P2 | 8.3 | 10 noqo-24Lcsls pyg,P3 |47 (5.7 NPT1-11.
P2\ 4 147 P4 | 8.3| 10 P4 | 4.7 | 5.7
P3| 4 |47 P2 | 10 [11.4 UNF10-32 9.6
pa | 4 | 4.7 MOxT. 0L sl : :
H10x1. 25 +0.1] 8.3 ] 10 1B 7.4
197-31 1 P2 [ 7.9 9.6 yuren ao sgor P2 | 7.418.3
M3.00.57100L | po | 4 |40 WOXI.25Le8s0omopn | S0 | 0 8 UNFI0-32-HT | b) |6 h | 5]
M3. 0x0. 5-150L P4 | 7. . . _
. 1B 4.7]6.1 MOx1.5 UNF10-32L<uls Gaosop2 | 6.7 | 7.6
M3. 0x0. 5-AL 14.6 . .
M3—0x0-—5-HT —-ie P2 147154 19.7 UNC12-24 P2 | 6.7 1 7.6
e = 9.3 P2 7.9 "UNF12-28 P2 | 4.7 5.7
M3 0x0. 5L o) [ 47 [ 5.4 18193 10 UNEF12-32 P3 | 4.7 | 5.7
M3. 5x0. 6-100L P2 | 4.7 | 5.4  M10x1.5-100L P2 961 11 UNS12-36 P4 | 4.7 |5.7
M4. 0x0. 35 P3| 4.7 |5 4 ~WMOxT-5=150C P2 | 11 [13.1 UNC1/4-20 9.6
w0 0| 67183 Mo owate | 72| 11 [121 UNG1/4-20 RV
. . x1.5-HT 5 P2 | 11 [13.1 = 1B |5.4|6.7
. M10x1. 5Ly (ysah P2 [10.4112.6 UNG1/4—20—100L P2 |5.7]6.9
M4 Ox0-BL T IXU.D UNC1+/4—20—AL

M11x0. 7 UNG1/4-20-HT e

;MJ_Q,X‘U,QA Gd sl S (o S NG/ 4-20L il Do)

- W3 e g gSD et oot A8 http:// mzg.tw
008 ie 1 il ol 53 um Y s 35S S T 81k eva@mzgtool.cn pHIWWW. g.


http://www.mzg.tw

6w S/ g_aﬁ +b

Hand Tap/Circular Die

U e IS e il 63 1 ) . ) elornal
AR-D Adjustable Circular Die Diameter

HT n_uf BN B
HT Straight Wire Tap

UNFO-80 P1 4.3 UNFO-80 .9
e UNG1—64 Pl 43 UNG1-64 20 | 104
UNF1-72 P1 5.0 UNF1-72 20 | 11.9
UNC2-56 P1 43 UNG2-56 20 | 104
UNF2-64 P1 5.0 UNC3-48 20 | 104
UNC3-48 P1 43 UNF3-56 20 | 11.9
UNF3-56 P1 5.0 UNC4-40 20 | 104
UNC4-40 P2 4.0 UNF4-48 20 | 1.9
& 3m5e X el S g - A P3 4.0 5o 54 x olal (S0 Z2 External A UNC5-40 20 10. 4
(/23 0050) L UNF4-48 P2 4.7 I ST Diameter : UNC6-32 20 10. 4
M1. 0x0. 25 P1 TR s 9 1. ox0.25 20 | 331 UNRGT40 200119
UNF5-44 P2 4.7 UNC8-32 20 | 10.4
M1 2x0 25 P1 2.3 = M1. 2x0. 25 20 | 131 -
UNC6-32 P2 40 UNF8-36 20 | 1.9
M1. 6x0. 35 P1 2.3 i 2o M4x0.3 20 | 131 Not0o94 % | o4
M1.7x0. 35 P1 2.3 : M1.5x0. 3 20 | 131 '
UNF6-40 P2 4.7 UNF10-32 20 | 11.9
M1.8x0. 35 P1 2.3 M1. 6x0. 35 20 | 131
UNC8-32 P2 4.0 UNG12-24 20 | 104
M2. 0x0. 25 P 4.7 M1. 7x0. 35 20 | 13.1
P3 4.0 UNF12-28 20 | 1.9
M2. 0x0. 4 P2 4.0 _ M1. 8x0. 35 20 | 131 ‘
G0 gms o BeSR ko meem 2o
P4 4.0 " : M2. 0x0. 4 20 | 10.4 - :
UNF10-32 P2 4.7 ) UNS1/4-32 20 | 11.9
M2. 2x0. 25 P1 47 TUNCT2-24 P2 20 M2.0x0.4Lculs peyy 20 | 1.9 gNEFY/4-36 20 | 11.9
M2. 2x0. 45 P2 40 ynNF12-28 P2 4.7 M2.2x0.25 2001 119 UNes/16-18 25 | 11.9
mg gig- 315 E1z j—g UNC1/4-20 P2 20 D — ]8-2‘ UNF5/16-24 25 | 131
- 3x0. - UNF1/4-28 P2 4.7 x 4 UNC3/8-16 25 | 11.9
M2. 5x0. 35 P1 4.7 1/4-32 2 4.7 M2. 5x0. 35 20 11.9 3/8-24 5 131
UNF P 4 UNF 5 3
M2. 5x0. 45 P2 40" "UNC5/16-18 P3 53 M2.5x0.45 20| 104 gNG7/16-14 25 | 11.9
P3 40 UNF5/16-24 P3 6.1 M2.5x0 451y Gu sy 20 1.9 UNF7/16-20 25 | 13.1
P4 4.0 UNEF5/16-32 P3 6.7 M2.6x0.35 2001 19 gNe1/2-12 25 | 11.9
M2. 6x0. 35 P2 47 TUNC3/8-16 P3 6.9 M2.6x0.45 20 | 104 gNFq/2-20 25 | 131
M2. 6x0. 45 = h 8 UNF3/8-24 P3 81 M3 0x0.35 gg ](1) ]
: UNEF3/8-32 P3 8.1 M3.0x0.5 A wi/8-40 20 | 10.4
50038 E‘z‘ 20— Ne7/16-14 P3 T M30x0 AL o - Hg W5/32-32 20 | 104
BNTO| R | e wms TR e R
ol : - 4 M4. 0x0. 5 : - .
P3 33 UNF1/2-20 P3| 10.4 M4 Ox0.7 2001 104 w5/16-18 25 | 11.9
W3.5x0. 35 SRS WA 050 e oty g W3/8-16 25 o o7
: . : Tube Tappin : W7/16-14 25 1.9
13.5:0.6 2ol 33 esmeme e, | 67 e Lt w2z B |
P4 33 PS1/8-27 s Juxs (S ! 6.7 M5. 0x0. 35 20 1.9
M4. 0x0. 35 P2 4.7 PS1/8-28 june 55l 5 262‘ 74 M5. 0x0. 5 20 10. 4
M4. 0x0. 5 P2 | 47 PS1/4-140 e S 79 0.0 el 20 | 119
M4. 0x0. 7 P2 3.3 P81 /41805 some S re v ~O0X0. OO0 20 | 11.9
P3 3. 3 [ . - L0 me. 8x8.5 20 | 11.9
P4 3.3 S i M6. 0x0. 75 20 10. 4
PS3/8-18 s sluns (S ! 13.1
e i psa/et ijl-u f;‘j:y el ﬂ?' 8)(1' ngu e T ?
. 5x0. . -+ 2 17.1 . UxT. [S2DF D) .
M4. 5x0. 75 P2 3.6 PS1/2-140 uns Sl 254 M7.0x0.5 2% | 13.1
No 00,5 by | a7 PS2asimeshr | 331 JLOAIS L
. UXU. . — Jamericanz o3l 1o - UXT. .
M5. 0x0. 8 P2 3.6 PSS/AtAc g s 1 Weloxo.5 25 | 13.1
P3| 3.6 LHTICISSIES 67 MB.0x0.75 25 | 13.1
P4 | 3.6 PSIm11.1 o7 MB.Ox1.0 25 | 11.9
M6. 0x0. 35 =) 53 ' M8. Ox1. 25 25 | 131
M6, 00, 5 P2 | 47 PIAEBG sy | 8O e 3
M6. 0x0. 75 P2 4.7  PT1/8-28 bas s 5ith 183 M9.0x0.5 25 13.1
Mé. 0x1. 0 P2 3.6 PT1/4-19 & Jlxe s 5l 50 250 M9.0x0.75 25 13.1
P3| 3.6 PT3/8-19 june sk 419 M9.0x1.0 25 | 1.9
W7, 0x0.5 Eéz1 2'? T2~ oot Mo Ox1. 25 %5 gl
M7, 0x0. 75 P2 | 61 PI3/A14s sl 67 [N 2 | 131
M7.0x1. 0 P2 53  PT1-11 lne s sl 184_66 M10x1. 0 2% | 13.1
R coaEs
. 0x0. 6. 25.0 M10x1. 5 25 -
8. 90x0. 75 P2 Sl NeT1/B-27 0 g o 41,9 WA SLE Gy 25 -2
M8, 0x1. 25 p2 | 53  NPT1/4-180 e S0 nl L 2 | 131
o P3 5.3  NPT3/8-18 e (5ol HiZeol 25 13.1
M9. 0x0. 5 P3 81 NPT1/2-14 jhae Sl m %i? 35 25 | 131
M9. 0x0. 75 P3 8.1 NPT1/4-1405 une Sa! M2t 25 2% | 131
M9. 0x1. 0 P3 81 NPTI-11.1-2 Sy 2% | 11.9
M9. Ox1. 25 P3 6.9 Wiooa e 25 | 131
M10x0. 5 P3 81 WtZxtro— 38 | 25.0
M10x0. 75 P3 8.1 mix}'gf"-‘”“ v 35 | 25 0
M10x1.0 P3 8.1 M14X1- 25 38 25.0
M10x1. 25 P3 8.1 Mmi‘.' - 38 23.6
M10x1. 5 P3 6.9 : 38 | 25.0
P4 6.9 mgﬁ g 38 | 25.0
M11x0.5 P3| 10.4 : 38 | 25.0
M11x0. 75 P3 | 10.4 m g"}- 25 38 | 23.6
M11x1.0 P3 10. 4 waz-g
M11x1.5 P3 9.3 x2.
M12x0. 5 P3| 10.4
M12x0. 75 P3| 104
M12x1.0 P3 | 104
M12x1. 25 P3 | 10.4
M12x1.5 P3| 104
M12x1. 75 P3 9.3
P4 9.3
M14x2. 0 P3_| 10.4
M16x2. 0 P3| 13.1

2 ot Jald Qb ) Sl (G b e Dl ),

el Cae s USD cows sy 530 35 015, )
S Jie ) il ol 655 ne Y s 35S S TSIk eva@mzgtool.cn http://www.mzg.tw



http://www.mzg.tw

— LUy HS Jala
Turning Inserts

CCGT060202 CBN1 0.2 | 6.9
(CGT060204 CBN1 0.4 | 69 6 CNMG120402 GBNT 0.2 | 69
CCGT060208 CBN1 0.8 6.9 CNMG120404 CBN1 0.4 6.9
CCGTO9T302 CBN1 0.2 | 6.9 h CNMG120408 CBNT 0.8 | 6.9
CCGTO9T304 CBN1 0.4 | 6.9 By mrr i
CCGTO9T308 CBN1 0.8 | 6.9 T et
. CCGT120402 CBN 0.2 | 6.9 St
Ch sl ol Culs CCGT120404 CBN1 0.4 | 6.9
Aa ol e 2l CCGT120408 CBN1 0.8 | 6.9 CNMG120402 PCD1 0.2 | 6.9
CNMG120404 PCD1 0.4 | 6.9
HBeete AT VY 0.08%1 6.9 CNMG120408 PCD1 0.8 | 6.9
| CCGT060204 PCD1 0.4 | 6.9
- CCGTO9T302 PCD1 0.2 | 6.9
; CCGT09T304 PCD1 0.4 | 6.9
CCGTO9T308 PCD1 0.8 | 6.9
CCGT120402 PCD1 0.2 | 69 CNMG120404-TM 2C25 | 0.4 | 2.6
aieshl sl s CCGT120404 PCD1 0.4 | 6.9 CNMG120408-TM 2C25 | 0.8 | 2.6
. CCGT120408 PCD1 0.8 | 6.9 CNMG120412-TM ZC25 | 1.2 | 2.6
CCGT060202-AL ZKO1 | 0.2 1.1
CCGT060204-AL ZKOT | 0.4 1.1
CCGT060208-AL ZKO1 | 0.8 1.1
CCGTO9T302-AL ZKO1 | 0.2 1.4 CNMG120408R-X 2625 | 0.8 | 2.6
CCGTO9T304-AL ZKOT | 0.4 1.4 CNMG120408L-X 2625 | 0.8 | 2.6
CCGTO9T308-AL ZKO1 | 0.8 1.4
W CCGT120402-AL ZKO1 0.2 2.3 SR LKA
padie patrashil sl 4lS CCGT120404-AL ZKO1 | 0.4 2.3 Do S S ot ot
A il CCGT120408-AL ZKO1 | 0.8 2.3
CNMG120404-TM 2€35 | 0.4 | 2.6
CCMT060204 ZM30 0.4 1.6 CNMG120408-TM z€35 | 0.8 | 2.6
CCMT060208 ZM30 0.8 1.6
CCMT09T304 ZM30 0.4 1.7 P s
CCMT09T308 ZM30 0.8 1.7 R
CCMT120404 ZM30 0.4 2.4 SRy
- v‘ ' CCMT120408 ZM30 0.8 2.4 f ﬁ T
S s 53 St ualipi £ CNMG120404-HA ZKO1 | 0.4 | 2.0
Lasmas CNMG120408-HA zKO1 | 0.8 | 2.0
- prbie pesb) 51 S
7 ‘\ [33‘; gu..,e
£ v CCMT060204-FG ZN6O | 0.4 1.7
{ e CCMTO9T304-FG ZN6O | 0.4 1.9
_ CCMTO9T308-FG ZN6O | 0.8 1.9 CNMA120404 ZK50 0.4 | 2.6
CNMA120408 ZK50 0.8 | 2.6
il Sagd gl il s g paban
o ez 08 i S8 e
SR et Jlaga S sl Sls
. COMT060202-HQ ZN6O | 0.2 | 1.7
CCMT060204-HQ ZN60 | 0.4 | 1.7 8“”8]%8283 %ﬁgg 3¢ 20
R o CCMTO9T302-HQ ZN6O | 0.2 1.9 : :
a— COMTO9T304-HQ ZN6O | 0.4 | 1.9
el S8 )l ilie s g atan 58 e o ilaasa S 08 SlS
P e
J i CNMG120408-HS ZM30 | 0.8 | 2.6
[ X CCMT060204-MT ZN60 | 0.4 1.7
e COMTO9T304-MT ZN6O | 0.8 | 1.9
O _ CCMTO9T308-MT ZN6O | 0.8 1.9
Tl i CNMG120404-MA ZM30 | 0.4 | 2.6
== CNMG120408-MA ZM30 | 0.8 | 2.6
: g : CCGT060202EL-U ZN90 | 0.2 4.0
b CCGTO60204EL-U ZN90 | 0.4 | 4.0
——— CCGTO9T302EL-U ZN9O | 0.2 | 4.0 ONMG1 20005 NS M0 1 0.4 | 2.8
CCGTO9T304EL-U ZN90 | 0.4 | 4.0 CNMG120408-MS ZM30 : :
i) g e i€
2 lea) LS i3 € guan
CNMG120404-HQ ZN6O | 0.4 | 2.3
e CNMG120408-HQ ZN60 | 0.8 | 2.3
CCGTO60202ER-U ZN90 | 0.2 | 4.0 Sl 028 2l s e
CCGT060204ER-U ZN90 | 0.4 4.0 R
R CCGTO9T302ER-U ZN90 | 0.2 | 4.0 ] 2
| — CCGTO9T304ER-U ZN90 | 0.4 | 4.0 Q CNMG120404-TS ZN6O | 0.4 | 2.3
S CNMG120408-TS ZN60 | 0.8 | 2.3
i) g e S ' .
o) LS a8 € peaa L g e

= ot Jald (ead ) eSS e e Cuadd ),
a8 Lo s USD caesd i 330 5 115,

0208 e ) (Al o) 58 U @Y g 35S S il R eva@ngtoo|_cn http//wwwngtw


http://www.mzg.tw

— [&ER) JS JALa

Turning Inserts

Jeslaald S Gle siuas

)ﬁ}‘...a'i é Gile gas

Q DNMA150404 CBN1

DNMA150408 CBN1

DCGT070202 CBN1
DCGT070204 CBN1
DCGT070208 CBN1
DCGT117301 CBN1
DCGT117302 CBN1
DCGT11T304 CBN1
iyl ) DCGT11T308 CBN1
e DCGW11T308 CBN1

DCGT070201 PCD1
DCGT070202 PCD1
DCGT070204 PCD1
DCGT070208 PCD1
DCGT11T301 PCD1
DCGT11T302 PCD1
DCGT11T304 PCD1
DCGT11T308 PCD1

o8
o A
o
©

C@Jj\d}ji‘us
PGP P P9

oo AN =0 AN B

DNMA150404 PCD1 0.4 | 6.9
DNMA150408 PCD1 0.8 |6

H.'lﬂ.a_;.‘gﬂ sl _)%LS

PRENPPR T Y

= DCGT070202-AL ZKO1
£ DCGT070204-AL ZKO1

DCGT11T302-AL ZKO1
DCGT11T304-AL ZKO1
DCGT11T308-AL ZKO1

FPOOOOOEp oo™ Ooo
00000000 | OO0
00000000 | 00000000

OAN—=00AN—

DNMG150404-HA ZKO1
DNMG150408-HA ZKO1
DNMG150604-HA ZKO1
DNMG150608-HA ZKO1

coow
[« W NN
EalE
00 wWw

DO OOoo
©ANAN
ERENENEREN
ocoo AN

2adie caina bl 1 pls
PR

DNMG110404-FG ZN60 0.4 |26

DCMT070204-MV ZM30 0.4 1.6
DCMT11T304-MV ZM30 0 .7

il Seagh 5 il o (5 iew
2 leal LS o33 5S ) guaa

DNMG150404-HQ ZN60 0.4
DNMG150408-HQ ZN60 0.8

b
oo

DCMT11T304 ZM30
DCMT11T308 ZM30

oo

dibiol Sl ) e s g patew
el Ui £

DCMT070204-FG ZN6O DNMG150404L-VF ZN60 | 0.4 | 2.6

0.4 7
DCMT11T302-FA ZN60 0.2 1.9
DCMT11T304-FG ZN60 0.4 9

s g 3 g 5l e Ss s
Ll U i S pan

) Saed ) e (5 oien

o e LS p38 S G an

oy
v il
@’ / DCMT070202-HQ ZN60

DNMG150404R-VF ZN60 | 0.4 | 2.6

: 0.2 | 1.7 .
A DCMT070204-HQ ZN6O | 0.4 | 1.7 0 e 3 o sl hoe e
iz DCMT117302-HQ ZN60 | 0.2 | 1.9 S i
o DCMT11T304-HQ ZN60 | 0.4 | 1.9
il Sagd )5l Slers g putan
P =
‘ . DCGT11T302FL-U ZN90 | 0.2 | 4.0
— DCGT11T304FL-U ZN90 | 0.4 | 4.0
bl 5363 o s
o lenl LS s o pene
; ‘ . DCGT11T302FR-U ZN9O | 0.2 | 4.0
- DCGT11T304FR-U ZN9O | 0.4 | 4.0

il St S 08
o ea WS 3 8 aan

=2 o Jald and ) (eSS (G e Ciead sl

31568 e gan USD e s 350 55 113, n
08 i ) (5L e o) 3 655 U Y g 35S S QT S eva@ngtoo| .cn http.//www.ng.tw



http://www.mzg.tw

Jﬁ}‘.mi é Gile gluas

i sl C?jj WL

. ¢
23A (638 ole g

SNMG120404 CBN1
SNMG120408 CBN1

e
© A~

= [&ER) JS JALa
Turning Inserts

oo
0 0o

Q‘Q

skl sl a8

AIA  dadie

SNMG120404 PCD1
SNMG120408 PCD1

oo

© M

oo

~O O

STV RV B S 1S P

SNMG120408L-S

2025

0

8

2

6

S 5 3 ot =S S il 34

SNMG120408L-S

2035

0

8

2

6

Sz 53 S ~5 S S Ji

SNMG120408R-S

2025

0.8

2.6

Kz 533 2 =S =S ) 34

SNMG120408R-S

2035

0

8

2

6

SNMG120408-TM

2025

0

8

2

6

padie paina sl ) S

SNMG120404-HA
SNMG120408-HA

ZKO01
ZKO01

oo

[ooJN>N

Mo
co

SNMG120408-MA

ZM30

0

8

2

6

SNMG120404-MS

ZM30

0

4

2

6

SNMG120404-HQ
SNMG120404-HQ

ZN60
ZN60

°F
CEN

NN
w w

Jiiad g 5 a0 (5 e

2 lal LS 33 € pan

SCMTO9T304-MT

ZN60

0

4

1

e

patie aaiaa ghal 5l alS

SCGTO9T304-AL
SCGT09T308-AL
SCGT120404-AL
SCGT120408-AL

ZKO1
ZKO01
ZKO1
ZKO1

cooco

[o o2 >N N

RGN NN
OO DM D

Jeslaald S Gle giuas

G sl ) GalS

aid 58 ol 2l 5a

TBGT060102 CBN1
TCGT110302 CBN1
TCGT16T302 CBN1
TCGT16T304 CBN1
TCGT16T308 CBN1
TPGT080202 CBN1
TPGT080204 CBN1
TPGT090202 CBN1
TPGT090204 CBN1
TPGT110202 CBN1
TPGT110204 CBN1
TPGT110302 CBN1
TPGT110304 CBN1
TPGT110308 CBN1

asizashl ) S

A adie

TBGT060102 PCD1
TCGT110202 PCD1
TCGT110204 PCD1
TCGT110304 PCD1
TCGT16T302 PCD1
TCGT16T304 PCD1
TCGT16T308 PCD1
TPGT080202 PCD1
TPGT080204 PCD1
TPGT090202 PCD1
TPGT090204 PCD1
TPGT110204 PCD1
TPGT110302 PCD1
TPGT110304 PCD1

COOOR/LLOLOLCROL (COTOO0OOCOPROCC
ANBAANANORANARANN|[OANANANBNOANNN

SOOI OOOO
0 "0 "0 ~0 0 *0 0 0 ~0 0 ~0 0 0 O [ 0 0 0 ~0 0 0 0 0 0 0 0 0 0 0

A

Jaia) Saed s ilia ) 5 dien
o e UoS 38 S gaa

TBGT060102L ZN90
TBGT060104L ZN90
TCGT110202L ZN90
TCGT110204L ZN90
TPGH080202L ZN90
TPGHO080204L ZN90
TPGH090202L ZN90
TPGH090204L ZN90
TPGH110302L ZN90
TPGH110304L ZN90

COoocooo0o00o0oo

ANDBNAEANBANAN

W WWwWwwwwwww

ABRDMAADADDDADN

Jii) Saed s lia ) 6 dian
el LS it o€ guan

TBGT060102L-W ZN90
TBGT060104L-W ZN90
TPGT080202L-W ZN90
TPGT080204L-W ZN90
TPGT090202L-W ZN90
TPGT090204L-W ZN90
TPGT110302L-W ZN90
TPGT110304L-W ZN90

cCoROoLOoLO
ANANANAN

W W www www
N N AN NN N

i) Saed 5l il e
i leal LS 58 S [ gann

I

TCMT090202-HQ ZN60
TCMT090204-HQ ZN60
TCMT110202-HQ ZN60
TCMT110204-HQ ZN60
TCMT110208-HQ ZN60
TCMT16T304-HQ ZN60

TPMT110304-HQ ZN60
TPMT110308-HQ@ ZN60

coocooo

o

(o> AOBANAN

N
ANNNNN

N~

a33aa axiashl 5l S

FREN (e

TCGT090202-AL ZKO1
TCGT090204-AL ZKO1
TCGT110202-AL ZKO1
TCGT110204-AL ZKO1
TCGT110302-AL ZKO1
TCGT110304-AL ZKO1
TCGT16T302-AL ZKO1
TCGT16T304-AL ZKO1
TCGT16T308-AL ZKO1

Ceooooooee
CORANBNENBAN

N~N~NoohRADMPAN

TCMT110204 ZM30
TCMT110208 ZM30
TCMT16T304 ZM30
TCMT16T308 ZM30

e ore
[ NJ NN

NN ==

wwo o

LEQENC) s g 53 Jolee Gualinia
[ 5 7 O O

s Ut el G sl S (B e e s,
el Uae s USD cows s 330 5 015,

oS e 51 il o s €53 o Y s L3S S TSI eva@mzgtool.cn http://www.mzg.tw


http://www.mzg.tw

Jeslaald S Gle siuaa

= (&FR) JS JAla
Turning Inserts

Jﬁ}‘.mi é Gile gluas

/ \ TNMG160404L-C ZN60 | 0.4 9
TNMA160402 BN 0.2 | 6.9 - () TNMG160408L-C ZN60 | 0.8 9
TNMA160404 CBN1 0.4 | 6.9 = ; —
TNMA160408 CBN1 0.8 | 6.9 TNMG160404R-C ZN6O | 0. 4 9
s u‘ = s WRCL LG | TNMG160408R-G ZNO | 0.8 .9
ala g b il 3l ea ) _“x“LiJSAS\L;A
TNMG160404L-S ZN60 | 0 4 9
TNMA160402 PCD1 0.2 | 69 TNMG160408L-S ZN6O | 0.8 9
TNMA160404 PCD1 0.4 | 6.9
TNMA160408 PCD1 0.8 | 6.9 TNMG160404R-S ZN6O | 0 4 9
&,m ) J\ s RS, . L-S_ | TNMGI60408R-S ZN60 | 0.8 9
1laal 13 S 2id S s
I\ b 7 -
¥ % - TNMG160404-CQ 2625 | 0.4 | 2.3 N 4 TNMG160404L-VF ZN60 | 0 4 9
/f@\ TNMG160408-CQ €25 | 0.8 | 2.3 g 5 TNMG160408L-VF ZN60 | 0.8 9
— TNMG160404-HQ 2C25 | 0.4 | 2.3 ﬁ h TNMG160404R-VF ZN60 | 0 4 9
cQ TNMG160408-HQ €25 | 0.8 | 2.3 R-YF, L-VF TNMG160408R-VF ZN60 | 0. 8 9
58 (e aliin) il ya S il - ::,:)_LJE :;A o
TNMG160404L-S 2C25 | 0.4 | 2.3 TNMG160404L-FS ZN6O | 0.4 9
TNMG160408L-S 2C25 | 0.8 | 2.3 TNMG160408L-FS ZN60 | 0. & 9
TNMG160404R-S 2C25 | 0.4 | 2.3 TNMG160404R-FS ZN6O | 0.4 9
R-S L-S TNMG160408R-S 2C25 | 0.8 | 2.3 R-FS L-FS TNMG160408R-FS ZN60 | 0 & 9
<. . \a i) S o) Al s en
Sgia g g3 S 3 (S S il _lealli S aih o gean
TNMG160404L-S 2C35 | 0.4 | 2.3 A
Rl 08 | 2.3 3 TNMG160404-HQ ZN6O | 0.4 | 1.9
TNMG160404R-S 2635 | 0.4 | 2.3 [ERuCEEE ey 0.8 | 1.9
R-S L-s TNMG160408R-S ZC35 | 0.8 | 2.3 RENIE Sy yy s rog JPSEN
~<-‘-ee~4.;mie‘g-5,:5uc‘-—‘ Sk 2 lga) U S pdh oS ) guan
= TNMG160404-TM 2625 | 0.4 | 2.3 _
- TNNGT60408-TH 2625 | 08 | 2.3 [ e e 04| 7
"‘ ~ TNMG160412-TM €25 | 1.2 | 2.3 — : :
Jill S ol ilaaga @ paien
u)iAA@'i‘A' a2 S il sl U S aTa S ) guan
TNMG160404-TM €35 | 0.4 | 2.3 TNMG160404-TS ZN60 | 0 4 9
TNMG160408-TM €35 | 0.8 | 2.3 W it TNMG160408-TS ZN60 | 0.8 9
wuuu o leal U S 0a S mn
TNMG160402-HA ZKO1 | 0.2 | 1.9
TNMG160404-HA ZKO1 | 0.4 | 1.9
TNMG160408-HA ZKO1 | 0.8 | 1.9
patie a—ﬁa—«;—‘:‘ 25l S
TNMA160404 ZK50 0.4 | 2.3
TNMA160408 ZK50 0.8 | 2.3
Ty Cve S E N | 2 A A om0 o
MedumRougn ¢S ~baa )3 ' ' ® ® TNGG160404L-P ZN9O | 0.4 6
iz T
ﬂk TNGG160402R-P ZN90 | 0.2 6
TNMG160404-HA ZM30 | 0.4 | 2.3 RP |2 TNGG160404R—P ZNOO | 0 4 V)
TNMG160408-HA ZM30 | 0.8 | 2.3 Tl Sosgh Cn S
2 leal U 33 o
TNMG160404-MA ZM30 | 0.4 | 2.3 ool BoS eis S s
HA MA TNMG160408-MA ZM30 | 0.8 | 2.3
;5\4,,.44.,»,. s34 JJJu L)A_}j_‘_‘_‘.ul
y \ TNMG160404-MQ ZM30 | 0.4 | 2.3
- _ TNMG160408-Ma ZM30 | 0.8 | 2.3
— y N e TNGG160402L-S ZN90 | 0.2 6
Sotiagae 33 hibas pasliha @ .| TNGG160404L-S ZN9O | 0. 4 6
A H TNGG160402R-S ZN9O | 0.2 6
R-5 L-S TNGG160404R-S ZN90 | 0. 4 6
TNMG160404-MS ZM30 | 0.4 | 2.3 Qi) e Gapa S
TNMG160408-MS ZM30 | 0.8 | 2.3 o leal U ia 58 g paan
&i.u:,;.u 52 d,!ﬁ.u U.n,!l.’\,ﬁ.u

= o el b 5 GaST (Cuph as Gl ),

el Cae s USD cows sy 530 35 015,

sis8 S o1 S eva@mzgtool.cn http://www.mzg.tw

JAL_.\J?A ol e g8 Lo Y s

0208 daw !


http://www.mzg.tw

— [&FR) JS JALa
Turning Inserts

Jasbaad S Gle giiaa - § Jsbiad S Gile giiaa
VBMT110302 CBN1 0.2 | 6.9
VBMT110304 CBN1 0.4 | 6.9
VBMT160402 CBN1 0.2 | 6.9 VNMG160404 CBN1 0.4 | 6.9
8 VBMT160404 CBN1 0.4 | 6.9 VNMG160408 CBN1 0.8 | 6.9
. VBMT160408 CBN1 0.8 | 6.9 S gl gl s
VCGT110302 CBN1 0.2 | 69 S S JECHES
VCGT110304 CBN1 0.4 | 6.9
VCGT110308 CBN1 0.8 | 6.9
VCGT160404 CBN1 0.4 | 6.9 VNMG160404 PCD1 0.4 | 69
Gim ) sl S VCGT160408 CBN1 0.8 | 6.9 - VNMG160408 PCD1 0.8 | 6.9
w2 G ila 3l e VCGT160412 CBN1 1.2 | 6.9 R
adh | Sadie
VBGT110301 PCD1 0.1 | 6.9
xggmgggﬁ Egg} 8‘21 2-3 VNMG160404-TM ZC25 | 0.4 | 2.7
Vi i 0s | o9 VNMG160408-TM 2C25 | 0.8 | 2.7
VBGT160402 PCD1 0.2 | 6.9
VBGT160404 PCD1 0.4 | 6.9 16 8 e a2 e 12 € i
VBGT160408 PCD1 0.8 | 6.9
. VCGT110301 PCD1 0.1 | 6.9
VCGT110304 PCD1 0.4 6.9 VNMG160408-TM ZC35 0.8 2.7
VCGT110308 PCD1 0.8 | 6.9 3 e o
VCGT160401 PCD1 0.1 | 69 g
VCGT160402 PCD1 0.2 | 6.9 B :
VCGT160404 PCD1 0.4 | 6.9
VCGT160408 PCD1 0.8 | 6.9
ssiashl 55l S VCGT160412 PCD1 1.2 | 6.9 VNMG160404-AL ZKO1 0.4 | 2.3
AR VNMG160408-AL ZKO01 0.8 | 2.3
3 iye sl gl lS
VBGT110302-AL ZKO1 0.2 | 1.1 facie pde sl O30 M
VBGT110304-AL ZKO1 0.4 | 1.1 A alie
VBGT160402-AL ZKO1 0.2 | 2.0
VBGT160404-AL ZKO1 0.4 | 2.0
VBGT160408—-AL ZKO01 0.8 2.0 VNMG160404 ZM30 0.4 2.7
VNMG160408 ZM30 0.8 | 2.7
VCGT110302-AL ZKO1 0.2 | 1.1
VCGT110304-AL ZKO1 0.4 | 1.1 i
VCGT160402-AL ZKO1 0.2 | 2.0 Slinatna 5o e aglizhs
s it bl el ulS VCGT160404-AL ZKO1 0.4 | 2.0
ri pian sl sl g VCGT160408-AL ZKO1 0.8 | 2.0
e
VNMG160404-HS ZM30 | 0.4 | 2.7
VNMG160408-HS ZM30 | 0.8 | 2.7
VBMT160404-MV ZM30 | 0.4 | 3.7
VBMT160408-MV ZM30 | 0.8 | 3.7
VNMG160404-MT ZN6O | 0.4 | 2.3
VNMG160408-MT ZN60 | 0.8 | 2.3
VBMT110304-HQ ZN6O | 0.4 | 2.7 (el 58 23] s s e
VBMT160404-HQ ZN60 | 0.4 | 3.4 o el DR i 58 ggees
Sl Sl 5l s a5 ke
o Lpal )8 a5 oS guan
VBMT160404-MT ZN6O | 0.4 | 3.6
) Saed ) il (s oaien
o lea) LS 233 4S  guaa
T, VBGT110302L ZN90 0.2 | 47
i = | \BGT110304L ZN90 0.4 | 4.7
afaal S S 8
i Ln LS a5 o pan
//* -
et VBGT110302R-Y ZN90 | 0.2 | 4.7
= VBGT110304R-Y ZN9O | 0.4 | 4.7
difasl Spgd S 8
= Ll L8 A58 oS ) puan

=2 o Jald G 5) a8t (g Gpe el o),

el Uae s USD caesd i 330 5 115,
G208 dae 6] g o) 55 om Vs S S ol S eva@mzgtool.cn http://www.mzg.tw



http://www.mzg.tw

= Laa S JAla
Turning Inserts

Daslaald S Gle giaa Nl Jasbaal S Gle giiaa

Y i s
@ | mwessoscan 04 o f’é? IWCoB040s- WA 2u30 | 04 | 2.6
: : ey WNMGOBO408-MA ZM30 | 0.8 | 2.6
WNMGO80412 CBN1 12 | 6.9 ——
;‘,\:'..m_)_}\:.l_ﬁ AL c. . s
sia o p€ e dlse S5 g3 s ool
B0 o Dy | &3 WNMGOB0404-MQ ZM30 | 0.4 | 2.6
: : WNMGOBO408-MQ ZM30 | 0. & | 2.6
WNMAQB0408 PCDI 08 | 69
paianslal 55l AL c. .
T
‘ WNMGOB0404-0Q 2625 | 0.4 | 2.6 }
/ \\\ WNMGO80408-CQ 2625 | 0.8 | 2.6 NIOB0d0a s 20 | 0.4 2.0
e WNMGO80412-CQ 2C25 | 1.2 | 2.6 : :
S e alEEAL e s S el S g gy Jfls udihis
[}
2’7/ L £ —
L WNMGOB0404-HQ ZC25 | 0.4 | 2.6 WNMGOBO404-HS ZN6O | 0.4 | 2.3
WNMGO80408-HQ 2625 | 0.8 | 2.6 2 e WNMGOBO408-HS ZN6O | 0.8 | 2.3

w

il Sed ) JL_&_‘JJL«.

68 (e aliin) e ja S il el U S i oS L paan
p L o
/A - WNMGOB0404AL-S 2625 | 0.4 | 2.6
-—;Q B3 | 'WNME0BO40BL"S 2625 | 0.8 | 2.6 = X WNMGOBO404-HA ZN6O | 0.4 | 2.3
Samge® WSS | WNMG0B0404R-S ZC25 | 0.4 | 2.6 e WNMGO80408-HQ zN60 | 0.8 | 2.3
R-S L-s WNMGOBO408R-S 2625 | 0.8 | 2.6

Jital Saaed ) 3lhos o iew
s leal U S 233 S jgaan

_ij_uﬁ...u 52 E_..us A~ 6...»5 é J,}l.u

WNMGO80404L-S ZC35 0.4 2.6 / \ WNMGO80404L-X ZN60 0.4 2.3
WNMGO80408L-S ZC35 | 0.8 | 2.6 QSS 220 WNMGOBO408L-X ZN6O | 0.8 | 2.3
WNMGO80404R-S ZC35 0.4 2.6 WNMGO80404R-X ZN60 0.4 2.3
WNMGO80408R-S ZC35 0.8 2.6 Q L-§ WNMGO80408R-X ZN60 0.8 2.3
Cerme( Med\um And Rough Steel
FUPYREI S
WNMGO80404-TM ZC25 0.4 2.6 G\, WNMGOB0404-MT ZN60 0.4 23
WNMGO80408-TM ZC25 0.8 2.6
WNMGO80408-MT ZN60 0.8 2.3
WNMGO80412-TM ZC25 1.2 2.6 v
™ ZC25 TM ZC35 Uil Sagd a3 52
68 oobe oalTA] ileaja (S ) L u:”sc-:' S
2 leal L )S 38 oS ) gean
WNMG080408-CM ZC25 0.8 2.6 WNMG080404-TS ZN60 0.4 2.3
WNMGO80412-CM ZC25 1.2 2.6 WNMGO80408-TS ZN60 0.8 2.3
8 b paliial ilae )0 S Ui bl Saed 5h Sl o (5 )diens
A s el LS a2 58 ) puaa
WNMG080402-HA ZKO1 0.2 2.3
WNMGO80404-HA ZKO1 0.4 2.3
WNMGO80408-HA ZKO1 0.8 2.3
padie paiae shl BEISE
3 g
s WNMGO80404-HA ZM30 0.4 2.6
¢ WNMGO80408-HA ZM30 0.8 2.6
Sz 5 s Jifir (ualishis
WNMA080404 ZK50 0.4 2.6
WNMA080408 ZK50 0.8 2.6
S8 le G il (Sl Sls
WNMG080404 ZK50 0.4 2.6
WNMGO80408 ZK50 0.8 2.6
8 el ada il s (S o T Els
o U Dl b ) (S g d e Caagd s,

sheS (e 0o USD e s 300 5 LIS, ) -
S Jie 51 3l ol 55 o Y s L35S S TS eva@mzgtool.cn http://www.mzg.tw


http://www.mzg.tw

Aﬂ 1€ Kas Jﬁ & _gaa 94

Thread Turning Tool

Jaslaal 65 Gle giuaa 2 Jaslaal 65 Gle giaa
o 16ER 050150 ZP10 0.50 2.0
Machining 16ER 075150 ZP10 0.75 2.0
16ER 1001S0 ZP10 1.00 2.0 16ER 2TR ZP10 2.0 2.0
16ER 1251S0 ZP10 1.25 2.0 16ER 3TR ZP10 3.0 2.0
16ER 1501S0 ZP10 1.50 2.0
16ER 175180 ZP10 1.75 2.0
16ER 2001S0 ZP10 2.00 2.0
16ER 250180 ZP10 2.50 2.0
PCD13L‘ . 16ER 3001S0 ZP10 3.00 2.0
piaa sl gl 16ER 3501S0 ZP10 3.50 2.0
A i 16ER A60 ZP10 0.5-1.5 | 2.0 }2:5 §$2 §E18 %8 %8
/ 16ER AG60 PCD1 0.5-3.0 6.9
16ER AG60 ZP10 0.5-3.0 2.0
16ER G60 ZP10 1.5-3.0 2.0 Sz g gn Ay 358 F1ysm gl
22ER 3501S0 ZP10 3.50 531 ZP10
22ER 400180 ZP10 4.00 5.1 General
— 22ER 500180 ZP10 5.00 5.1 Machining 16ER 11W ZP10 Tinch1 1100th 2.0
6030 S he s | 22ER 6001S0 ZP10 6. 00 5.1 16ER 14W ZP10 1inoh14700ty 2.0
Sispn s g3 § sua 50 22ER N60 ZP10 3.5-5.0 5.1 16ER 19W ZP10 Tinch19700th 2.0
16ER 24W ZP10 Tinch24100th 2.0
SER1616H16 - 7.1 pCD1 16ER 8W ZP10 11nch8Tooth | 2.0
SER2020K16 . 71 ptashsl Os) S 16ER A55 ZP10 0.5-1.5| 2.0
SER2525M16 - 9.3 piA (sipwia & 16ER AG55 PCD1 0.5-3.0| 6.9
SER2020K22 Al 9.6 ) 16ER AG55 ZP10 0.5-3.0( 2.0
SER2525M22 - 13.1 16ER G55 ZP10 1.5-3.0| 2.0
B-SEL SER SER3232P22 - 20.3 - 22ER N35 ZP10 3.5-5.0| 5.1
B-SEL1212H16 - 9.6 55° [EEBIIY- -
B-SEL1616H16 - 9.6 Oliaitan g 33 & gala ga
iy g smse iy | B-SEL2020K16 - 9.6 ZP10
: B-SEL2525M16 - 13.1 it 06IR A55 ZP10 0.5-1.25| 4.7
ZP10 06IR A60 ZP10 0.5-1.25 4.7 08IR A55 ZP10 0.5-1.5| 4.1
General 08IR 1501S0 ZP10 1.50 4.1 111R 19W ZP10 Tinch19Tooth 2. 0
Machining 08IR A60 ZP10 0.5-1.5 4.1 161R 11W ZP10 Tinch11700th 2.0
111R 1501S0 ZP10 1.5 2.0 161R 12W ZCO1 Tinch12700th 2.0
111R 2001S0 ZP10 2.0 2.0 161R 14W ZP10 Tinch14700th 2.0
11I1R A60 ZP10 0.5-1.5 2.0 PCD1 161R 19W ZP10 Tinch19T00th 2.0
161R 0501S0 ZP10 0.50 2.0 paizasha) 55l S 161R A55 ZP10 0.5-1.5| 2.0
161R 0751S0 ZP10 0.75 2.0 piA Siadia 161R AG55 PCD1 0.5-3.0| 6.9
161R 1001S0 ZP10 1.00 2.0 161R AG55 ZP10 0.5-3.0| 2.0
R R 1501S0 ZP10 1.50 2.0 e i)y e i ; -5. \
erastl sl s 16IR 175150 ZP10 1.75 | 2.0 . Lha il e
PR e 16IR 200150 ZP10 2.00 2.0 S fase
IRz DRIONY - 250 | 290 R 1O 2010 1t 20
16I1R 350180 ZP10 3: 50 2' 0 16ER 14UN ZP10 Tinch14100th 2.0
161R A60 ZP10 0.5-1.5 2'0 16ER 16UN ZP10 Tinch16700th 2.0
161R AG60 PCD1 0: 5_3: 0 6:9 16ER 18UN ZP10 Tinch18T00th 2.0
161R AG60 ZP10 0.5-3.0 2.0 60 A2 ota (i el (o5 el 16ER 20UN ZP10 11nch20T00th 2.0
16IR G60 ZP10 1.5-3.0 | 2.0 Ky g g
22IR 350180 ZP10 3.50 5.1
221R 4001S0 ZP10 4.00 5.1 161R 12UN ZP10 Tinch1 2700ty 2.0
221R 5001S0 ZP10 5.00 5.1 161R 14UN ZP10 Tinch14t00th 2.0
60° ¢ o5 503 Syde | 22|1R 6001S0 ZP10 6. 00 5.1 16IR 16UN ZP10 Tinch 16700t 2.0
Riigs 9 )3 & saa 50 221R N60 ZP10 3.5-5.0 51 16IR 18UN ZP10 1inch18700th 2.0
161R 20UN ZP10 1inch20T00th 2.0
SNROO05K06—-A12 - 7.1
SNRO007J08 - 5.1
SNRO0O08K08 - 5.1 16ER 11BSPT ZP10 Tinch11700th 2.0
16ER 14BSPT ZP10 Tinch14100th 2.0
SNROO10K11 - 1 16ER 19BSPT ZP10 Tinch 19700t 2.0
SNROO12M11 P 54 16ER 28BSPT ZP10  |11nch28700t] 2.0
st ol e lee gl S ol
SNROO13N16 - 6.1 R s
SNROO14N16 - 6.7 -
SNRO016Q16 - 6.7
SNROO20R16 - 7.1 16IR 11BSPT ZP10 Tinch11700th 2.0
SNR0025S16 L\ 1.7 161R 14BSPT ZP10 Tinch14700th 2.0
SNRO032T16 - 20.3
SNROO20R22 - 10.7
Je il SNR0025S22 - 14.3
. SO SNR0O032T22 - 22.9
Rasga 5 )3 § 922 54 16ER 11.5NPT ZP10 111, Braen| 2.0
16ER 14NPT ZP10 Tinch14t00th| 2.0
TKFT. . TTP. . 16ER 18NPT ZP10 Tinch18Tooth| 2.0
< TKFT6001 ZP15 0.5-3.0 | 5.9 £ e 18 i A s )
Sl 5 3 & 5a 54 (555
B0 a0 S e TTP6001 ZP15 0.5-3.0 5.9
e e B
TP 161R 11.5NPT ZP10 inch11. Btooth 2. 0
o 161R 14NPT ZP10 Tinch14100th| 2.0
pum—=q TTPR12 - 9.3 _ ,
TTPR16 - 1.7 Elosm 2503) el i A 3 0
S 5 0 § a2 50

= o Jald G 5] a8t (g ) e il ),

- s e Lo ooa USD e 00 3315 113,
08 Jie 8 il em sl 53 G ¥ 35S S Gl 81 eva@mzgtool.cn http://www.mzg.tw



http://www.mzg.tw

LS Joasd oS ) gaan L & > | Ugan 3 EYEN | <l &<

Cut-Off/Grooving/Back Turning Of Small Parts

Jeslaald S Gle siuaa

&

_LOA

s b bl 01L5-5 1M 3 E Lal 1-2.2 i
2 5 L BIS (il 3 s ple

T16E100 ZP15
T16E150 ZP15
T16E160 ZP15
T16E200 ZP15
T16E250 ZP15
T16E300 ZP15

IO =
cvwoouo

\L B STTE . P

Jeslaald S Gle giuaa

/_&___,)_ Gl Gl &S

TKF12R100-S ZP15
TKF12R150-S ZP15
TKF12R200-S ZP15
TKF16R100-S ZP15
TKF16R150-S ZP15
TKF16R200-S ZP15

SER1616H16
SER2020K16
SER2525M16

O NN

Sy gy Gl GIES _an Hgea

TKF12R100-S16R ZP15
TKF12R150-S16R ZP15
TKF12R200-S16R ZP15
TKF16R100-S16R ZP15
TKF16R150-S16R ZP15
TKF16R200-S16R ZP15

&
K.

&3 SO ;;’)j;‘éj;‘yus—awvwmd-‘~)1§ Js)122mm
s LS s BLS (el )3 3l 5 ple

T11N100 ZP15
T11N150 ZP15
T11N200 ZP15

T16N100 ZP15
T16N150 ZP15
T16N160 ZP15
T16N180 ZP15
T16N200 ZP15
T16N230 ZP15
T16N250 ZP15
T16N300 ZP15

Moo=
ocwo

BANNN = = ==
CUWO oo

W
coco

OCOO0OO0OOOO0OO0O

<D

SIS 3 |
T = ugmas s o4l

TKFB6001 ZP15

f

SNROO10K11
SNROO12M11

SNROO13N16
SNROO14N16
SNR0016Q16
SNROO20R16
SNR0025S16

QO | PWWWWWwW
PN

INooo
LeNNo

&

KTKFSL.

KTKFSL1010JX12
KTKFSL1212JX12
KTKFSL1212JX16

_m_ﬁ,)“_.u_.mscm:.c.x_-.

CTP10FR ZP15
CTP15FR ZP15
CTP20FR ZP15
CTPA10FR ZP15
CTPA15FR ZP15
CTPA20FR ZP15

Ny
cuvwocowuo

oo oY
[eNFoNFoNINCRNCRN)

KTKFR..

KTKFRO810JX12
KTKFR1010JX12
KTKFR1212JX12
KTKFR1616JX12

KTKFR1010JX16
KTKFR1212JX16
KTKFR1616K16

KTKFR2020JX16

FeB syl A

CTP10FRN ZP15
CTP15FRN ZP15
CTP20FRN ZP15
CTPA10FRN ZP15
CTPA15FRN ZP15
CTPA20FRN ZP15

N
cuwocowuo

oo
000000

CTPSL
CTPASL.

CTPSL10
CTPSL12

CTPASL10
CTPASL12
CTPASL16

-
Ny}

O~

N
~pmo

\:

44“ _i;sjjji o 4> ?L“A‘

FVC1604R150 ZP15
FVC1604R200 ZP15
FVV1604R300 ZP15

CTPR/CTPAR. .

CTPRO8
CTPR10
CTPR12
CTPR16
CTPR20

CTPAR10
CTPAR12
CTPAR16
CTPAR20
CTPAR25

-
N

000
~NPPPo | wow

-
o

_\_\
AO000
w~NPPAH

SVQCR2020K16-NJ

EolE Lsmn e ol

TTB6001 ZP15

5.9

adie Kb gy K oy alizal

[

VC1604R250 ZP15
VG1604R300 ZP15

TBPR10
TBPR12

TBPAR10
TBPAR12
TBPAR16

00
INEN

000
NN

SGIVFR.

SGIVFR16Q16
SGIVFR20Q16
SGIVFR25R16

= oM Jald (uad
el Cae s USD cows sy 330 5,015,

G2US Jim 51 3l ol 55 0m Y w358 S TSI eva@mzgtool.cn

25

| eSS o D8 Uae Giedd ),

http://www.mzg.tw

cuvuocowuo
ocococoao
O O~ O~ "0 0 O

cuvuocouo
ocococooo
OO O~ 0 0 ©

voo

5000
\‘-b-b-b B e

LN~
cow
RS
www

W
owm
Bl
ww



http://www.mzg.tw

ATIE Kas 5 Kadg 58 3l g m
External Cylindrical Grooving Turning Tool

Jasbal S ile gicas

Width USD

TGF32R050 ZP15
TGF32R080 ZP15
TGF32R100 ZP15
TGF32R110 ZP15
TGF32R120 ZP15
TGF32R125 ZP15
TGF32R130 ZP15
TGF32R140 ZP15
TGF32R150 ZP15
TGF32R160 ZP15
TGF32R170 ZP15
TGF32R180 ZP15
TGF32R190 ZP15
TGF32R200 ZP15
TGF32R210 ZP15
TGF32R220 ZP15
TGF32R230 ZP15
TGF32R250 ZP15
TGF32R260 ZP15
TGF32R270 ZP15
TGF32R280 ZP15
TGF32R290 ZP15
TGF32R300 ZP15

bl % Lt

-
O\OCD\IO\LDW!\)AOOCD\IO\W#@&I\)—\OWU'!

WNNNNNNPONNN = =S =
NP RNNDNNDRPNNDNNDNNDNNNDNNDND

(o3 e e e e e e e Nlo e e NN e e e e e N Mo e N

Jaslaal S Eile yican

TGF32L050 ZP15
TGF32L080 ZP15
TGF32L100 ZP15
TGF32L110 ZP15
TGF32L120 ZP15
TGF32L125 ZP15
TGF32L130 ZP15
TGF32L140 ZP15
TGF32L150 ZP15
TGF32L160 ZP15
TGF32L170 ZP15
TGF32L180 ZP15
TGF32L190 ZP15
TGF32L200 ZP15
TGF32L210 ZP15
TGF32L220 ZP15
TGF32L230 ZP15
TGF32L250 ZP15
TGF32L260 ZP15
TGF32L270 ZP15
TGF32L280 ZP15
TGF32L290 ZP15
TGF32L300 ZP15

NN = Y =)

O\OCO\IO\(ﬂ(AJI\)—\O\OCO\IO\U'!b(AJEN—\OmU'\

PR = =R ==
MRV NN RPN D DR N ESN
eNFoNI'< NI N N NYe NYe Yo NFoNFe ' NI’ Ni'e Ni'e N NYe NYe o NFe N NI NEe N

KTGFR1010H16 - 6.9 KTGFL1010H16 ~ 6.9
KTGFR1212H16 - 6.9 KTGFL1212H16 - 6.9
KTGFR1616H16 - 6.9 KTGFL1616H16 - 6.9
KTGFR2020K16 - 6.9 KTGFL2020K16 - 6.9
KTGFR2525M16 - 9.0 KTGFL2525M16 - 9.0
KTGFL.
KTGFR1010H16F - 6.7 KTGFL1010H16F - 6.7
KTGFR1212H16F - 6.7 KTGFL1212H16F - 6.7
KTGFR1616H16F - 6.7 KTGFL1616H16F - 6.7
KTGFR2020K16F = 6.7 KTGFL2020K16F = 6.7
KTGFSL1010H16 - 6.9 KTGFSR1010H16 - 6.9
KTGFSL1212H16 5 6.9 KTGFSR1212H16 . 6.9
KTGFSL1616H16 > 6.9 KTGFSR1616H16 v 6.9
KTGFSL2020K16 - 6.9 KTGFSR2020K16 - 6.9
KTGFSL2525M16 - 9.3 KTGFSR2525M16 - 9.3
KTGFSL. . KTGFSR.
S16N-KTGFL16 - 9.3 S16N-KTGFR16 - 9.3
S20Q-KTGFL16 - 1.0 S20Q0-KTGFR16 - 1.0
S25R-KTGFL16 - 13.1 S25R-KTGFR16 - 13.1

S. . —-KTGFL.

S. . -KTGFR.

2 ot dald b s S Qa8 Gae Sl ),

sl 68 e ea USD s s 330 55 113,

08 i ) (5l e o) 3 655 U Y g (35S S QT S eva@ngtoo|_cn

http://www.mzg.tw


http://www.mzg.tw

Elosm il [ )3k L3 m Grooving A LS Kas j3
External Cylindrical Grooving Turning Tool

Width USD

sbeat S cile giaa

Grooving (siyie

il e

GER100-A ZP15
GER150-A ZP15

SI1GER0606A-EH
S|GERO808A-EH

dﬁ.u\ )L«r_.l

S|1GERO808A-EHT

RGN
oo

Width USD

bl
~N~

19.0
1.9

1.9

GER100-B ZP15
GER150-B ZP15
GER200-B ZP15
GER250-B ZP15
GER300-B ZP15

SIGER1010B-EH
SIGER1210B-EH

Jiial Sl

SIGER1010B-EHT
SIGER1210B-EHT

DN = =
ocuvwouwo

e
NN~

Grooving (Sie

Ul e

GER100-C ZP15
GER150-C ZP15
GER200-C ZP15
GER250-C ZP15
GER300-C ZP15
GER350-C ZP15

SIGER1412C-EH
SIGER1616C—-EH

SIGER1412C-EH

WWNN ==

oo ouoo

PRARMN
NNNNNN

GBA43R250 ZP15 2.5 6.1
GBA43R300 ZP15 3.0 6.1
GBA43R350 ZP15 3.5 6.1
GBA43R400 ZP15 4.0 6.1
GBA43R450 ZP15 4.5 6.1
35 SO s A 530 1.0-4.8mn
1S S S Qaiien05.0m
o CJS\_-.A )S _\\j.A ?Lr_
Ala G Cpdnand) 3
CGBR. .
CGBR1616H43 - 9.3
CGBR2020K43 - 13.1
CGBR2525M43 - 16.4
CGBSL2020K43 - 12.4
CGBSL2525M43 - 19.0
SGBR1616H43 - 6.7
SGBR2020K43 - 6.7
SGBR2525M43 - 9.0
SGBSL..
SGBSL2020K43 - 10.
SGBSL2525M43 - 14.
GBA43L250 ZP15 2.5 6.1
GBA43L300 ZP15 3.0 6.1
GBA43L350 ZP15 3.5 6.1
GBA43L400 ZP15 4.0 6.1
GBA43L450 ZP15 4.5 6.1

‘|
N %

35 SO (5 530 1.0-4.8m

6J|)4,§ SS C.’\j\S A3342.0-5.0 mm

38 S o) sa ale

6 SI1GER. .

.

Grooving (e

e SIGER. .

GER100-D ZP15
GER150-D ZP15
GER200-D ZP15
GER250-D ZP15
GER300-D ZP15
GER400-D ZP15

S1GER2020D-EH
SI1GER2525D-EH

AN~

oo Uouo

goaoaoao
GO

o>
~w

a - CaBL

L
—

Grooving (stadia

7GR100 ZP15
7GR150 ZP15
7GR200 ZP15

SNGR08J0O7
SNGR10K07

Jei) Sl

SNGR10K07

N — —

[@N¢, Ne)

Ho NI
oo o

.
oo

—

Grooving Heds

SNGR. . daml Jla

8GR200 ZP15
8GR300 ZP15

SNGR10K08
SNGR12M08

daias) g

SNGR10K08

wnN

oo

~O O

©
oo

CGBL1616H43 3 9.3
CGBL2020K43 - 13,1
CGBL2525M43 - 16 4
4 CGBSR2020K43 \ 12.4
CGBSR2525M43 - 19.0
SGBL1616H43 - 6.7
SGBL2020K43 - 6.7
SGBL2525M43 - 9.0
SGBSR.
SGBSR2020K43 - 0.7
SGBSR2525M43 - 143

Grooving (s

“.

9GR100 ZP15
9GR200 ZP15
9GR250 ZP15
9GR300 ZP15

SNGR12M09
SNGR16Q09
SNGR20R09

whN =

oo o

wwww
cococo

AA
w=22
-0 °

= o Jald G 5) a8t (g pa il o),

s eS Lo oo USD e 080 3315 113,

008 die 1 il ol 53 o Y 358 S T Sk eva@mzgtool.cn

http://www.mzg.tw



http://www.mzg.tw

GI’OOVing / TS B f Gl Gl s
Grooving/Cut-Off Turning Tool

Jashal S Gile giiaa 2l Dasbead S Gile giias Jaadl Width USD

S ) st oS MGMN150 CBN1 1.5 6.9
e MGMN200 CBN1 2.0 6.9 MRMN200-G ZP30 R1.0 1.6
MGMN250 CBN1 2.5 6.9 MRMN200-M ZP30 R1.0 1.6
MGMN300 CBN1 3.0 6.9 MRMN300-M ZP30 R1.5 1.6
MGMN400 GBN1 4.0 6.9 -G -M MRMN400-M ZP30 R2.0 2.0
MGMN500 CBN1 5.0 6.9 Grooving s e
prizashl sl S 20250 g g il
RIGET YN MGMN150 PCD1 1.5 6.9 ALyl s SalS
MGMN200 PCD1 2.0 6.9 s 68 ile )5
MGMN250 PCD1 2.5 6.9 -
MGMN300 PCD1 3.0 6.9 MRMN40O CBN1 R2.0 6.9
MGMN400 PCD1 4.0 6.9

m\
f || MGEN300 ZP15 3.0 1.6 MGEHR1010-1. 5 1.5 | 9.0
?\I/ MGGN40O ZP15 40 | 1.7 R (0 20 |90
& i s MGEHR1212-1.5 1.5 | 9.0
Gromving /- o WA = 2 MGEHR1212-2 20 | 9.0
Y MGEHR1212-3 3.0 | 9.0
( || MGEN200-Q ZP15 2.0 | 1.7 MGEHR1616-1. 5 1.5 | 6.7
W | MmeeN300-q zP15 3.0 | 1.7 MGEHR1616-2 2.0 | 6.7
~ 8" Taper & MGEHR1616-2. 5 2.5 6.7
S 3 39 i ol 2 MGEHR1616-3 30 | 67
) S\ MGEHR1616—4 4.0 | 67
( i /| meaN200 ZKOT 2.0 | 1.7 MGEHR%g%g—; 5 ; 8 2. 7
' \ /| MGGN300 ZKO1 3.0 | 1.9 MGEHR2020- _ 7
Cﬂppmmmm\ | MeaN400 ZKOT 4.0 | 2.3 MGEHR2020-2. 5 2.5 | 6.7
me s 3.0 | 6.7
MGGN150 ZP30 1.5 1.7 MGEHR2020-5 50 6.7
o [ 2.0 | 1.7 MGEHR2020-6 6.0 | 83
“‘ “‘ MGGN250 ZP30 2.5 1.7 MGEHR2525-1. 5 1.5 9.0
\ /| MGGN300 ZP30 3.0 1.7 MGEHR2525-2 2.0 9.0
- 7| meGN400 zP30 4.0 | 2.0 MGEHR2525—2. 5 25 | 90
Grooving fsj_i.u.\:!.\.u}_)% sl sl & MGGN500 ZP30 5.0 227 MGEHR2525-3 3.0 9.0
MGGN150R-8 ZP30 1.5 | 1.7 mggﬂgggg:‘s‘ ‘5‘-8 3-8
| MeGN200R-8 ZP30 2.0 | 1.7 e N | 107
e | MGGN250R-8 ZP30 2.5 | 1.9 - : :
’ w w MGEHR3232-2 2.0 | 16.4
J /| MGGN30OR-8 ZP30 3.0 | 2.0 MOENRI237-3 S0 | 1oa
8° Taper 4~ | MGGN4OOR-8 ZP30 4.0 | 2.4 » e S0 | e
Sy p il i &5 | MGGNSOOR™8 ZP30 5.0 W~ Sles /K08 LSSl | MGEHR3232-5 50 | 164
MGEHR3232-6 6.0 | 17.9
— MGGN150L -8 ZP30 ol il ol MGEHR1010-1. 5T12 1.5 | 10.7
“me | MGGN200L-8 ZP30 2.0 | 1.7 MR yo | 107
[ || MGGN250L-8 ZP30 2.5 | 1.9 MaEHn 9192 &T1 2
g B | MeeN300L-8 ZP30 3.0 | 2.0 MoEHe 5150712 ol et
Taper MGGN40OL-8 ZP30 4.0 | 2.4 o a1e iz 20 S
MGEHR1616-2T16 2.0 | 9.0
MGEHR1616-2. 5T18 2.5 | 9.0
MGMN150-G ZKO1 1.5 1.7 MGEHR1616-3T12 3.0 9.0
MGMN200-G ZKO1 2.0 1.7 MGEHR1616-3T20 3.0 9.0
MGMN200-M ZKO1 2.0 1.7 MGEHR1616-4T20 4.0 9.0
e MGMN300-M ZKO1 3.0 1.7 MGEHR2020-1. 5T13 1.5 9.6
- 400 1 20 | 20 MGEHR2020-2T16 2.0 | 9.6
Copperarluminim VGHNAOO=H ZKO MGEHR2020-3T20 3.0 9.6
Srasvagt by ol il o MGEHR2020-4T20 4.0 | 9.6
. G &S/ Sy, € LSl MGEHR2525-3T20 3.0 | 11.0
MGMN200—G ZN60 2.0 1.4 MGEHR2525-4T20 4.0 | 11.0
MGMN300-M ZN60 3.0 1.7
MGMN40O-M ZN6O 4.0 2.0 MGEHL1010-1.5 1.5 | 9.0
. MGMN500-M ZN60 5.0 2.7 MGEHL1010-2 2.0 | 9.0
Lo el Sl p o | MGEHL1212-1.5 1.5 | 9.0
ol A58 Ropen S0 MGEHL1212-2 20 | 9.0
MGMN200-T ZP30 20 | 1.6 MGEHL1616-1.5 1.5 | 6.7
MGMN300-T ZP30 3.0 | 1.6 MGEHL1616-2 2.0 | 6.7
MGMN400-T ZP30 4.0 2.0 nganlgzg.S %g 2.;
H o T | MGMN300-H ZP30 3.0 | 1.6 MGEHL1616-4 4.0 | 6.7
> il R
£ ~ ¢ | mewn200-6 ZP20 2.0 | 1.6 MGEHL2020-2. 5 2.5 | 6.7
MGMN250-G ZP20 2.5 | 1.6 MGEHL2020-3 3.0 | 6.7
il MGMN250-M ZP20 2.5 | 1.6 MGEHL2020-4 4.0 | 6.7
L i M MGMN300-M ZP20 3.0 | 1.6 MGEHL2020-5 50 | 6.7
bl Grooving MGMN400-M ZP20 4.0 2.0 MGEHL2525-2 2.0 9.0
St 5y ol i 6 MGEHL2525-2. 5 2.5 | 9.0
MGMN150-G ZP30 1.5 | 1.6 mggntgg%gj o0 3-8
MGMN200-M ZP30 2.0 | 1.6 NOEL 2525 +0 | 38
MGMN200-G ZP30 2.0 | 1.6 aERL 20252 2.0 {PV,
MGMN250-M ZP30 2.5 | 1.6 MaEHL 29258 el 107
MGMN250-G ZP30 2.5 | 1.6 NOENL 323273 30 ] e
-6 -M a0 Zb0 2ol s MGEHL3232-5 50 | 16.4
die 3)b Grooving ' ) Gl &S/ By, 5l MGEHL3232-6 6.0 17.9
[ S sy il il S MGMN500-M ZP30 5.0 2.7 ERE ISR

=2 O Jald and ) eSS «Cia i e Ciead gl
s ae o USD coasd 0885 33005 LIS,
G108 i ) 3h g sl 53 G ¥ 35S S ol 81 eva@mzgtool.cn http://www.mzg.tw


http://www.mzg.tw

ﬁﬂ cs &3\.'\.'1)13 Ss.\j})g d).] ‘SJJJJJ\ / D el..u;\
End Face/lnner Hole Grooving Turning Tool

Dasbal (S Gle glaas Width USD asbal S Gle siuan Width USD
MGIVR2016-1. 5 1.5 9.3
MGIVR2016-2 2.0 9.3
MGHH320R-35/48 3.0 19.0 MGIVR2016-2. 5 2.5 9.3
MGHH320R-48/66 3.0 19.0 MGI1VR2016-3 3.0 9.3
MGHH320R-64/100 3.0 | 19.0 MGIVR2520-1.5 1.5 11.0
MGHH320R-98/160 3.0 19.0 MG1VR2520-2 2.0 11.0
MGHH320R-160/400 3.0 19.0 MGI1VR2520-2. 5 2.5 11.0
MGHH325R-35/48 3.0 | 28.6 MGIVR2520-3 3.0 11.0
MGHH325R-48/60 3.0 | 28.6 MGIVR2520-4 4.0 11.0
MGHH325R-60/75 3.0 28.6 MGIVR3125-1.5 1.5 13.1
MGHH325R-64/100 3.0 | 28.6 MGIVR2925-2 2.0 13.1
MGHH325R-100/140 3.0 | 28.6 MGIVR3125-3 3.0 13.1
MGHH325R-160/400 3.0 28.6 MGI1VR3125-4 4.0 13.1
MGHH325R-200/800 3.0 | 28.6 MGIVR3125-5 5.0 13.1
MGHH420R-48/60 4.0 19.0 MGIVR3732-3 3.0 26. 1
MGHH420R-60/75 4.0 19.0 MGI1VR3732-4 4.0 26.1
MGHH420R-64/100 4.0 19.0 MGIVR3732-5 5.0 26.1
MGHH420R-98/160 4.0 19.0 ERERY MG1VR3732-6 6.0 26. 1
MGHH420R-160/400 4.0 |19.0 Kigs & Jsa il
MGHH425R-48/66 4.0 28.6
MGHH425R-64/100 4.0 | 28.6 RERIEW
MGHH425R-100/140 4.0 | 28.6 o
MGHH425R-160,/400 4.0 | 28.6
MGHH425R-200/800 4.0 | 28.6
e (S IS
S e oA MG IVR2520-3T8 3.0 | 15.4
deial e MG | VR2520-4T8 4.0 15.4
MGHH320R13-30/50 3.0 21.9
MGHH320R15-50/80 3.0 21.9
MGHH320R17-80/160 3.0 21.9
L MGHH320R18-160/400 3.0 21.9 .
X MGHH325R18-160/400 | 3.0 | 23.9 P e
MGHH420R15-30/50 4.0 | 21.9 S5 8 I o
MGHH420R18-50/80 4.0 21.9
_ MGHH420R20-80/160 4.0 | 21.9 MGIVL2016-1.5 1.5 1 9.3
MGHH425R15-30/50 4.0 | 23.9 MGIVL2016-2 20 193
MGHH425R18-50/80 4.0 | 23.9 MGIVL2016-2. 5 2.5 1 9.3
MGHH425R20-80/160 4.0 | 23.9 MGI1VL2016-3 3.0 1 9.3
A MGHH425R20-160-400 | 4.0 | 23.9 MGIVL2316-3 3.0 | 9.3
e S OIS Hus MGIVL2520-1.5 1.5 11.0
By, € o en Hluial MG1VL2520-2 2.0 |11.0
RN ) MGIVL2520-2. 5 2.5 [ 11.0
) MG IVL2520-3 3.0 | 11.0
MGIVL2520-4 4.0 11.0
MGIVL2925-2 2.0 13.1
MGIVL3125-3 3.0 13.1
MFH216R08-20/140 2.0 16.7 MGIVL3125-4 4.0 13.1
MFH320R10-25/140 3.0 21.4 MGIVL3125-5 5.0 13.1
MFH325R10-25/140 3.0 24.6 - MGIVL3732-3 3.0 26.1
MFH420R12-25/140 4.0 | 21.4 S MGIVL3732-4 4.0 | 26.1
MFH425R08-25/140 4.0 24. 6 558 st o MGIVL3732-5 5.0 26.1
MFH425R10-25/140 4.0 24. 6
6.’1,3.5:4 455 )JS ™
Kad gy & o s Hlaza)
MGEVR1616-2 2.0 8.6
MGEVR1616-2. 5 2.5 8.6
MGEVR1616-3 3.0 8.6
MGEVR1616-4 4.0 8.6
MGEVR2020-2 2.0 8.6
MGEVR2020-2. 5 2.5 8.6
MGEVR2020-3 3.0 8.6
MGEVR2020-4 4.0 8.6
MGEVR2525-3 3.0 1.0
Kad g, & lSlily
MGEVL1616-2 2.0 8.6
MGEVL1616-2. 5 2.5 8.6
MGEVL1616-3 3.0 8.6
MGEVL1616-4 4.0 8.6
MGEVL2020-2 2.0 8.6
MGEVL2020-2. 5 2.5 8.6
MGEVL2020-3 3.0 8.6
MGEVL2020-4 4.0 8.6
MGEVL2525-3 3.0 11.0
KLaa 9 }g )leﬂgg

= o Jeld b o) (eS8 By b ae Caeid o),
shieS e 0o USD wias 088 330 05 IS,
G108 a1 3l g s 53 G ¥ (35S S ol 81 eva@mzgtool.cn

http://www.mzg.tw


http://www.mzg.tw

CNC Turning Tool

Jeslaald S Gle siuaa

Jasbad (S Gle glaaa Jeslaald S Gle siuaa

5.4
5.3
5.4
6.0
8.3
3232P 14.7 KTGFRIL..
4040R 21.9 ZQ.. oS @l Al s Kus gl as Grooving Turning Tool w28 5l
1616H 6.7 SPB226, 11.9 KTGFRI/L.. 1010 1.9
2020K 6.7 SP.. SPB326 11.9 Grooving Turning Tool S S35 1212 11.9
2525M 8.6 Y\ SPB426 11.9 1616 1.9
3232p | 14.7 - SPB232 14.3 - 2020 | 131
4040R 29.0 SPB332 14.3 - 2525 15. 4
. _ .| . SPB432 14.3
M LS Gl AT S K i lSUily SPB.. d,})s %_’1\3 PRIRES ».i.'\.'uj sl &S
1616H 6.7 SLTBN.. 1616 | 22.6 1010 7.1
2020K 6.7 ; 2020 22.6 1212 7.1
2525M | 8.6 [ 2525 | 22.6 1616 7.1
3232P 16.4 - 3232 29.7 2020 7.1
4040R 32.4 2525 9.3
KTGFSRIL..
W G208 Gl AT LS (K 3 \Slily : : A\
1616H 9.3 MGEHRI/L.. pud (S il &S 1010 7.1 1616 6.7
2020K 9.3 /Grooving Turning Tool 1212 7.1 2020 6.7
B 2525M 1.0 1616 6.4 2525 8.9
o 3232P | 14.6 2020 6.4
4040R 36.0 MGMN.. 2525 8.9
3232 16.4 SGBR/L
D UsoS ol AT LS S 5 Sy
S LS il AT 1S 43 J g 3 g0 S06K 5.4 MGEHRI/L.. pusd (oS il &S 1010 9.6 1616 9.0
SO7K 4.6 /Grooving Turning Tool 1212 9.6 2020 9.0
2 S08K 4.6 1616 8.9 ) 2525 1.9
=5  S10K 4.6 MGMN... 2020 9.6
S12M 5.0 2525 1.0
S14N 5.4 SGBSRI/L..
S16Q 5.7 N ot Grooving Turning Tool ¢: S ¢
$18Q 6.4 1616 8.6
SR | 6.4 202 | 86 I I
$258 9.7 2525 | 11.0 :
$32T 14. 6 2525 16.4
S40U 25. 4 MG 3232 21.9
MGEVR/L.. CGBRI/L..
Grooving Turning Tool :S Gl Grooving Turning Tool us % <<t
S LS Wil T IS Jgs s, S07 5.4 Ju) Sl 9.3 1616 11.9
' S08 5.4 11.0 2020 14.3
S10 5.4 13.1 2525 17.9
S12 6.9 25.7
S16 8.6 54.3
S20 9.7 CGBSRIL..
el B MGG‘FZEIVL.ng%fn'@ge{O';?‘e 20 15.4 Grooving Turning Tool u:oS @std
H oS il AT 1S g3 J g 350 S06 14.6 CGWSRI/L.. pud S il &S 1616H 9.6 QE..R/L.. g S il &S 1616H 9.3
g ? S07 14. 6 /Grooving Turning Tool 2020K 10.7 /Grooving Turning Tool 2020K 11.0
S08 14.6 2525M | 12.6
$10 16.4 3232P 20.0
S12 18.1 . o
S14 20.0
S16 21.7
S18 34.6 1616 10.3 DGTRIL.. o oS il &< 1616 | 15.3
S20 43. 6 2020 10.3 /Grooving Turning Tool 2020 16.9
S25 65.0 GY2M.. 2525 11.9 P 2525 | 20.4
DGN.
Lok . GYHR/L.. pud S Gl &S
Jeinl Jm Sl /Grooving ‘Ie'urnmg Tool j
C LS il AT LS 681 Py 35,0 C04G 19.0 KGMRIL.. aud S il &S 1010 10.3 FGHH..R/L. . 1616 28.6
C05G 19.0 /Grooving Turning Tool 1212 10.3 [ 2020 28.6
C06J 19.0 . 1616 9.3 2525 32.4
CO7K 19.0 2020 11.0
CO8K 22.6 GMN.. | 2525 12.9 FMN.. =,
C10K | 26.1 CMG.. 3232 20.0 TR FaCe | i g elim
C12M 33.3 Grooving (siia
C14N 52.4 TTER/L.. pad S Gl &S 1010 10.3 1616 35.7
C16Q 69.0 /Grooving Turning Too 1212 10.3 2020 38.1
c18a | 81.0 1616 9.3 2525 | 42.9
C20R 95.3 2020 11.0
€258 204.7 2525 12.9
LIS Bia B 452.4 3232 | 20.0 o f I
Grooving (s
$16Q 8.3 TTIR/L.. Type Inner Hole 16 14.3 MGHH. . , 1616 23.9
S20R 8.6 Grooving Turning Tool 20 16.7 y 2020 21.9
233? }é 2 25 19.0 o 2525 | 23.9
S40T/U | 28.9 RICMN.3
> S50V 72.1 o
S.M.. LS il AJT S Al J gy 35 padl il b Gﬁoovinq i

=2 O Jabd and ) eSS (Caa i o Ciead gl

- e Uae con USD e (58, 3315 L3,
028 e s) 3l o) s s o @Y1 S S I S eva@mzgtool.cn http://www.mzg.tw


http://www.mzg.tw

on S N S B e ) o

CNC Turmng Tool Parts

Jaslaad GS Gle gluaa Size )J}LAA.I é Gle giaa Size

MC0903 0.4 M-S (S puid HL1810 0.4
MC1204 | 0.6 HL1814 0.4
MC1604 | 1.1 HL1917 0.4
MC1904 | 1.6 HL2114 0.4
HL2217 0.4
HL2217% 1.0
HL2414 0.4
MD1103 | 0.4 M-gofns IS K ad ML520 0.3
MD1504 | 1.0 ML620 0.3
MD1506 1 ML625 0.3
ML630 0.3
ML830 0.8
MS0903 0.6 W-RIS S ad WT16 0.4
MS1204 | 0.6 wwos 0.4

MS1504 | 1.1

MS1904 | 1.6
MT1603 0.3 W- 3 s IS S aaid WC0525E | 0.4
MT1604 1.1 WC0625E | 0.4

MT2204 1.1

T-02 S il el
MV1603 | 0.6 p-l L& Ak DC12 1.0
DD15 1.0
DT16 1.0
DV16 1.0
DWO8 1.0
MWO603 | 0.4 D- 55 QIS S aud DL525 0.7
MWO804 | 0.6 . DL625 0.7
W’LH)S iy PR
- STMI6R | 0.3 DDC12 0.5
ey @ | STMI6L | 0.3 DDD15 0.5
- - STM22R | 1.0 DDT16 0.5
STM22L | 1.0 DDV16 0.5
R L DDWO8 0.5
STM-02 8 31 aped D-02 S 3l paed screw

CTM510 0.2 L-0r oS Qi i (S 5000 | L1 5 0.2
CTM513 0.2 L2.0 0.2
CTM613 0.2 L2.5 0.2
CTM617 0.2 L3.0 0.2
CTM619 0.2 L4.0 0.2
CTM515-T | 0.2 L5.0 0.3

CTM618W | 0.2
CTM0822 0.3 o S il i S g1 | TLT. 1.0
CTMOB227| 0.7 Tt i g S ol | T8 IR
CTM1022 0.3 TL2.5 1.0
CTM1022%5.| 0.7 TL3.0 1.0
TL4.0 1.0
, TL5.0 1.0

S U =

N2. 0X5 0.1 Fogh S ¥l Sean  T6 0.2
M2. 2X5 0.1 T7 0.2
M2. 5X5 0.1 8 0.2
M2. 5X6 0.1 T10 0.2
N2. 5X8 0.1 T15 0.2
M3. 0X8 0.1 120 0.2

M3.5X10 | 0.1
M3. 5X12 0.1 TS S Jilu S aa T6 0.8
M4. 0X8 0.1 ' 17 0.8
M4.0X10 | 0.1 T8 0.8
M4. 5X12 0.1 T10 0.8
M5. 0X10 0.1 T15 0.8
M5. 0X12 0.1 120 0.8
ok S ad TT6 1.0
117 1.0
118 1.0
TT10 1.0
1115 1.0
5 S AT S LS = Lz 10

2 ot Jald Qb ) a8l (G b Gae Dl ),

el Uae s USD cows i 330 5 015, _
S Jie ) il o) 53 e Y 35S S TSIk eva@mzgtool.cn http://www.mzg.tw



http://www.mzg.tw

Machine-Clamped Right-Angle Milling Cutter

=P | [P R I (| IV PP I 1 K P SO

S My 8 ilasgl (S AR a5 Ol sl (S U S S S S NS g 58 lag® (S QLA gl 5 il 3 jise
Locking Tooth Type Right-Angle End Milling Cutter Discarded Right-Angle End Milling Cutter Toolholder
APKT113502 02 | 69 D} 7 o b ¢
APKT113504 CBN1 0.4 6.9 M | T !
G S APKT113508 CBN1 0.8 6.9 e v
P W £ A dxDxL usD
M BAP300R C10-10-120—1T 3.3
APKT160402 CBN1 0.2 6.9 BAP300R G10-11-120-1T 3.3
APKT160404 CBN1 0.4 6.9 O BAP30OR C12-12-130-1T 3.3
APKT160408 CBN1 0.8 6.9 DxTxM gﬁggggg g}i—}i—lgg—g i-g
i B e 2% o BAP3OOR C14-14-150-2T 4.6
; 313-1TM6 : BAP300R C15-15-150-2T 4.6
APKT113502 PCD1 0.2 6.9  BAP3-15-2T-M8 23.9° BAP300R C15-15-200-2T 5.4
APKT113504 PCD1 0.4 6.9 ~ BAP3-16-2T-M8 286 BAP30OR C15-16-150-2T 4.6
UGS pia APKT113508 PCD1 0.8 | 69  BAPST17-2T°W8 8.6 BAP3QOR C15-16-200-2T | 5 4
Gopper and Aluminum S 510 BAPSOOR C15.6-16-150-2T | 4.6
B e el Sy 5 BAP30OR C15.6-16-200-2T | 5.4
3-25-3 -3 BAP30OR C16-16-120-2T 4.6
APKT160402 PCD1 0.2 6.9  BAP3-25-4T-M12 357 BAP30OR C16-16-150-2T 4.6
APKT160404 PCD1 0.4 6.9 BAP3-26-2T-M12 333 BAP300R C16-16-200-2T 5.4
— APKT160408 PCDT 0.8 | 69 [NEEaEuliaHE 333 BAP3OOR G16-16-250-2T 9.6
LS pid BAP3-26-4T-M12 35.7
= ¢ : BAP300R C16-17-120-2T 4.6
Copper and Aluminum BAP4-25-2T-M12 33.3
: BAP300R C16-17-150-2T 4.6
BAP4-26-2T-M12 33.3 17-200—
i 5]  BAP30OR C16-17-200-2T 5.4
i APKT1135PDER-AL ZKO1 | 0.8 1.4 _30-37- ' BAP30OR G16-17-250-2T 9.6
BAP4-30-3T-M16 40. 4 T
i 4 ;  BAP30OR C16-18-150-2T 5.4
APKT1604PDER-G2 ZKO1 | 0.8 1.9 o i BAP300R G16-18-200-2T 6.1
—— BAP4-32-3T-M16 40.4 -
53 aile o BAP300R C19-20-150-2T 5.4
Copper an Aminum BAP4-35-3T-M16 429 BAP30OR C19-20-200-2T 6.1
BAP ~251 5 031 Joid BAP30OR C20-20-120-2T 5.4
- 2 egss S
APKT1604-AL ZKO1 0.2 1.9 BAP300R 020-20-250-2T 9 6
b— BAP300R €20-21-120-2T 5.4
. ,sd s BAP300R €20-21-150-2T 5.4
AN S BAP300R (20-21-200-2T 6.1
BAP300R C20-21-250-2T 9.6
APMT1135-TG ZN60 0.8 1.4 BAP300R 24-25-150-3T 10.3
BAP300R (24-25-200-3T 11.9
APMT1604-TG ZN60 0.8 1.9 BAP300R (24-25-250-3T 14.3
Sl st s 8 BAP300R (24-25-300~3T 20. 4
o el B8 it S g pan BAP300R (25-25-150-3T 10.3
BAP300R (25-25-200-3T 11.9
BAP300R (25-25-250~3T 14.3
APMT1135PDER-M2 ZP25 | 0.8 1.1 BAP300R (25-25-300-3T 20. 4
BAP300R 40-22-4T 11.9  BAP30OR C25-25-150-2T 7.4
APMT1604PDER-M2 ZP25 | 0.8 1.9 BAP300R 50-22-4T 153  BAP30OR C25-25-200-2T 8.9
BAP300R 63-22-6T 20. 4 BAP300R ($25-25-250-2T 1.9
BAP400R 40-22-3T 10.3 BAP300R (25-25-300-2T 19.0
BAP40OR 50-22-4T 10.3
APMT1135PDER-H2 ZP25 | 0.8 1.1 BAP400R 63-22-4T 11.9 BAP400R C24-25-150-2T 7.9
27— 20.4  BAP40OR 24-25-200-2T 9.6
APMT1604PDER-H2 ZP25 | 0.8 1.9 gﬁgiggg ?8OE;ZEZT 3(2)‘ 4 BAP400R C24-25-250-2T 11.9
. o BAP400R 125-40-7T 51.0 BAP400R (24-25-300-2T 19.0
e Dyl odlge o BAP400R 160-40-8T 61.1  BAP40OR €25-25-150-2T 7.9
BAP400R 200-40-10T 119.0  BAP400R C25-25-200-2T 9.6
o BAP40OR 250-40—12T 187.1 BAP40OR G25-25-250-2T 1.9
: ” - APMT1135PDER-XM ZP25 | 0.8 1.1 BAPAOOR 300-60—14T S 1 BQPZ{SSR 8%5_%2_?08_? 190
. APNT1604PDER-XM ZP25 | 0.5 | 1.9 BAPATOR 20723447 119 Ry e [
¢, BAP40OR 80-25. 4-6T 23,9  BAP40OR (25-26-250-2T 11.9
S 5 3 e 2 ple BAP40OR 100-31. 75-6T 35.7  BAP400R (25-26-300-2T 19.0
R Y — — BAP400R (25-30-150-2T 10.3
e APMT1135PDER ZM90 0.8 2.0 Zt'gig’jé’f};:ié :t :J‘AZTJ?M BAP400R C25-30-200-2T 11.9
-| uminum Right-Angle En illing Cutter
BAP400R (25-30-250-2T 16.9
APMT1604PDER ZM90 0.8 2.7 BAP400R C25-30-300-2T 20. 4
BAP40OR (32-32-150-3T 13.6
HRC 62 * Bty it iz ) BAP400R (32-32-200~3T 15.3
BAP400R (32-32-250-3T 18.9
; - APMT1135PDER ZP20 0.8 1.6 BAP400R (32-32-300-3T 23.9
—_ “ { BAP400R (32-32-350-3T 27.1
~ N APMT1604PDER ZP20 0.8 2.3 BAP400R (32-32-400-3T 35.7
et ~ BAPAOOR C32-35-150-3T | 13 6
Kdnsan g 33 e 250 ple D BAP400R (32-35-200~3T 15.3
EEw BAP400R (32-35-250-3T 19.7
DxinT BAP40OR (32-35-300-3T 23.9
APMT1135PDER ZP30 0.8 1.6 BAP400R (32-35-350-3T 27.1
AL-BAP40OR 50-22-4T 169 BAP40OR €32-35-400-3T 35.7
_ APMT1604PDER ZP30 0.8 2.3 AL-BAP400R 63-22-4T 22.1 BAP400R C32-40-150-3T 15.3
Shapua gy e 3 ple AL-BAP40OR 80-22-6T 30.7 BAP40OR €32-40-200-3T 17.6
- AL-BAP400R 100-22-6T 54.6 BAP4OOR €32-40-250-3T 22.1
q APMT1135PDER ZP60 0.8 1.4 AL-BAP400R 125-27-7T 85.0 BAP400R C32-40-300-3T 25. 4
AL-BAP400R 160-27-8T 95.3 BAP40OR C32-40-350-3T 30.7
_— APMT1604PDER ZP60 0.8 1.7 AL-BAP400R 200-27-10T 204.0  BAP400R C32-40-400-3T 39.0
AL-BAP400R 250-32-12T 272.1 BAP400R C32-50-150-4T 22.1
Sy 553 e 2l 3e ple AL-BAP400R 300-32-14T 340.3  BAP400R C32-50-200-4T 27.1
2 o Jald ud ) (eSS Qi (o Cuadd a ),
b e€ Gae 0o USD @i sy 33 55 N3,

http://www.mzg.tw

G108 Jam 51 b g sl 53 G ¥ 35S S ol 81 eva@mzgtool.cn


http://www.mzg.tw

Machine-Clamped Round Nose Milling Cutter

J'ES ‘5“ 9 C.'} JS ‘5.‘11..“:@; GS J }g J Jg JLJS_Q_'..M

ol (S @S S Ay 38 SlaeS i SLJ S

Locking Tooth Type Round Nose End Milling Cutter

D8 8 A N 58 b€ S liaa) SU K I8 5SS
Discarded Round Nose End Milling Cutter Toolholder

b u} - ...__._.__._Id
RDMW1204MOT—PM ZP30 ;HL
N RDMW1605MOT—PM ZP30 | RS 2.4 ; L T
Soes o o 2 se ple ENR C10-4R10-120-1T 3.3
= N EMR C12-4R12-130-1T 3.3
2 EMR C12-4R13-130-1T 3.3
- = EMR C16-4R16-150-2T 5.0
\ RPGT1003-AL ZKO1 R5 1.9 EMR C16-4R16-200-2T 6.1
EMR C16-4R17-150-2T 5.0
R o EMR C16-4R17-200-2T 6.1
R s T
EMRR4—16-2T-M8 28.6 EMR €20-4R20-150-2T 6.1
n ENRR4-17-2T-M8 28.6 EMR C20-4R20-200-2T 6.9
RPMW1003M0 ZN60 R5 1.6 EMRR4-20-2T-M10 31.0  EMR C20-4R20-250-2T 11.9
RPMW1003 ZN60won cranering RS 1.3 EMRR4-21-2T-M10 31.0  EMR C20-4R21-150-2T 6.1
S S v‘ ; ' RPMT1204MO0 ZN60 R6 1.9 EMRR4-25-2T-M12 33.3 Ems ggg—gg% —%gg—g 2 c1)
) St sl s )3y EMRR4—26-2T—-M12 33.3 ~5R20-150~ :
2 Leal U S pid S () suman EMRR4-25-3T-M12 35.7 EEEEE P
. EMRR4—26-3T—M12 35.7 :
EMR C20-5R20-200-2T 7.4
. EMRR5-20-2T-M10 310 EMR ¢20-5R20-250-2T 11.9
RPMTO8T2-JS ZP25 R4 1.1 Emggg_%_g_mg 3; (3) EME ggg_ggg H gg_g ) l
-25-2T~ ) -5R21-200~ 7.
RPMT10T3-JS ZP25 RS 1.4 EMRR5-26-2T-M12 33.3  EMR C20-5R21-250-2T 11.9
. EMRR5-30-2T-M16 38.1  EMR C20-5R25-150-2T 7.9
S 5 )3 Uze A g0 ple EMRR5-32-2T-M16 8 Ems g%g_gggg_%gg_g 191' %
- EMRWR5-30-3T-M12 40. 4 ~5R25-250~ :
EMRWRB—32—3T—M16 40 4  EMR C20-5R30-110-2T 7.9
; ENRNRS—35-3T-M14 4o EMR C24-5R25-150-2T 7.9
S TUeenm Tt e 5 mRamwean |
~26-2T-~ - EMR C24-5R25-300-2T 19.0
HRC 62 © i 5 33 (3 AL 3| < EMRWR6—-30-2T-M16 38. 1 EMR C25-5R25-150-2T 79
e = EMRWR6-32-2T-M16 38.1  EMR C25-5R25-200-2T 9.6
EMRWR6-35-3T-M16 42.9  EMR C25-5R25-250-2T 13.6
ER Gob-ooo-12051 | 19
~5R26-150~ 7.
RPMT1204M0 ZP30 Ré 1.7 EME ggg_ggg 2_528_5 193 66
. EMR Ji’S Sala elﬁis\ S J;g Jaa) EMR C25:5R26:300:2T 19: 0
“5‘4“1‘“5)9: o 3l s ?LL EMR Steel Round Nose End Milling Cutter EMR C25-5R30-150-2T 10. 3
P
1 EMR C25-5R30-300-2T 19.0
y RPMT1204M0 ZP60 R6 1.7 EMR C32-5R35-150-3T 13.6
v EMR C32-5R35-200-3T 15.3
< e gl EMR Coo-oR3-30031 | 219
Saudan 9 ) e D) 3w ale — | — — A
EMR C32-5R35-350-3T 28.9
o ey
[ ~5R40-150~ 5,
vy ¥ RPMT1204-XM ZP25 R6 1.3 EMR C32-5R40-200-3T 18.9
v EMR C32-5R40-250-3T 20. 4
: et L
S g D3 U K\ P9 r;l.c — —. —. N
EMR C32-5R40-400-3T 39.0
EMR C32-5R50-150-4T 23.9
EMR C32-5R50-200—4T 27.1
EMRW C25-5R25-150-2T 7.9
RPMW1003M0 ZM90 RS 1.7 xdxT EMRW C25-5R25-200-2T 9.6
ENR SRo0 2241 197 EURW Gos-oRa0-1200T | 103
HRC 62 * Siuspun s 3 T iy | S ENR SRé3—22-41 L ENRW G25-5R30-200-2T 1.9
EMR 5R80-27-6T 20. 4 ~5R30-200-
EMR 5R100-32-6T % 4 EMRW C25-5R30-250-2T 16.9
: EMRW C32-5R35-150-3T 13.6
A 2 i ] 510" ENRW €32-5R35-200-3T 15.3
RPMW1003M0 ZP20 R5 1.3 Ems gs;gOEgOZSIﬂ_ ?] ; EMEW 835_2532_%‘88_g¥ ;8?
g =4O, 4~ . —. — — 7.
) R— EMR 5R63-25. 4-4T 15.3  EMRW G25-6R32-150-2T 10.3
S5 g3 e 25w ple EMR 5R80-25. 4-6T 23.9  EMRW C25-6R32-200-2T 1.9
EMR 5R100-31. 75-6T 35.7 Emgw 8%2—25%%—%88—%; ; 8.3
ENRW ORS0-22-4T 100 ENRW 032-6R32-150-2T 13,6
L) et V7 ENRW C32-6R32-200-2T 153
RPMW1003MO ZP30 R5 1.3 Emga 25?86225621_ ggj EMRW C32-6R32-250-2T 18.9
—32- : EMRW C32-6R32-300-2T 23.9
s s i 3 eaale EMRW 6R125-40-7T 510 EMRW C32-6R32-350-2T 27.1
B calhlS all o Emgwég%go‘—lgogg 16119. 10 EMRW C32-6R32-400-2T 30.7
-40- . EMRW C32-6R35-150-2T 15.3
4 ' EMR 6R250-40-12T 187.1 Emsw gg%—gsgg—%gg—g ; 8'3
:” EMR 6R300-60-14T 238.1 ~6R35-250~ .
\ . i GIL 25 RS | 1.3 25 4- 1o EMRW G32-6R35-300-2T 27. 1
EMRW 6R50-25. 4-4T . Za koo g T
EMRW 6R63-25. 4-4T 15.3 (e :
i EMRW C32-6R32-400-2T 32.4
Stnagas s 2 2 3l 50 ple EMRW 6R80-25. 4-6T 239 ENRW C32-6R40-150-3T 16.9
ENRW G3o-cRa0-300-31 | 77
s ~6R40-300~ 7.
RPMW1003-XM ZP25 RS | 1.3 RELTRD. oma eS8 i Jusone  EMRW C32-6R40-350-3T 307
. EMRW C32-6R40-400-3T 39.0
, The Above 5 4wads Ara RPalfBorts, . EMRW C32-6R50-150-4T 23.9
\_iJ....._\.uj‘)J Uf‘“ ;1‘5_.4 eLL . . Inserts an andle, please Inquire EMRW 032_6R50_200_4T 27 1

2 ot Jald Qb ) Sl (G b e Dl ),

s el U O USD ciagd iy 530 5 113,

S Jie ) il ol 655 ne Y s 35S S TSIk eva@mzgtool.cn http://www.mzg.tw

N
N



http://www.mzg.tw

SENCBE RIS
Olelas IS 32w !

SEHT1204AFFN CBN1

st LSM 9 C.'i JS GSLM.@.E 3.'1:\4\ jJS-Qﬁ.ﬂ:A

Machine-Clamped Milling Cutter

LS aia

Copper and Aluminum

SEHT1204AFFN PCD1

Product
Pictures

i pais

LNMUO303ZER-MJ

uUsSD

Product
Pictures

O lasadl

800-08A

usD

FEEN ~dlaa )a
Copper and Aluminum

| | SEHT1204AFFN ZKO1

PNMUO905GNEN-MJ

800-08T308M-C-G

«_ii...quj);\ 65 CJ'L‘

BB eh;
SECA1204AFTN ZP30

PNMUO905XNER-GM

800-08T308M-1-G

SNMU130508EN-GM

800-09T308H-P-G

[ T PIPRE QPRI

S 3 gaale

|| SEHT1204AFSN ZM90

Siie o3 e
&S 35 ale
SEKT1204AFTN ZM90

S My 38 SleeS o © £0 it SRl
KM Steel 45° Face Milling Cutter

KM12-50-22-4T
KM12-63-22-4T
KM12-80-27-5T
KM12-100-32-5T
KM12-125-40-6T
KM12-160-40-6T
KM12-200-40-8T
KM12-250-40-10T
KM12 300-60-12T
KM12-50-25. 4-4T
KM12-63-25. 4-4T
KM12-80-25. 4-5T
KM12-100-31. 75-5T

DxdxT

Product M aiadi
Pictures SR UsD
P3200-R4 ZP10 7.4
P3200-R5 ZP10 8.3
P3200-Ré6 ZP10 8.3
7.1 P3200-R8 ZP10 9.9
P3200-R10 ZP10 1.9
P3200-R12.5 ZP10 20.3
Profie Fine Milling of | P3200-R15 ZP10 31.1
Al e ale P3200-R16 ZP10 40.3
71 Cutting Below HRC55
: ZPFG100 ZM55 17.1
ZPFG120 ZM55 17.1
ZPFG160 ZM55 20.4
ZPFG200 ZM55 23.9
ZPFG250 ZM55 32.4
1.7 ZPFG300 ZM55 51.4
: Cutting Below HRC55
BNM120 ZM55 17.1
BNM160 ZM55 18.6
) BNM200 ZM55 23.9
& e BNM250 ZM55 32.4
BNM300 ZM55 41.0
3.1
IS M5 508 oleeg® LS HLEEA) (5558 ol
Locking Tooth Type Spherical End Milling Cutter
3.1
3.1
T2139M-5R-M5 .
T2139M-6R-M6 31.0
T2139M-8R-M8 33.3
T2139M-10R-M10 35.7
T2139M-12. 5R-M12 38.1
T2139M-15R-M16 40.4

WNMUOBO60OSEN-SM

R390-11T308-PM

bOoBOG

Y

\3PKT100408R-M
3PKT150508R-M
3PKT190608R-M

SCMTO9T308-MM

Om
D2 |

XJMG1204

S-R215. 44-15T364M

Discarded Spherical End Milling Toolholder

DI =4
| |

L

(G RYOEY 1
dxDxLxT

KM Aluminum 45° Face Milling Cutter
KM Aluminum 45° Face Milling Cutter

oy

AL-KM12-50-22-4T
AL-KM12-63-22-4T
AL-KM12-80-22-5T

AL-KM12-100-22-5T
AL-KM12-125-27-6T
AL-KM12-160-27-6T
AL-KM12-200-27-8T
AL-KM12-250-32-10T
AL-KM12 300-32-12T
AL-KM12-50-25. 4-4T
AL-KM12-63-25. 4-4T
AL-KM12-80-25. 4-5T
AL-KM12-100-31. 75-5T

D3 8 Kale alsial a5 S s lla by Sz oA

HNGX0906-FF

DGN3102C

DO:C

WNMX060312ZNN-MM
WNMXO09T316ZNN-MM

GRIP3003Y
GR1P4004Y

©

6NGU060408R-M
6NGU090508R-M

LNKX1506-G

CNHX100508T
CNHX131108T

WXCU080612T

AXMT060208R-EM

LNKX1005-Y
LNKX1206-Y
LNKT1507

BLMPO603R-M

$§229.0300. 32

BLMPO904R-ML

SOEX090408-13

BLMP1205R-M

HNPJ130720ANSN-HD

BLMP1306R-M

SP1RH5-LT-L

aPpesit s (j

Bapecn|goNil0

TNGX2207PNTN SPIRH5-LT-D
ZNHU080-08 APMT1003-NN
: 8 || SNMX1205XTN SEKN1203AFTN-NN

o

SOMT050204-DP
SOMT060204-DP
SOMT070306-DP
SOMT08T306-DP
SOMT09T308-DP
SOMT11T308-DP

|

SEKR1203AFTN-NN

TPUN160308-NN

AXMT123508PEERG

APKT150412-PM

12139 G10-4R-100-1T 8.9

12139 C12-4R-130-1T 8.9

12139 C16-4R-150-1T 10.7

12139 G10-5R-120-1T 8.9

12139 ¢12-5R-150-1T 8.9

12139 C16-5R-150~-1T 10.7

12139 C12-6R-130-1T 8.9

15.3 72139 €12-6R-150-1T 8.9

25.4 12139 C16-6R-150-1T 10.7

35.7  T2139 C16-6R-200~1T 12.6

51.0  T2139 C16-8R-150-1T 10.0

411 T2139 C16-8R-200-1T 11.9

136 0 12139 C20-8R-200-1T 16.7

204 0 T2139 G25-8R-250-1T 19.7

55 o 12139 C20-10R-150-1T 13.9

: 12139 620-10R-200-1T 16.0

136 72139 ¢25-10R-250-1T 19.7

16.9 72139 632-10R-300-1T 22.1

28.9 72139 625-12.5R-150-1T 16.7

39.0  T2139 25-12.5R-200-1T 19.6

12139 025-12. 5R-250-1T 22.1

12139 625-12. 5R-300-1T 25.0

12139 32-12. 5R-300-1T 27.9

12139 €32-15R-150-1T 18.3

12139 €32-15R-200-1T 21.0

12139 €32-15R-250-1T 23.9

12139 €32-15R-300~1T 26.7

12139 €32-15R-350-1T 30. 4

12139 032-16R-150-1T 18.3

12139 €32-16R-200-1T 21.0

12139 €32-16R-250-1T 23.9

12139 €32-16R-300-1T 26.7

12139 £32-16R-350-1T 30.4
Insert:ZPFG..

C16-8R-150 23.9

©16-8R-200 29.7

€20~10R-150 3.7

€20~10R-200 37.6

025-12. 5R-150 39.7

025-12. 5R—200 496

025-12. 5R-250 55. 4

ABPF (32-15R-150 45.7

16,9 ABPF €32-15R-200 51.7

221 ABPF €32-15R-250 59.6

30.7 _ ABPF €32-15R-300 79.3
54. 6 Insert:BNM..

350  BNML C12-6R-130-1T 11.9

05 3 BNML C12-6R-150-1T 11.9

204 0 BNML C16-8R-150-1T 15.0

5751 BNML C16-8R-200-1T 17.9

7y BNML G20-10R-150~1T 21.0

340.3° BNML G20-10R-200-1T 23.9

19.0° BNML €25-10R-250-1T 29.7

231 BNML €25-12.5R-150-1T 25.0

32.4  BNML C25-12.5R-200-1T 29.7

54.6  BNML C25-12.5R-250-1T 33.3

RPHX1204M6EN-M31

SPMT120408-PM

XNEX080608-MD15

ONHU060408-PM
ONHUO08T508-PM

Ba94

XOMX180608TR-M14

Youap

KNX-Q7-3.5

23

WS dwe !

fmry

b 368 e oan USD e s 330 5 113,

3o el a5l Sl B e el ),

i ol 53 o Y5 SsS S0l 2 eva@mzgtool.cn

http://www.mzg.tw


http://www.mzg.tw

020S Jala U3 sysh eSS il

Insert Type Quick Drill

S Gy S el S pUAT 5 0l pud S U B S Uy 8 L€ S pLES) (558 e LS g VG

Locking Tooth Type Spherical End Milling Cutter

0 glasald Gile glas
Locking Tooth Type Right-Angle End Milling Cutter 259 ‘;

WCMX030208 ZP25 0.8 1.4

WCMX040208 ZP25 0.8 1.4

M M WCNX050308 ZP25 0.8 | 1.7

WCMX06T308 ZP25 0.8 1.9

v Kot s“ US TS| WCMX080412 ZP25 1.2 2.6

© et R39011T3. WCMX030208 ZP30 0.8 2.3

& B2

— o  —— WCMX06T308 ZP30 0.8 | 2.6

R39011-16-2T-M8 28.6  BNM-10-R5-M5 35.7 S s 3 s 28 £ S WCMX080412 ZP30 1.2 3.7
R39011-17-2T-M8 28.6  BNM-12-R6-M6 35.7 2 pa 1S B s

R39011-20-2T-M10 31.0  BNM-16-R8-M8 38. 1 SPMG050204 ZP25 0.4 1.4

R39011-21-2T-M10 31.0  BNM-20-R10-M10 38. 1 SPMG060204 ZP25 0.4 1.4

R39011-25-2T-M12 33.3  BNM-25-R12.5-M12 40. 4 SPMGO7T308 ZP25 0.8 1.7

R39011-26-2T-M12 33.3 SPMG090408 ZP25 0.8 1.9

R39011-30-2T-M16 35.7 Sy 2t oS | SPHGT10408 ZP25 0.8 | 2.3

R39011-32-2T-M16 35.7 A ple

R39011-33-2T-M16 35.7 SPMG050204 ZP30 0.4 2.7

R39011-35-2T-M16 42.9 SPMG060204 ZP30 0.4 2.9

SPMGO7T308 ZP30 0.8 2.9

SIS My S il S alial gl ) Gl il S J A G S 65-&% A eSS i) Jasal Qﬁui;’)ﬁ SPMG090408 ZP30 0.8 3.3

Locking Tooth Type Right-Angle End Milling Cutter Tungsten steel anti-vibration tool rod J(_\mv.u.})_‘ s SIS F) s S SPMG1 10408 ZP3O 0.8 3.6

Rt SPMG140408 ZP30 0.8 5.4

J03 s LS AN o saliS

WC Insert Type Quick Drill

Insert: JDMT0702..

JDMTO7-11-2T-M5 35.7 12 XCMT040104 61.7) 91.4 - -
JDMT07-12-2T-M5 35.7 12 XCMT050204 57.1| 85.0 4 -
JDMT07-12-2T-M6 35.7 16 XCMT060204 47.1 65.3 = -
JDMT07-13-2T-M6 35.7 20 WCMX030208 25.3| 32.9 37.6| 67.1
JDMT07-14-2T-M6 35.7 25 WCMX030208 25.3] 32.9 37.6| 67.1
JDMT07-16-3T-M8 42.9 3 aid A3 . . 25 WCMX040208 35.3] 42.6 50.3| 72.9
JDMT07-17-3T-M8 42.9 dxDxLxM 32 WCMX050308 35.3| 42.6 50.3 ] 72.9
_08—100— 25.5-30 32 WCMX050308 42.6| 45.3 52.9 1 80.0
AU, = o0 30.5-31 32 WCMX050308 57.6| 59.6 72.9 ] 100.4
—10-100— 31.5-40 32 WCMX06T308 57.6| 59.6 72.9 | 100.4
P R Ay 32 | WCMX06T308 | 69.0| 76.7 | 96.0| 125.7
S (g 35S g8 (S plial gl 5 sl o (S U5 &3 42 40 WCMX06T308 69.0] 76.7 96.0 | 125.7
Locking Tooth Type Right-Angle )jS '~<-"i-“ 534 —19— = 43-45 40 WCMX080412 69.0 76.7 96.0 125.7
o’ 50 4650 40 | WOMX080412 | 75.4| 93.3 | 102.9| 137.1
MEL12-12-200-M6 135 7 51-55 40 | WOMX080412 | 85.0| 109.7| 130.3| 148.6
M i R
_15_150—] 58— 89. 112.4| 171.4| 165.7
LS oo e 550 60-63 40 | WOMX06T308 | 93.3| 123.3| 197.9| 201.1
MEL16-16-100-M8 4 s 6465 40 | WCMX06T308 | 100.3 137.1| 224.0| 231.0
9 MFL16-16-150-N8 1310 6668 40 | WCMX06T308 | 101.7 151.0| 228.6| 240.0
Insert: AXMT0602.. MFL16-16-200-M8 178. 6 69-70 40 WCMX06T308 102. 160.0 240.0| 262.9
MFL16-16-250-M8 226.1 N .
sP Jdo3 st caoS Jal L~
AXMTO6-11-2T-M5 357 MFL19-19-150-M10 204.7 sp Insert Type Quick Dril
AXMTO6-12-2T-M5 357 MFL19-19-200-M10 273.9
AXMTO6-12-2T-M6 357 MFL19-19-250-M10 326. 1 Id
AXMTO6-13-2T-M6 357 MFL20-20-100-M10 154.7
AXMTO6-16-3T-M8 42,9 MFL20-20-150-M10 204.7
AXMTO6-17-3T-M8 429 MFL20-20-200-M10 273.9
MFL20-20-250-M10 326.1 :
Lookng ath e Fac Jf el AR 3739 "43-14.5 | 20 | SPMGO50204 | 30.4| 35.7| 44.7| 78.6
- 3 =38 Alug LA ol s 15 25 SPMG050204 30.4] 35.7 44.7 | 78.6
“NFL—2i-150-W12 2739 5590 |25 | SPHG0B0Z04 | 0 4| 35 7| 44 7| 76 ¢
; MFL24-24-250-M12 450' 0 20.5-21.5| 25 SPMG060204 41.9| 47.6 60.7 | 83.3
¥ L M MFL24-24-300-M12 535' 7 22-24.5 25 SPMGO7T308 41.9| 47.6 60.7| 83.3
MFL25-25-150—M12 273' 9 25-27.5 32 SPMGO7T308 50.3| 54.7 65.4| 91.4
MFL25-25-200-M12 376. 1 28-30 32 SPMG090408 50.3| 54.7 65.4| 91.4
Q MFL25-25-250-M12 450' 0 30.5-33.5| 32 SPMG090408 66.9| 72.9 88.1] 108.6
MFL25-25-300—M12 535' 7 34-40 32 SPMG110408 66.9| 72.9 88.1| 108.6
N — MFL25-25-350-M12 750' 0 41 32 SPMG110408 79.0| 88.1 105.4] 137.1
‘B;\_T‘I-_‘;\‘;‘ ‘E';;A . 212—1518 218 ggmg}jgm% 79.0] 88.1 105.4] 137.1
— 51 88. 1 98.9 125.7] 148.6
AJX06-16-2T-M8 31.0 W a0 2007 Mo bLa3 75155 40 | SPMGO7T308 | 94 3| 111.0| 144.0] 171 4
AJX06—-17-2T-M8 31.0 MFL32-32-300-M16 916- 7 56 40 SPMGO7T308 98.9| 123.9| 208.1| 228.6
AJX08-20-2T-M10 33.3 MFL32-32-350-M16 1159. 6 57-59 40 SPMG090408 98.9| 123.9| 208.1| 228.6
AJX08-21-2T-M10 33.3 MFL32-32-400-M16 1428 6 60-63 40 SPMG090408 103.3 136.9| 250.0| 271.4
AJX09-25-2T-M12 35.7 ) 64-66 40 SPMG090408 111.0 161.9] 280.0| 300.0
AJX09-26-2T-M12 35.7 4 Ly e tgnis Uit 5 1 15 gt Y. 67-68 40 SPNGT10408 | 111.0 161.9| 280.0 300.0
AJX09-28-2T-M12 35.7 S 65l i S i 03, 753 3l s S, 69-70 40 SPMG110408 114.6 173.9| 290.0| 328.6
AJX12-30-2T-M16 40.4 I, B sl A S g5 celidl L3 58 Slial il
AJX12-32-2T-M16 40.4  x Lockteeth type tool stock Specifi cation are complete L WOXT .. [ GTND i PR = ’ e :
AJX12-35-2T-M16 47.6  Pleaseinguire for Specification not listed. Plus WDXT../GPMT... Type Stock Quick Drill Commodity, Welcome To Inquire!

= o el Gud s QeSS (B 58 aa Caad ),
shseS (e 0o USD w350 5 LIS,
a8 dan ) il ol 53 me O 35S S T 81 eva@mzgtool.cn

http://www.mzg.tw


http://www.mzg.tw

Aﬂ 1< &j)}.}

Boring

Tool

NBH2084 T S K5
(3 S &5 52:8-280mm)

NBH2084 Boring Tool
(Boring range: 8-280mm)

Fine-Tuning Accuracy 0.01mm

e

™

Clpais T D Db
Qﬁlal.; Cﬂ é &A'JJJ_
SBJ2008-32 8-11 8.6
SBJ2010-40 10-13 8.6
SBJ2012-53 12-17 8.6
SBJ2016-68 16-21 8.6
SBJ2016-102 16-21 20.4
SBJ2020-83 20-130 8.6
SBJ2020-125 20-130 | 20.4
SBJ2020-150 20-130 | 23.9
SBJ2020-200 20-130 | 28.6
SBJ2025-96 25-135 8.6
SBJ2025-144 25-135 | 20.4
SBJ2025-150 25-135 | 23.9
SBJ2025-200 25-135 | 28.6
SBJ2030-115 30-140 8.6
SBJ2030-173 30-140 | 23.9
SBJ2030-200 30-140 | 28.6
SBJ2020-L 120-280 | 8.6
SBJ2020-150L 120-400 | 23.9
w28 D Re IS B, s
NBH2084Boring head 8-280 138.1
R8-NBH2084-8P 8-280 | 233.3
NT30-NBH2084-8P 8-280 | 233.3
NT40-NBH2084-8P 8-280 | 233.3
NT50-NBH2084-8P 8-280 | 309.6
BT40-NBH2084-8P 8-280 | 233.3
BT50-NBH2084-8P 8-280 | 273.9
SK40-NBH2084-8P 8-280 | 278.6
SK50-NBH2084-8P 8-280 | 309.6

NBJ16 I S Kijs
(3> S X3 5:8-50mm

NBJ16 Boring Tool
Boring range: 8-50mm)
Fine-Tuning Accuracy 0.01mm

'I\

Ui

o kS aaidils | RBH19C |LBK1| 19-25 | 28.6

ﬂs‘iiﬁgﬁ;fd RBH25C |LBK2| 25-33 | 28.6

Rounr Borma coisr | RBH32G  |LBK3[ 32-42 | 31.0

_~ . | RBH4OC |LBK4| 40-55 | 40.4

%8 RBH52C |[LBK5| 52-70 | 61.9

P RBH68C |LBK6| 68-92 | 83.3

RBH90C |LBK6| 90-122 |102.4

RBH120C |LBK6| 120-164 | 119.0

RBH160C | BST | 160-204 | 135.7

RBH200C | BST | 200-310 |273.9

RBH300C | BST | 300-410 |544.0

Insert:CCMT RBH400C | BST | 400-510 |583.3

RBH500C | BST | 500-610 | 681.0

ol oSS | GBH20  |LBK1| 20-26 [135.7

fﬂﬁ;g;j; =e===| (BH25 |LBK2| 25-33 |154.7

Precision Boring Cutter, CBH32 LBK3 32_42 163 1

CBH40  |LBK4| 40-55 |181.0

CBH52 |LBK5| 52-75 |204.7

CBH68  |LBK6| 68-102 |238.1

CBH100 |LBK&| 100-152 |273.9

CBH150 |LBK&| 150-202 |323.9

CBH200 | BST | 200-310 |714.3

CBH300 | BST | 300-410 |821.4

CBH400 | BST | 400-510 |919.0

CBH500 | BST | 500-610 [1023.9

EWN20 CK1| 20-36 [123.9

EWN25 CK2 | 25-47 |131.0

EWN32 CK3 | 32-60 |142.9

. _ EWN41 CKa | 41-74 [163.1

T 1mm | EWN53 CK5 | 53-95 [178.6

EWN68 CK6 | 68-150 [197.6

EWN100 | CK6 | 100-203 |214.3

P AN S5 | g 20-25 | 13.1

Boring Tool Clamp CBH1-2 25-31 13.1

CBH1-3 30-36 | 13.1

CBH2-1 25-33 | 13.1

CBH2-2 32-40 | 13.1

CBH2-3 39-47 | 13.1

CBH3-1 32-42 | 13.1

CBH3-2 41-51 | 13.1

CBH3-3 50-60 | 13.1

CBH4-1 41-54 | 13.1

@fi CBH4-2 50-63 | 13.1

~5 S CBH4-3 61-74 | 13.1

| — 1 CBH5-1 53-70 | 13.1

CBH5-2 65-82 | 13.1

CBH5-3 78-95 | 13.1

CBH6-1 68-100 | 13. 1

100-153 | 13. 1

CBH6-2 94-126 | 13.1

126-179 | 13.1

CBH6-3 118-150 | 13. 1

Insert:TP.. 150-203 | 13.1

BEO9A M5 16.7

oy JT1S £5 o | BE10.5A M5 16.7

BE C2 ~) 2% | BE12A M6 | 167

BE Boring Tool BE14A M6 16.7

BE16A M6 16.7

BE18A M10 16.7

BE20A M10 16.7

BE22A M10 16.7

BE24A M10 16.7

BE26A M10 16.7

BE28A M10 16.7

BE30A M10 16.7

BE32A M10 19.0

BE34A M10 19.0

BE36A M10 | 23.9

BE38A M10 | 23.9

BE40A M0 | 23.9

ec 53k 0B | Epq608 - |43

EC Conversion Sleeve EC161O - 14 3

EC1612 - 14.3

EC1614 - 14.3

el s STO8-W5-100L [ M5 | 59.6
I =05

Tungsten &tée) ST10-W6-110L M6 69.0

Boring Bar ST12-W6-120L M6 88. 1

ST12-W6-150L M6 107.1

emm— | ST14-16-160L M6 119.0

ST16-W10-160L] M10 |135.7

ST16-W10-180L] M10 |150.0

Oalala C” :<. ) BES

SBJ1606-24 6-9 8.6
SBJ1608-32 8-11 8.6
SBJ1610-40 10-13 8.6
SBJ1612-53 12-15 8.6
SBJ1614-60 14-17 8.6
SBJ1616-68 16-21 8.6
SBJ1620-83 20-26 8.6
SBJ1620-150L 20-26 23.9
SBJ1620-200L 20-26 28.6
SBJ1625-90 25-31 8.6
SBJ1625-150L 25-31 23.9
SBJ1625-200L 25-31 28.6
SBJ1630-90 30-36 8.6
SBJ1630-150L 30-36 23.9
SBJ1630-200L 30-36 28.6
SBJ1635-90 35-41 8.6
SBJ1635-150L 35-41 23.9
SBJ1635-200L 35-41 28.6
SBJ1640-90 40-46 8.6
SBJ1640-150L 40-46 23.9
SBJ1640-200L 40-46 28.6
SBJ1645-90 45-51 8.6
SBJ1645-150L 45-51 23.9
SBJ1645-200L 45-51 28.6
U2S ) )sa JRIRTS &i‘)}g

NBJ1 6Boung head 8-50 138.1
NT40-SBJ16-55-12P 8-50 233.3
NT50-SBJ16-65-12P 8-50 233.3
BT30-SBJ16-55-12P 8-50 233.3
BT40-SBJ16-55-12P 8-50 309.6
BT50-SBJ16-65-12P 8-50 233.3
SK30-SBJ16-60-12P 8-50 273.9
SK40-SBJ16-60-12P 8-50 278.6
SK50-SBJ16-65-12P 8-50 309. 6

HBOR Ky 5s Kaails el

I E TSR SPY. JE WL - )
—

HBOR Fine-Tuning Boring -
Cutter (Fine-Tuning
Accuracy 0.002mm)

.002mm)

HBOR25 Boring Cutter

HBOR25M (29_38) Boring head 29-38 666.7
HBORZSM (29-38) Back Boring 29_38 666.7
BT30-HBOR25P 857.1
BT40-HBOR25P 857.1
SK30-HBOR25P 857.1
SK40-HBOR25P 857.1
HSK63A-HBOR25P 976.1
CA0602-09Tcarbide Boring 2-3.2 59.6
CA0603_1 6TCarb\dc Boring 3_4 2 59.6
CA0604-22Tcarbide Boring 4-5.2 59.6
CA0605-27Tcarbide Boring 5-6.2 59.6
CA0606—32TCarb\dc Boring 6-7. 2 59.6
CB06050-21 ( CC03) 5-6 123.9
CB06055-26 ( CC03) | 5.5-6.5 | 123.9
CB06060-26 ( CC03) 6-7 123.9
CB06065-31 ( CC03) | 6.5-7.5 | 123.9
CB06070-31 ( CC04) 7-8 123.9
HBOR32 Boring Cutter

HBOR32M (36-52) Boring head 36-52 800
HBOR32M (36—52) Back Boring 36_52 800
HBOR40 Boring Cutter

HBOR4OM (44~68) &oring head 44-68 | 833.3
HBORAOM (44-68) gackBoring | 44768 | 833.3
HBORS50  c:s suie M s Sasps

HBORSOBM (57_90) Boring head 57-90 742.9
HBOR50BM (57_90) Back Boring 57-90 742.9
BT30-HBOR50 (06-90) 6-90 | 857.1
BT30-HBOR50 (06-90)-14P | 690 | 1190. 4
BT40-HBOR50 (06-90) 6-90 | 857.1
BT40-HBOR50 (06-90)-14P | 6-90 | 1190 4
BT50-HBOR50 (06-90) 6-90 | 904.7
BT50-HBOR50 (06-90)—14P | 6-90 | 1273.9
SK30-HBOR50 (06-90)~14P |  6-90 | 12739
SK40-HBOR50 (06-90)~14P |  6-90 | 1273.9
SK50-HBOR50 (06-90) 6-90 | 904.7
SK50-HBOR50 (06-90)~14P | 6-90 | 12739
HSK63A-HBOR50 (6-90)—14P|  6-90 | 1309. 6
HBORB3 w8 soie sl S5,

HBOR63BM (70_1 10) Boring head 70-110 804. 7
HBOR63BM (110-150) soringreas | 110-150 | 804. 7
HBOR63BM (70-110) ack Boring| 70-110 | 804. 7
HBORG3BM (110-150) sacksoring | 110=150 | 804. 7
NT40-HBOR63 6-150 |1071.4
NT40-HBOR63 (6-150) -15P | 6-150 1381
NT50-HBOR63 6-150 1119
NT50-HBOR63 (6-150)—15P | 6-150 |1428.6
BT40-HBOR63 6-150 |1071.4
BT40-HBOR63 (6-150) 15P 6-150 1381
BT50-HBOR63 6-150 119
BT50-HBOR63 (6-150) 15P 6-150 |1428.6
SK40-HBOR63 (6-150) 15P 6-150 1381
SK50-HBOR63 (6-150) 15P 6-150 |1428.6
HSK63A-HBOR63 (6-150) 15P|  6-150 | 1452.4
Boring Accessories

Boring Accessories

BR1606-21 (WBGT0601. . L) 6-9 23.9
BR1608-28 (TBGT0601. . L) 8-11 23.9
BR1610-35 (TBGT0601. . L) 10-13 23.9
BR1612-42 (TP. . 09. . L) 12-15 23.9
BR1614-50 (TP. . 09..L) 14-17 23.9
BR1616-60 (TP..09..L) 16-20 23.9
BR1620-65 (TP. . 11. . L) 20-24 23.9
BR1624-68 (TP. . 11..1) 24-28 23.9
BMS 35.7
SRTP2938 (TP. . 09..L) 28-38 35.7
SRTP3652 (TP. . 09. . L) 36-52 35.7
SRTP4468 (TP. . 09. . L) 44-68 4.7
BM8 9.6
SRTP70110(TP. . 11..L) 70-110 | 47.6
SRTP110150 (TP. . 11..L) 110-150 | 47.6

s e el b 5l eSS (B pd e Crad ),
shef Gae o USD e s 331 5 113,
D28 i ) il ol 58 o S 58 S o) 81 eva@mzgtool.cen

http://www.mzg.tw


http://www.mzg.tw

AH < g.i.'aJ}_)

Boring Tool

BSA SIS K jysn oS eSS IS Koy g0 € A3 S Holder
BSA Rough f Rough Boring Cutter Holder
Boring Cutter, TBS9..-L \\ N

/

[ 2 @

@ 90

Andd S dd
LBK Toolholder

BST/NBH L3l Js3

BST/NBH
Toolholder

(& RV

sems | 0 -
2hpeaid - BT50-NBH2084 59.6 S5haid o S5haid o
BT40-BSA25-120 | 47.6 e 2084 527 BT30-LBK1-55 | 21.0  BT30-CK1-55 35.7
BT40-BSA30-150 | 47.6 NT50-NBH2084 714 BT30-LBK1-70 21.0  BT30-CK1-70 35.7
BT40-BSA38-165 | 50.0 SK40-NBH2084 357  BT30-LBK2-80 21.0  BT30-CK2-80 35.7
BT40-BSA42-165 | 50.0 SK50-NBH2084 71.4  BT30-LBK3-80 21.0  BT30-CK3-80 35.7
BT40-BSA50-165 | 53.6 BBT48:NBH§884 1245 BT30-LBK4-70 21.0  BT30-CK4-70 35.7
BT40-BSA62-180 | 63.1 B e 2und .-} BT30-LBK5-70 21.0  BT30-CK5-70 35.7
BT40-BSA72-180 | 71.4 CAT50-NBH2084 059  BT30-LBK6-60 21.0  BT30-CK6-60 35.7
BT40-BSA90-180 | 89.3 HSK63A-NBH2084 154.7
BT50-BSA25-135 | 81.0 HSK100A-NBH2084 214.3  BT40-LBK1-75 21.0  BT40-CK1-75 35.7
BT50-BSA30-165 | 81.0 1S040-NBH2084 46.4  BT40-LBK1-105 | 21.0  BT40-CK1-105 35.7
BT50-BSA38-180 | 83.3 - o5 NEt2084 927 BT40-LBK1-130 | 28.3  BT40-CK1-130 44.7
BT50-BSA42-210 | 83.3 . S V3 NBHI054 95 ¢ BT40-LBK1-165 | 357  BT40-CK2-75 35.7
BT50-BSA50-180 | 86.9 TBS910-36-R 9 MT4-NBH2084 47,9  BT40-LBK1-195 59.6  BT40-CK2-115 35.7
BT50-BSA50-240 | 92.9  TBS910-45-R "9 MT5-NBH2084 52.4  BT40-LBK2-85 21.0  BT40-CK2-130 44.7
BT50-BSA62-195 | 95.3  TBS913-48-R 9 MT6-NBH2084 66.7  BT40-LBK2-115 | 21.0  BT40-CK3-80 35.7
BT50-BSA62-270 | 107.1  TBS913-65-R .9 mggzngngggj fé- g BT40-LBK2-130 | 28.3  BT40-CK3-100 35.7
BT50-BSA72-195 | 95.3  TBS916-60-R 9 MTB5-NBH2084 55 4  BT40-LBK2-165 | 35.7  BT40-CK3-135 44.7
BT50-BSA72-285 | 131.0 }ggg} g:ggzg : g MTB&-NBH2084 45 7 BT40-LBK2-200 | 59.6  BT40-CK3-155 44.7
BT50-BSA90-210 | 164.3  IBS31 9_90_R 0 Re-NBH2084 357  BT40-LBK3-95 21.0  BT40-CK4-75 35.7
BT50-BSA90-300 | 208.3 133709~ 70°R ') BT40-NBH2084-100L | 59.6  BT40-LBK3-125 | 28.3  BT40-CK4-100 35.7
BT50-BSA105-195| 2976 1BS019-105 "o BT40-NBH2084-150L | 904  BT40-LBK3-165 | 35.7  BT40-CK4-150 44.7
BT50-BSA105-285| 381.0  TBS925-100— 0 prao-NBHZ08a-a00L | 17 BT40-LBK3-210 | 59.6  BT40-CK4-170 53.6
BSA S 1€ 50,5 o8 = oS TBS925-135- 1 NBH2084—1 50 4  BT40-LBK4-85 21.0  BT40-CK5-60 35.7
’ e BN aoor | % BTAO-LBK4-115 | 21.0  BT40-CK5-100 35.7
BSA Rough - BT50-NBH2084-250L | 148.9 BT40-LBK4-130 | 28.3  BT40-CK5-150 44.7
Boring cm?";-‘-‘*‘: - BT40-BST—70 667  BT40-LBK4-150 | 28.3  BT40-CK6-65 35.7
! 3 BT40-BST-100 66.7  BT40-LBK4-175 | 35.7  BT40-CK6-100 35.7
L o BI40-BST-150 77.4  BT40-LBK4-220 | 59.6  BT40-CK6-150 44.7
L 9 BT40:BST:200 85.7  BT40-LBK5-75 21.0
L o pT0BRT100 8] BTA0-LBK5-125 | 28.3  BT50-CK1-115 | 75.0
L .9 BT50-BST-200 33 3  BT40-LBK5-175 35.7  BT50-CK1-145 82.1
BSA30-42-LBK2 | 27.4 L .9 BT50-BST-250 107.1 BT40-LBK5-235 | 59.6  BT50-CK1-200 95.3
BSA38-52-LBK3 | 28.6 L 9 BT50-BST-300 119.0  BT40-LBK6-65 21.0  BT50-CK2-105 75.0
BSA50-65-LBK4 | 33.3 k . 3 E}gg;gg}j‘gg ]gg g BT40-LBK6-115 | 21.0  BT50-CK2-135 82.1
BSA62-90-LBK5 | 41.7 - 0 BT30-BST-450 162, BT40-LBK6-150 | 28.3  BT50-CK2-165 78.6
o mER ) MmES |0 s |
BSB S 1S B s S o S 5';|_ ) 8 gﬁgg-ggﬁgg 19223_99 : BT50-CK3-140 82.1
0-L 0 —-BST- BT50-LBK1-115 | 53.6  BT50-CK3-175 78.6
Boring Cutter 5-L 1 SkooeesT-120 1239 BTS0-LBK1-145 | 59.6 BT50-CK3-290 | 140.7
) SKR0_BST—_250 155 4 BT50-LBK1-200 | 80.4  BT50-CK3-300 140.7
> —————— BT50-LBK2-110 | 53.6  BT50-CK3-350 189. 3
55008 gt oS .« BT50-LBK2-140 | 59.6  BT50-CK4-100 75.0
Bl | 5« Extension Ro | BT50-LBK2-175 | 65.4  BT50-CK4-160 78.6
0 ' BT50-LBK2-235 | 108.3 BT50-CK4-205 101.0
: 9 BT50-LBK3-125 | 53.6  BT50-CK4-270 140.7
_ _ 47 9 o 11 o BT50-LBK3-140 | 59.6  BT50-CK4-300 140.7
Sﬁg_ggggg_}gg 47 2 R 11,9 BT50-LBK3-155 | 59.6  BT50-CK4-350 189. 3
BTA0-BSB50-165 | 53.6 9 LBK3-3-30 14.3  BT50-LBK3-185 | 65.4  BT50-CK5-90 75.0
BT40-BSB62-180 | 62.6 .9 LBKa-a-as 145 BT50-LBK3-215 | 75.0 BT50-CK5-165 | 78 6
' .9 LBK4-4-60 190 BT50-LBK3-255 | 91.7 BT50-CK5-210 | 101.0
BT40-BSB72-165 | 71.4 o LBK5-5-60 190
BT40-BSB90-180 | 89.3 0 LBK5-5-90 21.4  BT50-LBK3-290 108.3  BT50-CK5-270 140.7
BT50-BSB25-135 | 80 4 0 LBK&-6-60 21.4  BT50-LBK3-300 | 108.3 BT50-CK5-300 140.7
BT50-BSB38-180 | 81 9 o LBKe-6-100 214 BT50-LBK3-350 | 148.9 BT50-CK5-350 | 189.3
: - LBK6-6-120 29.7 —LBRS- ~CK5-
BT50-BSB50-180 | 86 4 5-R 9 T BT50-LBK4-115 | 53.6  BT50-CK6-95 75.0
BT50-BSB50-240 | 92.4 0BS925-100-R 0 7 Yo BT50-LBK4-145 | 59.6  BT50-CK6-155 78.6
BT50-BSB62-195 | 953  CBS925-135-R 1 @ BISO-LBK4-160 | 654  BT50-CK6-215 101.0
BT50-BSB62-270 | 107.1 BT50-LBK4-205 | 75.0  BT50-CK6-250 140.7
BT50-BSB72-195 | 1043 LBK Conversion Slee BT50-LBK4—255 | 91.7  BT50-CK6-300 140.7
_ v ' BT50-LBK4-305 | 108.3 BT50-CK6-350 189. 3
BT50-BSB72-285 | 140.0 ’ gl D1o0-LBHa-s00 ) 1083
BT50-BSB90-210 | 163.9 LBK2-1-36 31.0 PO 5
BT50-BSB90-300 | 208.3  TBS410-45 TPO9| 119 (BK3-1-41 3170 BTS0-LBKS-105 | 53.6 3350 oS st =S o
BT50-BSB105-195| 297.9 TBS410-50 TPO9| 11.9 LBK3-2-37 310 BT50-LBK5-180 65.4 CK Extensmﬁ_
BTS0-BSB105-285| 983 | BSOS |Thii| 119 Lbka-d-s0 27 Brooibkes00 | 1063 g
BSB-LBK S 1S K3, 50 (S A3 GFBS419-90 1616 19.0 tgﬁg—?—gg ig.z BT50-LBK5-350 | 148 9 !
TBS419-11 T616| 19.0 -1- : _LBK6— —
BSE-LEK Rough TB§4ZZ—138 1016|381  LBKS=2-54 pop Egg_tgﬁg_?gf, 22-2 s "
oring Cutter —2— . . G asd Ciand
LBK5-3-47 40 4  BT50-LBK6-170 | 65.4 = :
Leko-3-72 404 BTSO-LBK6-230 | 750 GK1-1-30 29.7
4T . BT50-LBK6-290 108.3  CK2-2-30 29.7
LBKS-4-67 404 BT50-LBK6-350 | 148.9  (K3-3-30 29.7
g lmern e
: A 7 IBK6-2-93 500 HSK63A-LBK1-105| 148.9  CK4-4-60 35.7
BSB25-52-LBK2 | 27.4  (BSA10-50 o LBKé-3-56 46,4 HSK63A-LBK2-115| 148.9  CK5-5-60 38.9
BSB38-70-LBK3 | 28.6  (BS413-60 9 LBKe-3-96 56.0 HSK63A-LBK3-125| 145.9  CK5-5-90 44.7
BSB50-90-LBK4 32.9 CBS416-75 9 LBKa—4—-101 560 HSK63A:LBK4:115 1489 CK6-6-60 38.9
BSB62-90-LBK5 | 41.7  CBS419-115  [CC12| 19.0  |BKe—5 41 20 HSK63A-LBK5-125| 148.9  GK6-6-100 44.7
BSB72-135-LBK6 | 59.6 CBS425-130 CC12| 38.1 LBK6-5-91 56.0  HSK63A-LBK6-115| 148.9  CK6-6-120 59.6

o el (b 5l eS8 (B i ae Caed ),
s eS U cnr USD s S350 5 03,
=S <l 2 eva@mzgtool.cn

N
(@)

G S Jae () 3l o s ¢ 53 aa Y s 368 http://www.ng.tw


http://www.mzg.tw

CNC

CNC Tool Holder

X .
ER Collet )3 52 J &
ER Collet Toolholder

Qﬂsmiﬂ
NO. xColletxA/MxL

O N uadld

NO. xColletxA/MxL

ER LSHLS o 93

ER Extension Collet

0.01mm 0.008mm 0.005mm

oo oo
NNWWww

R8-ER25 17.1
R8-ER32 17.1
R8-ER40 19.7
MTB3-ER20 16.0
MTB3-ER25 16.0
MTB3-ER32 17.1 R e "
MTB4-ER25 17,1 [ =
MTB4-ER32 R Co!!et
MTB4-ER40 22.4 ER8 3.1
MTB5-ER40 26. 4 ER11 1.7 2
NT30-ER25 17.1 ER16 1.7 2.
NT30-ER32 17.1 ER20 17 5
NT30-ER40 19.7 ER25 19 )
NT40-ER25 17.1 = S 5
NT40-ER32 17.1 : :
NT40-ER40 19.7 ER40 4.0
1S020—-ER16-35MS 40. 4 ERS0 | 11.9
1$025-ER20-35MS 40.4  ER s Dl S @
1S030-ER32-42 27.4  ER WrenchNute
1S030-ER32-60 27.4
HSK32E-ER16-050MS 82. 1
HSK32E-ER20-050MS 82. 1 ( V_/
HSK32E-ER20-060MS 82. 1

~ER25~ 821
BT30-GER16-70 2.4 M oA
BT30-GER16-100 21.4 -
BT30-GER20-70 21.4 .
BT30-GER20-100 21.4 Collet
BT30-GER25-70 21.4 ER8A/M 2.
BT30-GER25-100 21.4
BT40-GER16-70 21.4 EE} lﬁfm ] :
BT40-GER16-100 21.4 ER20A/M .
BT40-GER20-70 23.9 e 5
BT40-GER20-100 23.9 :
BT40-GER25-70 23.9 ER32UM 3.
BT40-GER25-100 23.9 ER40UM 4.
BT40-GER32-70 23.9 ER50UM
BT40-GER32-100 23.9

Wrench

6
4
7
7
6
1
0

PON===mRA
wO—_o~NN~No

&3]

BT30-ER11-70 16.0
BT30-ER11-100 16.0
BT30-ER16-70 18.6
BT30-ER16-100 18.6
BT30-ER16-150 19.7
BT30-ER20-70 18.6
BT30-ER20-100 18.6
BT30-ER20-150 19.7
BT30-ER25-70 18.6
BT30-ER25-100 18.6
BT30-ER25-150 19.7
BT30-ER32-70 18.6
BT30-ER32-100 18.6
BT30-ER32-150 19.7
BT30-ER40-80 17.1
BT30-ER40-100 17.1
BT40-ER11-70 21.1
BT40-ER11-100 21.1
BT40-ER16-70 211
BT40-ER16-100 21.1
BT40-ER16-150 22.4
BT40-ER16-200 37.1
BT40-ER20-70 21.1
BT40-ER20-100 21.1
BT40-ER20-150 22.4
BT40-ER20-200 37.1
BT40-ER25-70 21.1
BT40-ER25-100 21.1
BT40-ER25-150 22.4
BT40-ER25-200 37.1
BT40-ER32-70 21.1
BT40-ER32-100 211
BT40-ER32-150 22.4
BT40-ER32-200 37.1
BT40-ER32-250 50.3
BT40-ER32-300 74.0
BT40-ER40-80 19.7
BT40-ER40-100 19.7
BT40-ER40-150 23.9
BT40-ER40-200 39.7
BT50-ER16-100 39.7
BT50-ER16-150 50.3
BT50-ER16-200 63. 6
BT50-ER20-100 39.7
BT50-ER20-150 50.3
BT50-ER20-200 61.0
BT50-ER20-250 81.9
BT50-ER20-300 100. 4
BT50-ER25-70 39.7
BT50-ER25-100 39.7
BT50-ER25-150 50.3
BT50-ER25-200 61.0
BT50-ER25-250 84.7
BT50-ER25-300 100. 4
BT50-ER32-70 39.7
BT50-ER32-100 39.7
BT50-ER32-150 50.3
BT50-ER32-200 61.0
BT50-ER32-250 81.9
BT50-ER32-300 97.9
BT50-ER32-350 126.9
BT50-ER32-400 158. 9
BT50-ER40-100 42.4
BT50-ER40-150 52.9
BT50-ER40-200 63.6
BT50-ER40-250 87.4
BT50-ER40-300 105.7
BT50-ER40-350 129.6
BT50-ER40-400 158.9
BT50-ER50-100 74.0
BT50-ER50-150 81.9
BT50-ER50-200 92.6
BT50-ER50-250 121.7
BT50-ER50-300 158. 9

ER Collet U3 53 A1 1S @ 53
ER Collet Extension Toolholder
Collet

DxColletxA/MxL

C10-ER8-100

C10-ER8-150

C12-ER8-100

C12-ER8-150

C12-ER11-100
C12-ER11-150
C16-ER11-100
C16-ER11-150
C16-ER16-100
C16-ER16-150
C16-ER16-200
C16-ER16-250
C16-ER20-100
C16-ER20-150
C16-ER20-200
C20-ER20-100
C20-ER20-150
C20-ER20-200
C20-ER20-250
C20-ER16-100
C20-ER16-150
C20-ER16-200
C20-ER16-250
C20-ER11-100
C20-ER11-150
C20-ER25-100
C20-ER25-150
C25-ER16-100
C25-ER16-150
C25-ER16-200
C25-ER16-250
C25-ER20-100
C25-ER20-150
C25-ER20-200
C25-ER25-100
C25-ER25-150
C25-ER25-200
C25-ER25-250
C25-ER32-100
C25-ER32-150
C32-ER32-100
C32-ER32-150
C32-ER32-200
C32-ER32-250
C40-ER40-100
C40-ER32-100
C32-ER40-100

c

ool

I e R I T Shl NN N S A O S A S =P

O NRO OO A ORONNLONNRARAWW S NN o NN NN oo NN~ wy wl

FMB galala AT 1S 15 58 5lag€ (S o pya i
FMB Inch Face Milling Tool Holder

Gluaidld

NO. xdxL

R8-FMA25. 4
R8-FMA31. 75
C20-FMB25. 4
NT50-FMA31. 75-75
NT50-FMA38. 1-75
NT50-FMA47. 625-75
NT50-FMA50. 8-75
BT40-FMA25. 4-60
BT40-FMA25. 4-100
BT40-FMA31. 75-60
BT40-FMA31. 75-100
BT40-FMA38. 1-60
BT40-FMA38. 1-100
BT50-FMA25. 4-60
BT50-FMA25. 4-100
BT50-FMA25. 4-150
BT50-FMA25. 4-200
BT50-FMA25. 4-250
BT50-FMA25. 4-300
BT50-FMA31. 75-60
BT50-FMA31. 75-100
BT50-FMA31. 75-150
BT50-FMA31. 75-200
BT50-FMA31. 75-250
BT50-FMA31. 75-300
BT50-FMA38. 1-60
BT50-FMA38. 1-100
BT50-FMA38. 1-150
BT50-FMA47. 625-75
BT50-FMA47. 625-150
BT50-FMA47. 625-200
BT50-FMA50. 8-75
BT50-FMA50. 8-100
BT50-FMA50. 8-150

(S

N
NO W« WO O O
ARVOO_LNOCOVORADRUINON=DROOCO—=——

FMB Galela TS 15 358 SHlug (S0 pn S e
FMB Metric Face Milling Tool Holder

BT30-FMB22-45 14.6
BT30-FMB22-60 14.6
BT30-FMB22-100 18.6
BT30-FMB27-45 14.6
BT30-FMB27-60 14.6
BT30-FMB27-100 18.6
BT30-FMB32-45 16.0
BT30-FMB32-60 16.0
BT40-FMB22-45 17.1
BT40-FMB22-60 17.1
BT40-FMB22-100 18.6
BT40-FMB22-150 22.4
BT40-FMB22-200 37.1
BT40-FMB22-250 47.6
BT40-FMB22-300 61.0
BT40-FMB22-350 74.0
BT40-FMB27-45 17.1
BT40-FMB27-60 17.1
BT40-FMB27-100 18.6
BT40-FMB27-150 23.9
BT40-FMB32-60 17.1
BT40-FMB32-100 17.1
BT40-FMB32-150 23.9
BT40-FMB40-60 19.7
BT40-FMB40-100 21.1
BT40-FMB40-150 26.4
BT50-FMB22-60 39.7
BT50-FMB22-100 39.7
BT50-FMB22-150 50.3
BT50-FMB22-200 61.0
BT50-FMB22-250 81.9
BT50-FMB22-300 100. 4
BT50-FMB22-350 119.0
BT50-FMB22-400 132.4
BT50-FMB22-450 153.3
BT50-FMB22-500 185. 3
BT50-FMB22-550 211.7
BT50-FMB22-600 238.1
BT50-FMB27-60 39.7
BT50-FMB27-100 39.7
BT50-FMB27-150 52.9
BT50-FMB27-200 63. 6
BT50-FMB27-250 84.7
BT50-FMB27-300 103. 1
BT50-FMB27-350 119.0
BT50-FMB27-400 145.4
BT50-FMB32-60 42.4
BT50-FMB32-100 45.0
BT50-FMB32-150 56.9
BT50-FMB32-200 67.4
BT50-FMB32-250 87.4
BT50-FMB32-300 119.0
BT50-FMB40-60 42.4
BT50-FMB40-100 45.0
BT50-FMB40-150 58.1
BT50-FMB40-200 68.9
BT50-FMB40-250 90.0
BT50-FMB40-300 119.0
BT50-FMB60-75 84.7
BT50-FMB60-150 145. 4
R8-FMB22 16.0
R8-FMB27 16.0
R8-FMB32 17.1
R8-FMB40 19.7
C20-FMB22 16.0
C20-FMB27 16.0
C20-FMB32 17.1
C25-FMB22 17.1
C25-FMB27 17.1
C25-FMB32 17.1
C32-FMB22 18.6
C32-FMB27 18.6
C32-FMB32 18.6
MT3-FMB22 17.1
MT3-FMB27 17.1
MT3-FMB32 17.1
MT4-FMB22 19.7
MT4-FMB27 19.7
MT4-FMB32 19.7
NT30-FMB22 18.6
NT30-FMB27 18.6
NT30-FMB32 18.6
NT40-FMB22 18.6
NT40-FMB27 18.6
NT40-FMB32 18.6
NT40-FMB40 21.1
NT50-FMB22 42.4
NT50-FMB27 42.4
NT50-FMB32 42.4
NT50-FMB40-75 43.6
NT50-FMB32-150 52.9
NT50-FMB32-200 63. 6
NT50-FMB60-75 92.6

=2 ot dabld b ) eSS (G d
el Gae s USD coes a8 330 3,015,

T
o

S e ) il ol s e Y e 35S S ol S eva@mzgtool.cn

http://www.mzg.tw


http://www.mzg.tw

CNC Tool Holder

JJ‘ JJJM 5_1\_: < U“‘“

o el
gSKSH\ghgpLe’ng:nFuu and

High dj&_.A —~ Gana To 4
5 Ak
g : -

NO. xCol letxL

I

c s AdllS S sl

@ C Powerful Collet Toolholder

BT30-GSK10-60 20. 3
BT30-GSK10-90 20. 3 ——
BT30-GSK16-60 20. 3 \O j%-l el
BT30-GSK16-90 20. 3 '
BT40-GSK10-60 23.9 5%83325
BT40-GSK10-100 23.9 H
BT40-GSK16-60 23.9  Ni30-C32
BT40-GSK16~100 23.9\o IO
Collet SK10 7.1 Ny
SK16 50 MT5-C32
Collet . MT6-C32
MT6-C42
Bearing Spanner 15.4 NT50-C32-105
R NT50-C42-115
DM JS QB G o/ o) (Sl BT30-C20-80
MTA/B Morse Taper Toolholder g¥§8_g§g_?85
MITA BT40-C20-90
BT40-C25-90

BT30-MTA2-75
BT30-MTA3-75
BT30-MTA4-75
BT40-MTA1-120
BT40-MTA1-45
BT40-MTA2-120
BT40-MTA2-60
BT40-MTA3-135
BT40-MTA3-75
BT40-MTA4-165
BT40-MTA4-90
BT50-MTA1-120
BT50-MTA1-45
BT50-MTA2-135
BT50-MTA2-60
BT50-MTA3-150
BT50-MTA3-75
BT50-MTA4-180
BT50-MTA4-90
BT50-MTA5-105
BT50-MTA5-210
NT40-MTA2
NT40-MTA3
NT40-MTA4
NT50-MTA1-45
NT50-MTA2-60
NT50-MTA3-75
NT50-MTA4-90
NT50-MTA5-105

BT40-MTB1-120
BT40-MTB1-45
BT40-MTB2-120
BT40-MTB2-60
BT40-MTB3-135
BT40-MTB3-75
BT40-MTB4-165
BT40-MTB4-90
BT50-MTB1-120
BT50-MTB1-45
BT50-MTB2-135
BT50-MTB2-60
BT50-MTB3-150
BT50-MTB3-75
BT50-MTB4-180
BT50-MTB4-90
BT50-MTB5-105
BT50-MTB5-210
NT40-MTB2
NT40-MTB3
NT40-MTB4
NT50-MTB1-45
NT50-MTB2-60
NT50-MTB3-75
NT50-MTB4-90
NT50-MTB5-105

16
16
16
26
18.
25.
16.
25.
16.
31.
17.
55.
43.
52.
39.
52.
39.
66.
39.
43.
90.
18.
18.
18.
43.
42.
42.
42.
43.

26
18.
25.
16
25.
16
31.
17.
55.
43.
52.
39.
52.
39.
66.
39.
43.
90.
18.
18.
18.
43.
42.
42.
42.
43.

BT40-C32-105
BT40-C42-100
BT50-C20-105
BT50-C25-105
BT50-C32-105
BT50-C32-135
BT50-C32-165
BT50-C32-200
BT50-C32-250
BT50-C32-300
BT50-C42-115
BT50-C42-135
BT50-C42-165
BT50-C42-200
BT50-C42-250
BT50-C42-300
SK50-C32-110
JT50-C32-110

63. 6
63. 6
63. 6
63. 6
61.0
74.0
100. 4
145.4
180.0
92.6
119.0
61.0
61.0
61.0
61.0
61.0
55.4
105.7
92.6
92.6
92.6
105.7
119.0
145.4
171.9
224.7
119.0
132.4
145.4
171.9
211.7
259.3
171.9
171.9

D3 U5 QIS JIS - Sy o Sasy)

SDC Back-Pull Collet Toolholder

=

@ paais
NO. xCol letxL

SLN Side Fixed Type Toolholder

%JJEw}.@.‘jAF

Tool Shank Of
Self -Tightening
Drill Chuck

coRARDMNDMNOOOCOCOON_NONOORAR_2NOWOWODNMNOOO

NO. xCol letxL

APU13 Drill Chuck
APU16 Drill Chuck
BT30-APU08-80
BT30-APU13-100
BT30-APU16-100
BT40-APU08-100
BT40-APU13-100
BT40-APU16-120
BT50-APU13-110
BT50-APU13-180
BT50-APU16-130
BT50-APU16-180
NT30-APU13-100
NT40-APU13-100
NT30-APU16-120
NT40-APU16-120
Sa d)jj s 253113
S J3 used 155116
C20-APU13
C20-APU16
C32-APU13
R8-APU13
R8-APU16
MT3-APU13
MT4-APU13
MT3-APU16
MT4-APU16

CORADRMDMNOCOOCOCOON_NONOO DA _2NOWOWO N

= o Jald Guad 5l eSS (S b e el ),
shseS e 0o USD cond i 330 5 LIS,

S dan ) 3l ol 653 e Y s 35S S T Sl eva@mzgtool.cn

Collet C20 3.6

Collet C25 3.6

Collet 32 3.6

Collet C42 7.6

Wrench G20/25/32/42 3.9
RIS

23.
26.
37.
37.
39.
37.
37.
39.
58.
79.
62.
84.
39.
39.
42.
42.
19.
23.
31.
34.
35.
31.
34.
30.
30.
33.
33.

1.9

S A RWNNWNONARMNNN—_ WSS A2 S MO

D850 I8 308 Sl 0l i) s

Guaids
BT30-SDC6-90 59.6 NO. xdxL
BT30-SDC8-90 59. 6 .
31303061090 A 16.0
BT30-SDC12-90 59.6 BT30-SLN20 16'0
BT40-SDC6-90 63.6 BT30-SLN25 16-0
BT40-SDC10-90 63. 6 BT40-SLNO6-75 21'1
BT40-SDC12-90 63. 6 BT40-SLNO8-75 21'1
BT40-SDC6-120 79.3 BT40-SLN10-75 21'1
BT40-SDC8-120 79.3 BT40-SLN12-75 17'1
BT40-SDC10-120 79.3 BT40-SLN16-75 17'1
BT40-SDC12-120 79.3 BT40-SLN20-75 17:1
CLLE BT40-SLN20-150 25.3
Collet SDCO6 11.9 BT40-SLN25-100 171
Collet SDCO8 1.9 BT40-SLN25-150 25.3
Collet SDC10 131 BT40-SLN32-100 17.1
Collet SDC12 13.1 BT40-SLN32-150 25 3
‘ \ — BT40-SLN40-100 19.7
DM J S dadas K8 Kaps BT50-SLN06-105 46. 1
Torsional Tapping Protection Toolholder BT50-SLN08-105 46. 1
BT50-SLN10-105 46.1
BT50-SLN12-105 39.7
BT50-SLN16-105 39.7
BT50-SLN20-105 39.7
BT50-SLN25-105 39.7
BT50-SLN32-105 39.7
BT50-SLN40-105 42.4
BT50-SLN40-150 52.9
BT50-SLN40-200 63.6
BT50-SLN40-250 92.6
BT50-SLN40-300 105.7
N0 0ol letal Ush BT50-SLN50. 8120 55. 4
BT50-J4112 119.0 - -
BT50-J4124 132.4 g}g_gtui_]gg %%:j
BT40-J4112 793 (10-SLN6-100 22.4
BT40-J4124 92.6 " (10-SLN6-150 22.4
MT3-J4112 740 ¢12-SLN4-100 22.4
MT4-J4112 793 (12-SLN4-150 22.4
MT5-J4124 100. 4 C12-SLN6-100 22 4
C12-SLN6-150 22.4
Tap Collets C12-SLN8-100 22.4
G6T312 China Standard 16.0° " ¢12-SLN8-150 22.4
GT312 Japanese Standard 18.6 ©16-SLN10~-100 22.4
GT24 China Standard 19.7 C16-SLN10~-150 22.4
GT24 Japanese Standard 22.4 C16-SLN6-100 22. 4
cnlala AT LS 01y 58 iluef LS Bl :ﬁ}%_gt _188 gg-i
Side Milling Tool Holder of Saw Blade 01 6_SLN8_150 22 4
C20-SLN10-100 25.3
C20-SLN10-150 25.3
C20-SLN6-100 25.3
C20-SLN6-150 25.3
C20-SLN8-100 25.3
C20-SLN8-150 25.3
— NT40-SLN12 19.7
DR NT40-SLN16 19.7
NO. xCol letxL NT40-SLN25 19.7
BT40-SCA22-90 65.4 NT40-SLN32 19.7
BT40-SCA25. 4-90 65.4 NT50-SLN12 42. 4
BT40-SCA25. 4-120 83.3 NT50-SLN16 42. 4
BT40-SCA27-90 65.4 NT50-SLN20 42.4
BT40-SCA32-90 65.4 NT50-SLN25 42.4
- - NT50-SLN32 42.4
350 S Jidlan) AT LS i NT50-SLN40-105 43.6
Machine Tool Spindle Test Rod NT50_SLN42_1 05 47.6
r,, — NT50-SLN50. 8-120 55. 4
|
15020-11. 3—Probe 40. 4
a3 15025-11. 3—Probe 40. 4
15025-20—Probe 40.4
92.9
E;ig 92.9 HSK32E-11. 3Probe 82.1
BT50 131.0

—APU \Wranch (08/13/16)

http://www.mzg.tw

N
oo



http://www.mzg.tw

CNC Tool Holder Accessories

ullﬂja. éiﬁA Aala AT I (s u:l‘ e~

CNC Tool Holder Puller Bolt

BT

DIN69872

45°/60°/90°

180

SnsY cplala TS L ) e
CNC Tool Holder Lockset

Gy Galala TS s 0l e
CNC Tool Holder Lockset

&@.us‘z( Qﬂ.‘.qb JRIRIS = o) =
CNC Tool Holder Lockset

BT30-45° 1.4 NBT30 17.9

BT30-60° 1.4 18025 19.0

BT30-90° 1.9 HSK25 38.1

BT40-45° 1.4 HSK32

BT40-45° =)0 S¢lose | 1.9 HSK40

BT40-60° 1.9 HSK50

BT40-90° 1.9 HSK63

BT50-45° 3.1 HSK100

BT50-45° —x20b S ¢ 5m 3'2

BT50-60° ) _ 30 Z-AxisSeter one Rl o ls 31 il Jaslp) AT LS (e

BT50-60 == L-S CU}“ 3' 6 Z-Axis Setter CNC Edge Finder Machine Tool Spindle Cleaning Rod

BT50-90° 36

DIN69872-30 36

DIN69872-40 6. 0

DIN69872-50 46

1507388-30 4.6

1507388-40 6. 0

1507388-50 36

J156339-30 36

J156339-40 6. 0

J156339-50 36

MAZAK-BT40 50 2

MAZAK-BT50 ’ u usD
Photoelectric Z-axis Setter | 61.9 ele type 2. BT30 3.9
Ju3 Z-axis Setter 66.7 bl Sl type 3. BT40 3.9

Cublila Sl type 10. BT50 5.4
Photoelectric type 13.

= o el a5 GuST (B jh ae G ),

sheS ae i USD s s 330 3 I3,

a8 Jaa ) il ol 55 ne Y s 35S S ol Sk eva@mzgtool.cn

http://www.mzg.tw


http://www.mzg.tw

Cila )5l S mdakad

Lathe Chuck Accessories

SN G5 Sa —
i A=) A
Chuck T Block : usD
inch 10.7
6 inch 11.9
8 inch 15. 4
10 inch 19.0
12 inch 22.1
) PR VW R TP O
e Chuck Jaw Fixing Plate Alaa)
4 inch SBL-204 | 435.3 | SB-204 | 435.3 | SBS=204 | - 5" inch 61.9
5 inch SBL—205 | 435.3 | SB-205 | 435.3 | SBS-205 | 482.9 ,ﬁ 6 inch S
S SILML JLSsS |6 inch SBL-206 | 492.9 | SB=206 | 492.9 | SBS=206 | 561.9 inch 1071
8 inch SBL-208 | 544.0 | SB-208 | 544.0 | SBS-208 | 629.7 . !
10inch SBL-210 | 697.6 | SB-=210 | 697.6 | SBS=210 | 800.0 ; 10 inch 115.4
Hollow Hydraulic chuck | 12inch SBL-212 | 1190.4| SB-212 |1190.4| SBS-212 | 1326. 1 i s . -
! 15inch SBL-215 | 2642 9| SB-215 | 2642 9| SBS=215 |3000.0 O S0 S50k oasel
o AR e |6 inch 2DTK-206 | 647.6 | 3DTK=206 | 647. 6 | 4ADTK=206| 714.3  solid Hydraulic Ll
g Ao |8 inch 2DTK-208 | 782. 1 | 3DTK-208 | 782. 1 | 4DTK-208 | 869.0  Rotary Cylinder .
Hollow Hydraulic Chuck | 10inch 2DTK-210 | 935.7 | 3DTK-210| 935. 7 | 4DTK-210 1038. 1 — o g !ncm?g;g;

Sl SV 6 inch 3JDB-206 | 988. 1 (i -
Sr AL eSS 18 inch 3JDB-208 | 1121 4 8/10inch(1225) 150.0
Hollow Hydrautio Chuck | 10inch 3JDB-210 | 1258. 3 12 inch(1530) (197.6

e 5 inch SBL-205KQ| 595. 3 | SB—205KQ | 547. 6 |SBS—205KQ| 666. 7 AN -

SR e inch SBL-206KQ 631 0 | SB-206KQ | 611 9 |SBS—206KQ| 714 3 2 S0 ool cemse
Hollow Half-Through |8 inch SBL—208KQ| 714. 3 | SB-208KQ | 681.0 |SBS—208KQ| 788.1  toliow Hydraulic ol
Pneumatic Chuck 1 10inch SBL-210KQ| 785.7 | SB-210KQ | 750. 0 |SBS—210KQ| 908. &6  Rotary Cylinder -
4 inch INL-04 | 428 .6 | JIN-04 | 401 1 4 inch(428)
5 inch INL-05 | 4524 | JIN-05 | 409.6 inch(1036)
S SUlykily usel| 6 InCh INL-06 | 500.0 | JIN-06 | 459 6 inch(1246)
T R g inch INL-08 | 547.6 | JN-08 | 511.9 inch(1552)
Solid Hydraulic Chuck | 10pch INL-10 | 714.3 | IN-10 | 666.7 10 inch(1875) _
12inch INL-12 | 1119.0| JIN-12 | 1088.1 12 inch(2091) 11309.6
15inch INL-15 IN-15 | 2309. 6 BT 5K S
N 5 inch| 1L-05 | 547.6| 2L-05 | 511.9 | 3L-05 | 595.3
BT |6 inch| 1L-06 | 595.3 | 2U-06 | 544.0| 3L-06 | 6429 Chuck Connecting Disc Aas)

~Long Stroke 8 inch| 1L-08 619.0 2L-08 542.9 3L-08 666.7 4 inch
Solid Hydraulic Chuck | 10jnch| 1L-10 | 833.3 | 2L-10 | 750.0 | 3L-10 | 881.0 5 ingh 214

Syl S5 6 inch JLS—206 | 892.9 6 inch 214
SrE s 18 inch JLS-208 | 940. 4 B e 357
Hollow Hydraulic Chuck | 10inch JLS-210 | 1038. 1 10 inch 476

12 inch 71.4
25 Tk S S S SISk
Hard Jaw For JL‘—_“ S
Hydraulic Chucks Usb
5 inch 102.4
6 inch 119.0
8 inch 131.0
». 10 inch 163.1
12 inch 204.7
~ 15 inch 369.0
T 6 - O
Semilsnhasas’ 5 inch| 3B-08 | 839 3 <5 e 0 o
(§3 a5 5 inch JYL-05 | 738.1 | JY-05 714.3 [JYS-05 [ 833.3  Fan Soityaw For
S S e o6 inch JYL-06 | 785.7 | JY-06 761.9 | JYS=06 | 904.7
* Vertiéar Hol 8 inch JYL-08 | 928.6 |JY-08 904.7 | JYS-08 | 976.1
Hydraulic Chuck | 10 jnch JYL-10 | 1023.9 | JY-10 988.1 |JYS-10 | 1107.1
K YO inch SBL-205KQL| 714.3 | SB—205KQL | 690.4 |SBS-205KQL| 785.7
== ;u Uj"s’%inch SBL-206KQL| 773.9 | SB-206KGL | 750.0 [SBS-206KQL| 857. 1
H%How‘ﬁ.gﬁ‘%hﬁjg;‘ 8 inch SBL—-208KQL| 904.7 | SB-208KGL | 881.0 |SBS-208KGL| 952.4
Vertical CSea s 52| 10inch SBL-210KQL| 976.1 | SB-210KQL | 952. 4 [SBS-210KQL| 1071 4 15 inch

SIS EN S cd—é“;%"ﬂ?{“"t" a°=120° a°=120° =120° =120° ‘ =120°
Soft Jaw For a\Vla o 5o i gl o) S Sap oSl mil 1 S S pSllatiihiy il i S (S gl Fisila 51 i) 81 S (Saa SR gl i) S S SIS0

Hydraulic Chucks| G/ \&// \
' : 5 Inch Soft Jaw For Hydraulic Chucks 6 Inch Soft Jaw For Hydraulic Chucks 8 Inch Soft Jaw For Hydraulic Chucks 10 Inch Soft Jaw For Hydraulic Chucks 12 Inch Soft Jaw For Hydraulic Chucks

A
Al H Ciaid Al Ciazd Ciaid Al
usD uUsD usD usD

5H40 40 | 13.6 6H50 50 | 17.1 8H40 204 10H50 23.9 12H60 60 | 346
5H50 50 | 17.1 6H60 60 | 20.4 8H50 20.4  10H60 274 12H70 70 | 404
5H60 60 |20.4 6H70 70 | 23.9 8H60 60 23.9 10H70 70 31.0 12H80 80 (47.6
5H70 70 | 23.9 6H80 80 | 28.9 8H70 70 | 27.4 10H80 80 | 34.6 12H90 90 | 59.6

GaiReP B s e 5AB0L) 80 | 39.3 6H90 90 | 324 8H80 80 |31.0 10H90 | 90 |41.7 12H100 | 100 |73.9

5H90 90 [45.3 BH100 | 100 |37.6 8H90 90 | 357 10H100 | 100 [50.0 12H120 | 120 | 80.0
5H100 | 100 |51.1 6H120 | 120 |51.1 8H100 | 100 |42.9 10H110 | 110 | 54.7 12H150 | 150 | 94.0
6H130 | 130 |56.0 8H120 | 120 |51.1 10H120 | 120 | 59.6

“iay 4

‘5‘ !"CE gg 18% 6H150 | 150 |61.9 8H130 | 130 | 54.7 10H130 | 130 | 68.1 12‘4;‘:@)‘5“51‘15%“*”“‘*
o \ s 8H140 | 140 | 654 10H150 | 150 | 80.0 pumm

g net 880 gg e 8H150 | 150 | 69.0 10H170 | 170 |102.4 :

10 inch |120°| 42 | 16.1 8H200 | 200 1135.7 10H180 | 180 11096 J5H100 | 100 [154.7

12 inch 50 | 27.4 4 45H120 | 120 |170.3

15 inch 62 | 67.9 15H150 | 150 |257 1

ot o Jal b 5l el (b e Caad ),
s 68 oo e USD e sy 330 3 )3, htto:// t
0208 i (5) (AL e o) 3 55 U Y g 35S Sl R eva@ngtooLcn p//iwww.mzg.tw



http://www.mzg.tw

o JS ,Ja..:\ B cgi_':j,gi.u

Dongguan Ming Ze Hardware Machinery Co., Ltd.

Operation Center: No.42-1,# Article,Changrong International Machinery Hardnery Hardware Plaza,No.56,
Wusha Zhen'anzhong Road,Changan town,Dongguan city,Guangdong Province, China

TEL: +86-013929492387

(Wechat/Facebook/Twitter/Whatsapp/Linkedin)

FAX: +86-769-85359513

Website: http://www. mzg. tw
E-mail: eva@mzgtool. cn



	1: Machine Tools Price
	2: P1.Caibide End Mill
	3: P2.Cemented Carbide Cutter
	4: P3.Extrusion Screw Tap
	5: P4.Apex Tap
	6: P5.Spiral Grooved Tap
	7: P6.Hand Tap/Circular Die
	8: P7.CCMT/CNMG..
	9: P8.DCMT/DNMG..
	10: P9.SCMT/SNMG/TCMT/TPGH..
	11: P10.TNMG/TNGG..
	12: P11.VCMT/VBMT/VNMG..
	13: P12.WNMG..
	14: P13.Thread Turning Tool
	15: P14.Cut-Off/Grooving/Back
	16: P15.External Grooving
	17: P16.Inner Hole Grooving
	18: P17.MGMN Grooving/Cut-Off
	19: P18.End Face/Inner Hole Grooving
	20: P19.CNC Turning Tool
	21: P20.CNC Turning Tool Parts
	22: P21.APMT Right-Angle Milling Cut
	23: P22.RPMW Round Nose Milling Cut
	24: P23.R Face Milling
	25: P24.Insert Type Quick Drill
	26: P25.Boring Tool
	27: P26.Boring Toolholder
	28: P27.ER/FMB Toolholder
	29: P28.GSK/MT/APU/SDC/SLN
	30: P29.CNC Tool Holder Accessories
	31: P30.Lathe Chuck Accessories
	32: Contact Us

